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GENERAL DESCRIPTION

THIS DIRGNOSTIC CAN CHAIN 16 DU11’S. THIS MEANS THAT
16 DEVICES CAN BE SEQUENTIALLY EXERCISED, THE DIQGN’STIC

MWES ONE PASS BEFORE PROCEEDING 1O THE NEXT CEVIC
ThHIS rnsuxoﬁ UNTIL

AND EDONTIMS EXERCISING ALL CEVICES IN

2. REQUIREMENTS

PDP-11 FAMILY STANDARRD COMPUTER WITH CR WITHOUT HARDWARRE SWITCH
REGISTER (LOC. 177570)

DUI1 SYNCRCNOUS-ISCCRONOUS oPTION
ONE CONSOLE TELETYPE OR EQUIVALENT

e.c STORRGE
3. LORDING PROCEDURE
STANDARD PROCEDURE FOR LORDING ABSOLUTE BINRRY TAPES
IS T0 BE USED.
STARTING ADDRESS
FOR ABSOLUTE LORDER
HK 017500
BK 037500
12K 057500
16K 077500
20K 117500
24K 137500
esK 157500
4. STARTING PROCEDURE

4.1 CONTROL SWITCH SETTINGS

NOTE: SOFTWARE SWITCH REGISTER IS DEFINED RS LOC. 176, WHILE
THE SOFTWARE DISPLAY REGISTER 1S CEFINED AS LOC. 17M.

4.1.1 AFTER PROGRAM LORD (INITIAL PROGRAM STRRT)
ALL CONSOLE SWITCHES DOWN

4.1.2 TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
RFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

Sil00=1
4.1.3 Y0 START PROGRAM AT SELECTED TEST AFTER A PROGRAM RESTART

ceq 0gc2




DOl

ScOUC-B MRCYLL 27,1006 J3i-0lT-Tk (09:28 FRGE 3

HELLO.PIL

4.1.4

5.2

§.3
4.3.1

4.3.2

4.3.3

03-RuG6-76 00:20

(ONLY IN SING.E DEVICE TESTS!
SuWil=l

TO LOCh ON SELECTED TEST RFTER A PRCIGRRM RESTART
(CNLY IN SINGLE DEVICE TESTS)

Su0e=1

NJTELl: IN GENERRL SKO! WILL BE USED '&HEN SkQec=
NCTE2: WITHOUT SWOl=1 " 0CK ON TEST” WILL DEFRUL
STRARTING RDDRESS

THE STARTING RDDRESS FOR ALL TESTS IS 0CQ020C

THE RETARTING ADDRESS FOR ALL TESTS IS (0CC20C

THE STARVING RDDRESS TO ENTER W SELECTED TEST IS  RUC2CS
THE STHRTING RDDRESS TO LOCK CON TEST IS CL2?00

PROIRANM AND/OR OPERATOR ACTION

INITIAL PROGRRM START

4.3.1.1 LORD PROGRARM INTO MEMORY WJITH RBSOLUTE LORDER
4.3.1.2 LOAD RDDRESS 002207

4.3.1.3 CLEAR CONSOLE SWITCHES

4.3.1.4 PRESS START

1 18 LSED
TT07Y

TO TEST !

NOTE:IF THE SOFTwARE SWITCH REGISTER IS SELECTED TP-EN THE FOLLOWING
WILL BE TYPED AFTER THE PROGRAM IDENTIFIES ITSELF
SHR=X0XX NeEld=  (REFER TO SECTION 5. FOR OPERQTOR S OPTION)

4,3.1.7 THE PROGRAM WILL TYPE “R™ TO INDICATE THAT T IS ABOUT
10 STMT TESTING ,AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN

4.3.2.1 THE PROGRAM WILL TYPE “R” AND WILL COMMENCE TESTING

PROGRAM RESTART WITH SWOO=1

4.3.3.1 LORD ROGRESS 00000

4.3.3.2 SET S«00=1

4.3.3.3 PRESS START

NOTE:IF THE SOFTKARE SWITCH REGISTER 1S SELECTED TEN THE FOLLOWING
WILL BE TYPED RFTER THE PROGRAM IDENTIFIES ITSEL
SWRzXXXXXX NEM=  (REFER TO SECTION S. FOR OPERHTOR S OPTION)

4.3.3.4 THE PROGRAM WILL TYPE ® 1ST DEVICE: RECEIVER CONTROL REGISTER

SEQ 0003
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RODRESS™ RND WRIT FOR AN INPUT FROM THE TELETYPE KEYBCARD
4.3.3.5 TYPE IN THE ROCRESS OF THE FIRST RECEIVER CONTROL

REGISTER FDDPESS OF THE DUII TC BE TESTED
FCLLOWED BY R <CARRIRGE RETURN)

IF A INCORRECT RDDRESS IS TYPED ,THE PROGRAM WILL TYPE "7
AHD WILL THEN REPEAT THE MESSAGE oF 4.3.3.4

3.3.6 THE PROGRAM WILL TYPE “VECTOR RDORESS-" AND WRIY FOR AN
IN‘PUT FROM THE TELETYPE KEYBORRD

4.3.2.7 TYPE IN THE BASE RECEIVER INTERRUPT VECTOR RDORESS
FOR THE DUI1 T0 BE TESTED FOLLOWED BY R (CARRIAGE RETURN>
F AN INCORRECT RDDRESS IS TYPED ,THE Pnocmn WILL TYPE "7~
mc MILL THEN REPERT THE MESSAGE OF 4.3.3.6

4.3.3.8 THE PROGRAM WILL TYPE “ARE YOU RUNNING MULTIPLE DEVICES 7™
(Y OR N)-" RAND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.3.9 TYPE IN THE RPPROPRIATE ANSWER YES OR NO FOLLOWED BY A
(CARRIAGE RETURN)

IF AN INCORRECT ANSWER IS GIVEN, THE Pnomm WILL TYPE ="
AND WILi. THEN REPERT THE MESSAGE OF 3.8

IF A “NO” ANSKER IS GIVEN: JUMP TO SECTION 4.3.3.12
IF A "YES™ ANS.ER IS GIVEN:THE NEXT QUESTION IS ASKED

4.3.3.10 THE PROGRAM WILL TYPE “LAST DEVICE:RECEIVER CONTROL
REGISTER RODRESS-" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARRD
4.3.3.11 TYPE IN THE RDDRESS OF THE LRST RECEIVER CONTROL REGISTER

RODRESS OF THE DUI1l TO BE TESTED FOLLOKED BY A (CRRRIAGE RETURN)

IF AN INCORRECT ANSWER 1S TYPED ,THE PROGRAM WILL TYPE """
AND WILL THEN REPERT THE MESSAGE OF 4.3.3.10
NOTZ:RLL RDORESSES SHALL BE CONTIGUOUS

4.3.3.11.1 IF AN “0UT OF RANGE™ RDORESS 1S TYPED
IE MORE THAN 16 (10) DEVICES RMWRY (UPHRRDS)..... THE
PROGRAN WILL TYPE “OUT OF RANGE:RETYPE LRST DEVICE RXCSR ADDRESS-"
RAND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARRD

4.3.3.11.2 TYPE IN THE RDDRESS OF THE LAST RECEIVER CONTROL

REGISTER ADORESS OF THE DUll TO BE TESTED FOLLOWED
BY A (CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE =%
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AND WILL REPERT THE MESSAGE CF 4.3.3.11.1

IF R DEVICE RD F§§?.E9?§R THQN ODEgégscg?gﬁEianl?HTYPED ...........

THE PROGRAN HILL DEFRULT T0 THO DEVICES RCTIVE (UPWARDS FRCM
1ST DEVICE ADORESS).THE SAME APPLIES TO IDENTICAL RDDRESSES
TYEEB FOR AR?T RND LQ 7 DEVICE

VE LOCATION &

SEE SECTION 7.2
4.3.3.12 THE PROGRAM WILL TYPE “DU PRIORITY LEVEL-" AND
RAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.13 TYPE IN THE APPROPRIATE DEVICE PRIORITY LEVEL OF THE

DUll OR DULL’S TO BE TESTED FOLLOWED BY A_<CARRIAGE RETURN)
égegf)THRYISLL gULTIPLE DEVICES MUST BE AT THE SAME PRIORITY

IF AN INCORRECT LEVEL IS TYPED ,THE FROGRAM WILL TYPE *7*
AND  REPEAT THE MESSAGE OF 4.3.3.12

‘ 4.3.3.14 THE PROGRAM WILL TYPE “s8 OF SYNC CHARS
SELECTED (1 OR 2)=" AND WRIT FOR AN INPUT FROM THE TELETYPE

| KE
’ 4.3.3 15 TYPE IN THE RPPROPRIATE ANSWER “1™ OR ~2" FOLLOWED
BY A <CARRIAGE RETURN). (NOTE:ALL HULYIPLE DEVICES MUST
. BE THE SAME)
i
| IF AN INCORRECT ANSHER IS TYPED ,THE Pnocnqn WILL TYPE =7=
, AND WILL REPEAT THE MESSAGE OF 4.3.3.1
; 4.3.3.16 THE PROGRAM WILL TYPE * IS SEC XMIT JUMPER 86 IN ? (Y OR N)-*"
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARRD
4,3.3.17 TYPE IN THE APPROPRIATE ANSWER YES OR NGO FOLLOWED

BY R (CARRIRGE RETURN>, (NOTE THAT ALL MULTIPLE DEVICES
MUST Bt THE SAME)

IF AN INCORRECT ANSWER IS TYPED , THE PROGRAM WILL TYPE =7
AND WILL REPEAT THE MESSAGE OF 4.3.3.16

4.3.3.18 THE PROGRAM WILL TYPE “IS SEC REC JUMPER 8 S IN ?
(Y OR N)-" RND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
4.3.3.19 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <(CARRIAGE RETURN>. (NOTE: RLL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "%
AND WILL REPEAT THE MESSAGE OF 4.3.3.18

4.3.3.20 THE PROGRAM WILL TYPE "IS OPT CLR ENRBLE JUMPER

SEQ 0005
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4.3.4

4,3.5

84 IN ® (Y OR N)-" AND WRIT FOR AN INPUT FRGM THE TELETYFE KEYEBORPD

4.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR MO FCLLOMWED
BY R “CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SARME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TWPE *?*
AND WILL REPEAT THE MESSAGE OF 4.3.3.20

4.3.3.22 THE PROGRAM WILL TYPE "ARE YOU RUNNING IN MRINT.
MODE EXTERNAL ? AND ...... DO YOU HRVE THE EXTERNAL MODEM
BYPASS JUMPER CONNECTOR ON ? (Y OR N)-" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBORRD

4.3.3.23 TYPE IN THE APPROPRIATE RANSWER YES OR NO FOLLOWED BY
R <(CRRRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "?7
AND WILL REPERT THE MESSAGE OF 4.3.3.22

4.3.3.24 THE PROGRAM WILL TYPE “R™ TO INDICARTE THAT IT
HRS STARTED AND WILL COMMENCE TESTING AT TEST |

PROGRAN RESTART WITH SWOl=1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED

v0o 17 WILL NOT WORK IF MULTIPLE DEVICES RRE SELECTED

IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LORD 000200,
222 SE%ECT SWOO=1 AND ANSKER “NO™ T0 THE MULYIPLE DEVICE QUESTION

4.3.4.1 LCAD 000200
4.3.4.2 SET SW01=!

4.3.4.3 PRESS START

NOTE: IF THE SOFTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING
WILL BE TYPED AFTER THE PROGRAM IDENTIFIES ITSELF:
SHR=XOXXX NEW=  (REFER TG SECTION 5. FOR OPERARTOR’S OPTION)

4.3.4.4 THE PROGRAM WILL TYPE “TEST PC-* AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBOARRD

4.3.4.5 TYPE _IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS T0
BE STRRTED FOLLOWED BY R <CARRIAGE RETURN)

4.3.4.6 THE PROGRAM WILL TYPE “R™ TO INDICATE THART IT HAS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST BE TRKEN WHEN THIS FERTURE IS USED
GINCE THERE 1S NO PROTECTION AGAINST SELECTING AN ADDRESS

tHAT IS IN THE MIDDLE OF A TEST —

PROGRAM RESTART WITH SWO2 =
NOTE: THIS WILL OMLY WORK WHEN A SINGLE DEVICE IS SELECTED

SE3
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SEE NOTE IN 4.3.4 FOR MORE DETRILS
4.3.5.1 LOAD ARDDRESS 000200

4.3.5.2 SET SW02 =!
NOTE: IT MAY BE RDVANTAGEQUS TO SET SWOl=1 (OPTIONAL)

4.3.5.3 PRESS START

NOTE:IF THE SOFTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING
KILL BE TYPED RFTER THE PROGRAM IDENTIFIES ITSELF:
SWR=XXXXXX NEW=  (REFER TO SECTION S. FOR OPERATOR’S OPTION)

4.3.5.4 THE PROGRAM HILL TYPE "LOCK ON SELECTED TEST ? (Y OR N)-"
RAND WRIT FOR AN INPUT FROM THE TELETYPE KEYBOARRD

4.3.5.5 TYPE IN THE APPROPRIATE RNSHER YES OR NO FOLLOWED BY R
<CARRIRGE RETURN)>

IF R_NQO ANSWER IS GIVEN: THIS LOCK ON TEST WILL BE IGNORED
AND THE PROGRAM WILL TYPE "R™ TO INDICATE THAT IT HAS STARTED
TESTING AT TEST 1

4.3.5.6 IF R YES ANSKER WRS GIVEN:THE PROGRAM WILL ACT AS FOLLOWS...
THE PROGRAM WILL TYPE “R™ TO INDICATE THAT IT HRAS STARTED
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED
OR IF ANY KEY IS STRUCK ON THE TELETYPE ,THE PROGRAM

WILL FREEZE ON THE MEXT TEST UNTIL A KEY IS SYRUCK ON

THE TELETYPE AND SO FORTH THRU THE PROGRAM. IF SW01 =1 IT

WILL PERFORM RS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE

ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

5. OPERATING PROCEDURE

IF THE DIRGNOSTIC IS RUN ON A CPU WITHOUT A SWITCH

REGISTER THEN A SOFTWARE SWITCH REGISTER 1S USED WHICH ALLOWS

THE USER THE SAME SWITCH OPTIONS RS THE MARDWARE SWITCH REGISTER.

IF ruz HARDWARE SWITCH REGISTER DOES NOT EXIST OR IF ONE DOES
TAINS ALL ONES (177777) THEN THE SOFTWARE SWITCH

Rsczsrsn (LOC. 1767 IS USED.

CONTROL :

| THIS PROGRAM ALSO SUPPORTS THE DYNAMIC LOADING OF THE SOFTWARE SWITCH
| REGISTER (LOC. 176) FROM THE TTY. THIS CAN BE RCCOMPLISHED BY
DOING THE FOLLOKING:

1) TYPE CONTROL G ¢1G>: THIS WILL ALLOW THE TTY TO ENTER DATA INTO
LOC. 176 RT SELECTED POINTS WITHIN THE PROGRAM.

2) THE MACHINE WILL THEN TYPE: sun-xxxxxxnsu- (XXXXXX IS THE OCTAL CONTENTS
OF THE SOFTWARE SWITCH REGISTER.)

J) AFTER THE °*°'NEW='' HAS BEEN TYPED THEN THE OPERATOR CAN DO ONE
OF THE FOLLOWING AT THE TTY:

SEG 0007
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R) TYPE R NUMBER TO BE LORDED INTO LOC. 176 FOLLOWED BY R «CR».
(ONLY NUMBERS BETHEEN 0-7 WILL BE ACCEPTED AND ONLY & NUMBERS
HILL BE RLLOHE
IF A_<CR» IS THE FIRST KEY CEPRESSED THE SOF TWARE SWITCH

REGISTER CONTENTS WILL NOT BE CHANGED.

B) IF A CONTROL U <tU> IS DEPRESSED THEN THE PROGRAM WILL SEND YOU
BACk TO STEP 2.

5.1 OPERRTIONRL SWITCH SETTINGS
SWIS = HRLT ON ERROR

SHIH =1 LOOP ON CURRENT TEST

SH12 =1 INHIBIT ERROR _TYPEOUT

SHll =1 INHIBIT ITERATIONS

SW1g =1 ESCAPE TO NEXT TEST ON ERROR

SWOS =1 LOOP ON ERROR

Suie =l LOCK ON TEST

SW0l =1 RESTART PROGRAM AT SELECTED TEST _
SW00 =1 RESELECT VECTOR AND CONTROL REGISTER ADRESSES

SPARAMETERS AFTER A _PROGRAM RESTART
TO INHIBIT “END OF PASS™ TYPEOQUT - TURN TELETYPE OFF

ERRORS

6.1 ERROR HALTS
| THERE ARE FOUR DISTINCT ERROR TYPEOUTS

NOTE: IF THE SOFTWARE SWITCH REGISTER IS TO BE CHANGED AFTER A HALT
THE THE OPERATOR IS REQUIRED TO TYPE A <1G, BEFORE DEPRESSING CONTINUE.
| THE FOLLOWING WILL'BE TYP
. LR=X0000 NEd=  CREFER 10 SECTION S. FOR OPERATOR OPTION)

6.1.1 PC+2 = ERROR PC
WHERE PC +2 ]IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER +2

REFER TO THE ABOVE “HLT™ IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK ADDRESS 8 RXCSR: TO LOCRTE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

’ §.1.2 PC +2 = REGISTER ERROR PC
REGISTER EXPECTED ACTUAL
16X00¢(% YYYYYY 222222
WHERE 16XXXX IS THE ADDRESS OF THE FAILING DEVICE REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 222222 1S THE ACTUAL CONTENTS OF THAT RECISTER
6.1.3  PC +2 = RECEIVER ERROR PC
REGISTER EXPECTED ACTUAL
1EXXXX YYYYYY 222227

HHERE 16XXXX 1S THE ADDRESS OF THE FAILING RECEIVER (RXDBUF) REGISTER

SEQ 0098
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WHERE YYYYYY IS THE EXPECTED DATR CONTENTS OF THAT REGISTER
WHERE 22222Z IS THE ACTUAL DATA CONTENTS OF THAT REGISTER

PC +2_= TRANSMITTER ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 222222

WHERE 16XXXX IS THE ADDRESS OF THE FRILING TRAINSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 222222 IS THE ARCTUAL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETRILS OF ERRORS

ERROR RECOVERY

SW1S =0
IF THE PROGRAM IS RUN WITH SWl1S5 =0 ,NO OPERATOR ACTICN IS
REQUIRED TO CONTINUE TESTING

SWIS =

IF_THE PROGRRH IS RUN WITH SWIS =1 ,T0 CONTINUE TESTING
RFTER THE PROGRAM HAS HALTED PRESS THE PROCESSOR
CONSOLE “CONTINUE SWITCH™

NOTE: THE PC + 2 OF THE “HLT™ WILL BE DISPLAYED IN THE DATA LIGHTS

ILLEGAL INTERRUPTS

Buam INTERRUPT OCCURS TC A VECTOR ADDRESS NOT SELECTED
PRSGRAH INITIALIZATION, THE PROGRAM WILL HALT IN

THE TRAPCATCHER, THE ADORESS AT WHICH THE PROGRAM

HALTS IS 2 GREATER THAN THE RODRESS TO WHICH THE INTERRUPT

OCCURED. THE PROGRAM MUST BE RESTRRTED AT 000200 T0

RECOVER FROM THIS ERROR.

RADDITIONAL TROUBLESHOQTING AIDS ERRCNT: 8 PASCNT:

CHECK THESE TWO TAG LUCATIONS FOR TOTAL s GF ERRORS AND PHSSES RESPECTIVELY.

LORDING 000200 AND RESTARTING WILL CLERR THESE LOCATIONS.

END OF PRSS ROUTINE
THIS TYPEQUT IS MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORM:

END OF PASS TAPE Y
16XXXX = DEVICE

WHERE Y IS THE TAPE LORDED
WHERE 16XXXX IS THE DEVICE'S BASE REGISTER RDDRESS
TO INHIBIT THIS TYPEOUT - TURN TELETYPE OFF

SEQ G009
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RESTRICTIONS

MULTIPLE DEVICES
UP TO0 16(10) DEVICES MRY BE TEGTED. HOWEVER, THEY
MUST HAVE CONTIGUOUS RDDRESSES AND VECTORS

NOTE: IF ALL DEVICES UNDER TEST MAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE "“ZERO:  ADD  #10.BRSEIV -NEXT BLOCK
(VECTORS)™ TO ™2ERC: ADD  #0,BASEIV~;

THEREBY THE VECTOR ARDDRESSES WILL NOT BE

UPDATED AFTER ERCH PASS.

DISCURLIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MULTIPLE DEVICES AN ACTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST 1IE. BIT O FOR
DEVICE 0 ,BIT 15 FOR DEVICE 1S

TO DISQUALIFY DEVICES:

IF DEVICE O IS YO BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWOO =1 AND OMIT THE FIRST DEVICE.

IF HOWEVER, DEVICES 1 THRU 1S OR ANY COMBINATION THEREOF
ARE TO BE DISGUALIFIED....LOAD THE LOCATION OF ACTREG:
OBSERVE THE ACTIVE BITS (ACTIVE =1, NONACTIVE = Q)

AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.2.2.1 TO RESTART...LORD 000200 IN SWR AND DEPRESS START,.

THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HALTING.

7.2.2.2 ....... OR ..... LOAD 000200 HITH SWOO =1 AND DEPRESS START....
' ANSWER THE QUESTION :1ST DEVICE : ETC...........
....THE PROGRAM WILL CONTINUE WITH DEVICE O

7.2.2.3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE = THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE....... LORD & START AT 000200

CRBLE DELAYS
NOTE: EXTERNRL LOOP BACK TESTS ONLY (MODEM CRBLE WITH H31S CONNECTOR ON)

TO PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CABLE

LOCATION “HOLD:* MUST BE MODIFIED 10 _ACCOMODATE FOR FASTER MACHINES.
PRESENTLY “HOLD:* =20 IS SUFFICIENT TIME ON A" 11/20 MACHINE.

IF RUNNING ON AN 11/40 OR AN 11/4S “HOLD:* MUST BE PATCHED TO 4O

BRSICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EIA DRIVERS

TO USE THE "XOR™ TESTER ,THE BRANCH AROUND THE “XOR™

CODE MUST BE PATCHED TO A "*i0P*. (SEE LISTINGS FOR DETRILS)

DEFAULT PARAMETERS:

1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS- RXCSR: 160040

VECTOR RDORESS- DURIV: 770

SEG 0010
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ARE YOU RUNNING MULTIPLE DEVICES ?- NO MULTD: O
LAST DEVICE: RECEIVER CONTROL REGISTER ADDRESS- LASTADD: O
DU PRIORITY LEVEL- LEVEL S DUPRT: LEVEL S

| 8 OF SYNC CHRRS SELECTED - 2 SYNCNO: 377
IS SEC XMIT JUMPER 8 & IN ?- YES SEXMIT: 377
IS SEC REC JUMPER ¥ S IN ?- YES SEREC: 277

IS CPT CLR ENRBLE JUMPER & 4 IN ?- YES OPTCLR: 377
DO YOU HAVE THE EXTERNAL MODEM BYPARSS JUMPER

| CONNECTCR ON (H3IS)-  YES IMRBY: 377
5 q. PROGRAM DESCRIPTION
10.  FLOMW CHARTS: RECEIVER FLOMW,TRANSMITTER FLOW,TRANSMITTER & RECEIVER FLOW

11. LISTINGS

SEQ 0011
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100000
040Ca0

0ogo1e
000004
000002
000001

.ENRBLE AHS
;OUll DZOUC-B_TRPE C

MO1

s COPYRIGHT 1973, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754
; STRRTING PROCEDURE

:LIAD PROGRAM
:PRESS START

PROGRAM WILL TYPE "DU11 DZDUC-B TAPE C
:PROGRAM WILL TYPE "R™ TO INDICATE THAT TESTING HAS STARTED
:QT THE END OF A PASS, PROGRAM WILL TYPE “END OF PASS TAPE C"
*AND THEN RESUME TESTING

; SWITCH REGISTER OPTIONS

SW15=10000C0
SW14=40000
SW13=20000
SWie=10000
SW11=4000
SW10=2000
SW0S=1000
SWi8=400
SW0B=100
SWOE=40
SW0Y=20
SW03=10
Sil02=H4
SWOli=¢
SW00=1

e wewe

-e we woews

HALT ON ERROR
GOP ON CURRENT TEST
NHIBIT ERROR TYPEOQUT

L
I
INHIBIT ITERATIONS

ESCRPE T0 NEXT TEST ON ERROR
L

O0P WITH CURRENT DATA
OOP ON ERROR

Pt P s P P et P

;LOCK ON TEST SELECT

:RESTART PROGRAM AT SELECTED TEST
tRESELECT VECTOR AND CONTROL REGISTER
:ACDRESS AFTER PROGRAM RESTART

SEQ 0012
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U 0= 0=t =0 Pt Pt t s Pt P P
OO LW+

o
n
—

(opdoplontoalontonloaloalsalealoalontoaloalealealneale sy
xwwwwmuwwwwmgmmmmmm
OWVONON.EWNI—OO0ONNoUTLWIY

10-JUL-74 00:03

000000

000007

177570
177570
177776
001100

005746
005726
010046
012600
024646
022626

100000
040000
020000

000340
000300
000240
000200
00CiN0
000100
000040
000000
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NO1

;REGISTER DEFINITICNS

RO=%0
R1=%1
Re="2
R3=43
RYy=74
RS=%5 _
SP=%b
PC=x7 *

; GENERAL REGISTER
:GENERAL REGISTER
s GENERAL REGISTER
s GENERAL REGISTER
:GENERAL REGISTER
s GENERAL REGISTER

s PROCESSOR STACK POINTER

s PROGRAM COUNTER

: LOCATION EQUIVALENCIES

DSWR=177570
DLIGHTS=177570
PS=177776
STACK=1100

; HARDWARE SWITCH REGISTER LOC,
' HAROWARE DISPLAY REGISTER LOC.

:PROCESSOR STATUS WORD

:START OF PRCCESSOR STACK

; INSTRUCTION DEFINITIONS

PUSH15P=5746
POP1SP=5726
PUSHR0=10046
POPRC=12600
PUSH25P=24646
POP2SP=22626

.EQUIV "EMT,HLT ;BASIC DEFINITION OF ERROR CALL

00 00 00 00 0 00 00 40 (0 U0 1 00 00 o 0Ot
0t 0 9t D 0 Dt Dt Bt B D Pt Pt 9t Dt 0t g

; DECREMENT PROCESSOR STACK 1 WORD
: INCREMENT PROCESSOR STACK 1 LORD
,,RVE RO ON STACK

;RESTORE RO FROM STACK
s DECREMENT STACK TWICE

=MOV RO, -(SP)
=Mdv (SP)+,R0
=CMP -(SP), -(SP)

=TST -(SP}
=TST (SP)+

: INCREMENT STACK TWICE =CMP (SP)+,(SP)+

; PROCESSER LEVELS

(EVEL7=340
LEVELb=300
LFVELS=240
L' ‘EL4=200
LEVEL3=142
LEVEL2=100
LEVEL 1=040
LEVE =000

cEQ 0013
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BY +REGISTER DEFINITI NG
B XCSR BIT DEFINITIONS
£43 103383 0Se -91.15 ;DATA SET CHANGE
B44 o4 RING=BITI4 :RING °
BNS 020050 CTS=BIT13 _ :CLR TO SEND

| B4 £1000¢ CARDET=RIT1Z : CARRIER CETECT

I 334000 RECACT=BIT!] :REC ACTIVE
£4B 002020 SR0=BITID :SEC REC DATR
B+3 001000 DSR=BITY :DATA SET RDY
€59 000400 §TPSYN=BI8 :STRIP SYNC
651 000200 RXDONE=BI 17 :REC DONE
65 000100 RINTEN=BITE ‘REC INTR ENAB.E
£53 0ADO4D DSINTE=BITS :DSC INTR ENRBLE
£54 000020 SYNSCH=BIT4 :SYNC SERRCH

| ESS 809510 STL=RIT3 :SEC xnzr DATA
ESE 900004 RTS=BIT2 ‘REQ TO SEND

,  &E7 000032 DIR=BITI :DATR TERM RDY

| &58 063C0 ! VO1D=B110

i g9 -RXDBUF B1T DEFINITIONS

% 100000 RXERR=B1115 ;REC_ERROR

| & 040090 ovanun-axvxq : OVERRUN

| Bb2 820000 FRMERR=BITI3 ranns FRROR

I B3 010000 PARER=BIT12 ARITY ERROR
£Ed -PRRCSR BIT ozrxﬁzrxous

. B&S 001090 . PAREN=BI}S ARITY ENABLE
6E6 DO04C0 EVPAR=BITS EVEN PARITY SENSE
BE? -PARCSR WRD DEFINITIONS
568 039000 SYNINT=30030 -SYNC EXTERNAL MODE
&E9 020000 SYNEXT=20000 :SYNC INTERNAL MODE
£°C 002300 1SYMO0=0 :150C MODE
577 200000 FIVE=D :WORD LENGTH S BITS
£722 002000 SIx= :WORD LENGTH b BITS
£22 004090 SEVEN=4000 :WORD LENGTH 7 BITS
£74 006007 EIGHT= : WORD LENGTH 8 BITS
E7S 000000 NOPAR= :NO PARITY
e 001020 0DDPAR=1000 :0DD PRRITY
£77 001450 EVEPAR=1400 :EVEN PARITY
£78 -TXCSR BIT DEFINiTIONS
£79 1000090 DNA=BIT1S -DATA NOT AVAILABLE
A ON2G00 MTDRTA=BITINY :MAINT DRTA
EE] 120000 CLK=BIT13 s CLK
£82 0352000 axru-axrxo :BIT WINDOW
BE3 000400 msser g :MRSTER RESET
684 006200 :XMIT DONE
EES 000100 rxxnrs-axrs :XMIT INTR ENABLE
£86 00040 ONAQINTE=BITS :DNA INTR ENAB
687 0L2020 SEND=BITH : SEND
688 090010 HOXEN=BIT3 : HOX/F DX
689 000001 BREAK=BITD : BREAK
£90 . - TXCSR WRD DEFIN}TIONS
T 000000 USER=0 s USER MODE
£92 004000 MINT=4000 :MAINT INT MODE
£33 01000C MEXT=10000 :MAINT EXT MODE
644 014000 SYSTST=14000 tSYSTEM TEST MODE
s 9c : TRAPCRTCHER FOR'ILLEGAL INTERRUPTS
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COUCC.PI1  10-JUL-74 0D:03 SEQ 0015
gg; : STANDARD INTERRUPT VECTORS
&
*00 DODNRM 8?3?52: T PFAIL :POWER FAIL HANDLER
701 000G2e 00O34C 340 'SERVICE AT LEVEL 7
702 000030 014316 HLT :ERROR HANDLER
703 000032 D90340 340 *SERVICE AT LEVEL
~4 0000 Dl4264 . TRPSRV :GENERAL HANDLER oxspmcn SERVICE
705 00003 000340 340 'SERVICE AT LEVEL 7
{
% : SOFTWARE SWITCH REGISTER
759 000174 =174
710 000174 000000 DISPREG: . WORD 0 -SOF TWARE DISPLAY REG.
7i1 500I176 000000 SWREG:  .WORD O 'SOFTWARE SWITCH RESISTER
z;g 03320 000167 001054 INP "START :G0 TO START OF PROGRAM
714
?ig
Zi? 861100 .=1100
;;g s INDIRECT POINTERS
729 DO1100 177570 SWR: 177570 :SWITCH REGISTER POINTER
72l 001i62 177870 CIGHTS: 177570 :DISPLAY REGISTER POINTER
722 001108 177860 TKCSR: 177560 TELETYPE KEYBOARD CONTROL REGISTER
723 00:106 1778562 TKDBR: 177862 :TELETYPE KEYBOARD DATA BUFFER
74 001110 177864 TPCSR: 177564 TELEPRINTER CONTROL REGISTER
;aag 001112 177566 TPDBR: 177866 : TELEPRINTER DATR BUFFER
77% :PROGRAM CONTROL PARAMETERS
729 DOIl14 0O00COD RIRN: O -SCOPE ADORESS FOR LOOP ON TEST
730 0011le 000000 NEXT: O :ADDRESS OF NEXT TEST TO BE EXECUTED
731 001120 0GOOCO K: 0 :ADDRESS FOR LOCK ON CURRENT DATA
732 001122 003900 ICOUNT: O NUMBER OF JTERATIONS THAT CURRENT TEST W1LL BE EXECUTED
733 001129 000000 LPCNT: O !NUMBER OF ITEREATIONS COMPLETED
734 001126 DOO0OO0 TSTNO: O :NUMBER OF TEST IN PROGRESS
7% 091130 000000 PASCNT: 0 !NUMBER OF PASSES COMPLETED
73 D112 000000 ERRCNT: O TOTAL NUMBER OF ERRORS
g 001134 000000 LSTERR: 0 !PC OF LAST ERROR CALL
;33 . PROGRAM VARIABLES
741 001136 000020 HOLD: 20 : TENPORARY STORAGE=DELAY TIME FOR CABLES
742 001140 000000 SHIFT: O : TEMPORARY STORAGE= 8 OF SHIFTS PER CHAR
743 001142 000000 COUNT: O ! TEMPORARY STORAGE= 8 OF TIMES A CHAR WILL BE SENT
744 001144 000000 TEMPL: 0 ,renpoamv STORAGE
745 001146 000000 TEMP2: 0 TENPORARY STORAGE
746 001150 0OCO0O TEMP3: O : TEMPORARY STORAGE
747 001152 000000 TEMPY: O ! TENPORARY STORAGE
748 001154 0OO0D0 TEMPS: 0 ! TEMPORRRY STORAGE
748 001156 000000 SAVRO: O 'R0 STORAGE
76 001160 007000 SavRl: 0 'R1 STORAGE
751 001162 000000 SAvR2: O 'R2 STORAGE
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880 00
00
200000
00000C
0C0030

09:c8 PRSE 18

SAVRI:
CAVRY:
SAVRS:
CAVSP:
SAVPL:

00000

:R3 STORASE
'R4 3TORAGE

'RS STORAGE

:STACK POINTER STORAGE

: PROGRAM COUNTER STORAGE

SEQ 0016




EO2

D"DUC-B MCYLL 27(1008) QJ1=-QCT-76 09:28 PRGE 20

DIDUCC.PI1  10-JUL-74 00:09 SEG 0017
7S? . - NS - PROGRAM gONVERSQTIONQL PRRR?ETER: CHORS, BEQ:D FOR SYNC'ZATION
{ ( H
;gg BSH,Z? 7 xMIT: BYTE 377 ssg xnx JUMPE §
760 001200 377 SEREC: .BYTE 377 :SEC REC JUMPER "IN®
761 001201 " OPTCLR: .BYIE 377 :OPTIONAL JUMPER CLR "IN"

762 001202 000 MULTD: .BYTE O *NO MULTIPLE DEVICE FLAG

?723 001203 37?7 JE&EK: .BYTE 377 :EXTERNAL MIDEM BYPASS JUMFER "IN“
TES

766 :PROGRAM MULTIPLE DEVICE PPRAMETERS

767 001204 000000 BASERDD: 0 -PROG CONTROLLED I1ST DEVICE ADOR
768 001206 00CO00 KEEPRDD: 0 :SAVED 1ST DEVICE RDDR

769 001210 000000 LASTADD: 0 LAST DEVICE RXCSR ADOR

770 001212 00QCO0 BASEIV: 0 :PROG CONTROLLED IV

771 001214 000000 KEEPIV: 0 :GAVED INTR VECTOR

772 001216 000000 ACTREG: 0 ‘ACTIVE REGISTER ,,,MODIFY THIS
773 :LOCATION TO oxsaﬁhﬂxrv OR QUALIFY
774 :DEVICES (1= RUN,,,0= DON'T RUN)
775 001220 000209 ROTADD: 0 ROTATING POINTER’FOR ACTREG..POINTS
77;5_} :TO DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DE
;;g -PROGRAM CONTROL FLAGS

780 001222 000 INIFLG: .BYTE O : PROGRAM xmrm:zmxon FLAG

781 001223 000 STFLG: .BYTE O TEST START FLAG

782 001224 020 ERRFLG: .BYTE O :ERROR occunso FLAG

;g 001225 000 LOKFLG: .BYTE O :LOCK ON CURRENT TEST FLAG

78S :DEFINITIONS FOR TRAP SUBROUTINE CALLS

786 :PCINTERS TO SUBROUTINES CAN BE FOUND

;gg :IN THE TABLE IMMEDIATLY FOLLOWING me DEFINITIONS

789 D0!226 . TRPTAB:

790 iiil!*i!i!Ililiii!le!l*liH!l!!i!l*i!*iilﬂl*i!ﬂ!lil!l!i!!!l!!!illl!!ll!ii
791 ii!iilllllllil!i!!iii!i!iﬂlliil!i!il!!ll!!llll*l!lll!!l!!iii!lii!!l!ii!l
782 104400 SCOPE=TRAP+0  ;CALL TO SCOPE LOOP AND ITERATION HANDLER
793 001226 013050 .SCOPE

794 104401 SCOP1=TRAP+]  ;CALL TO LOOP ON CURRENT DATA HANOLER

795 001230 0132 .SCOP1

79 1044 TYPE=TRAP+2 :CALL TO TELETYPE OUTPUT ROUTINE

797 001232 013254 .TYPE

798 104403 INSTR=TRAP+3  ;CALL TO ASCII STRING INPUT ROUTINE

799 001234 013314 . INSTR

800 104404 INSTER=TRAP+4  ;CALL TO INPUT ERROR HANDLER

801 001236 013432 .INSTER

802 T 104408 PARAM=TRAP+S  ;CALL TO NUMERICAL DATA INPUT ROUTINE

803 001240 013464 .

804 104406 SAVOS=TRAP+6  ;CALL TO REGISTER SAVE ROUTINE

B80S 001242 013700 . SRVOS

806 104407 RESOS=TRAP+?  ;CALL TO REGISTER RESTORE ROUTINE

807 00124 0] .RESOS

808 10%513 CONVRT=TRAP+10 ;CALL TO DATA OUTPUT ROUTINE

809 00l1246 013772 .CONVRT

810 104411 CNVRT=TRAP+11  :CALL TO DATA OUTPUT ROUTINE WITHOUT CR/LF
Bil 001250 013776 .CNVRT

12 104412 SETFLG=TRAP+12 ;CRLL TO FLAG SET ROUTINE
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176510
000024

177570
177550

177510
177504

000004
177456

177442
177436

177410

177376

SEG 0018
.SETFLG
SR CKSWR=TRAP+13  :CALL TO ALLOW SWREG TO BE LORCED FROM TTY
.cnr CNTLU=TRAP+14  :CALL TO ALLOW LOADING OF SWREG FRGM TTY

R aS a2l IS 12 el e IR 2222222222222 2222222 2322322322222 22228 2222822
JERERRFRRARRRRRRERRRERERERERREREERERELRERERERRRRERREERERERERRARREAREER RN

; PROGRAM INITIALIZATION
sLOCK OUT INTERRUPTS

:SET UP PROCESSOR STACK
:SET UP POWER FAIL VECTOR

:CLEAR PROGRAM CONTROL FLAGS AND COUNTS
:TYPE TITLE MESSAGE

.START: MOV

8340, PS

;LOCK OUT INTERRUPTS

MOV #STAlK 5P :SET UP STACK
MOV " Prnlt AT :SET UP POWER FAIL VECTOR
CLR LPCNT :CLEAR 8 OF ITERATICN COMPLETED LOCATION
CLRB  STFLG :CLEAR START FLAG
CLR PASCNT :CLEAR PRSS COUNT
CLRB  ERRFLG :CLEAR ERROR FLAG
CLR ERRCNT :CLERR ERROR COUNT
CLR LSTERR :CLERR LAST ERROR POINTER
MOV 81, TSTNO :SET UP FOR TEST 1
MOV 8.START,RTRN SET UP FOR POWER FRIL BEFORE
:TESTING STARTS
ggge éNIELG *HRS INITIALIZATION BEEN PERFORMED
TYPE MTITLE -TYPE TITLE MESSAGE
COMB INIFLG :IF NOT SET FLAG AND DO
ONCE: MOV RELOAD HARDWARE SWITCH REGISTER INTO POINTER
MOV ooLlchrs LIGHTS *RELOAD HARDWARE DISPLAY REGISTER INTO POINTER
MOV 386, - (SP} *SAVE VECTORS
MOV TN -(sp)
MOV t648 . awy -SET UP FOR TIMEOUT
CMP 8-1,dSKR ‘REFERENCE HARDWARE SWITCH REGISTER
BEQ 658’
BR 66$
B4S:  CMP (SP)+. (SP)+ :ADJUST STACK
B5§: MOV #SLRES, SWR :POINT TO SOFTWARE SWITCH REG
MOV sDISPREG, LIGHTS POINT 70 SOFT DISPLAY REG
B6S: MOV (SP)+, 3l :RESTORE VECTORS
MOV (SP)+ 386
ST 842 - UNDER MONITOR
BNE 67$
CMP $SWREG, SWR : 1S SWREG USED
BNE ¥
CNTLU
B7S: Eﬁ{ :guoo.asun :RESELECT VECTOR & CONTROL REG?
JMP .BEGIN
18 MOV #300, RO :RESTORE VECTOR ARER TO TRAPCATCHER
MOV #302 R} :START AT LOCATION 300
MOV 84, Re
28: MOV R1, (RD)
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15o0034 08103 )

ZOUCC.P ~JUL-7Y SES 0019
869 0CI526 00SO11l CLR (R}
870 ooisao osoao? ggo R2,R0
87é 881?35 833381 001000 CH -1006 Rl :END AT LOCATION 776
873 00IE40 002771 BLT 2%
874 001542 104403 INSTR ;OUTPUT MESSAGE & GET INPUT STRING
875 001544 DISl6d MREGAD : MESSAGE
876 001546 104405 PARAM :CONVERT STRING
B~7 001550 160900 160000 :LOW LIMIT
878 001552 167776 167776 chu LIMIT
879 001654 017016 OUBRSE STORE AT THIS LCCATION
880 001556 001 JBYTE ! : MASK
B8] 00)55? 051 .BYTE | :HOW MANY TIMES + 2
882 0015~0 016767 015232 177420 MOV ouensz KEEPRDR ;SAVE
883 0C1Sex 004767 018072 ISR UADOR
884 001572 N16767 177810 177404 MOV uhmomxmnaﬁmmrmnmmmn
885 0016 104403 INSTR :OUTPUT MESSAGE & GET INPUT STRING
£26 001:92 015140 MVECTO - MESSAGE
887 DOIGDY 104405 PGRAM convsnr §rnxnc
888 001606 000330 300 Lo
€89 001610 000776 776 HIGH anxr
890 001612 017340 DURIV 57095 AT THIS LOCATION
89 001S14 885 .BYTE | : MASK
832 001615 'BYTE 4 "HOW MANY TIMES + 2
893 001616 016767 0!55i6 177370 MOV DURIV.KEEPIV  ;SAVE
8y m%g 016767 013510 177380 MOV DURIV.BASEIY  :SET UP FOR ROTATION
895 001 1 INSTR :OUTPUT MESSAGE & GET iNPUT STRING
B3 001634 015242 MMUL T : MESSAGE
837 001636 104412 SETFLG SSET anc BARSED UPON INPUT STRING
838 0C1640 001202 MULTD :THIS FLAG
899 001642 105767 17733 TSTB  MULTD  ;ARE THERE numPLe DEVICES
anQ :ON THE SYSTEM ?
901 00164 100406 BMI BBB :YES, RSK NEXT QUESTION
902 001650 005067 177342 CLR ACTREG
903 001654 005067 177340 CLR ROTACD
ggg 88{223 000167 000140 - MNP OUTMUL ;JUMP AROUND NEXT QUESTION
906 DOIESY 104403 INSTR ;OUTPUT MESSAGE 8 GET INPUT STRING
977 001666 015322 MLASTD : MESSAGE
308 001670 JO440S PARAM couvsm STRING
909 001672 160000 160000 :LOW LIMIT
S10 001674 167776 167776 chu LIMIT
911 001676 001210 LASTADD :STORE AT THIS LOCATION
912 00700 00 .BYTE | : MASK
913 001701 001 .BYTE | *HOW MANY TIMES + 2
91y - THE FOLLOWING nourxne SETS UP ncrnsc FOR THE FIRST TIME
9i1S 001702 012767 000001 177310 IS: MOV ROTADD T UP POINTER
916 001710 005067 177302 CLR ncmsc :CLR ncrivs REGISTER
917 0017:4 066767 177300 177274 28 BIS ROTADD,ARLTREG  ;MAKE THIS DEVICE ACTIVE
918 001722 00024l cLe
919 001724 006167 177270 ROL ROTADD ;SET UP POINTER
¢20 001730 10342] BCS 3s :ARE YOU OUT OF RANGE ?
421 001732 062767 000010 177244 ADD 810, BASEADD :SET UP BASE RDDRESS
922 001740 026767 177244 177236 CMP LASAROD, snssnon :1S THIS THE LAST DEVICE ?
S23 001746 101362 BHI 2§ 0 00 It ARGAIN
924 001750 OSE767 177244 177240 BIS ROTADD, ntrnsc : THIS ASSUMES THAT THERE ARE AT
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DZCUCC.P1l  10-JUL-74 00:03 SEG 0020
325 ;LEAST TWO DEVICES WHEN YGU ANSWER YES TO
926 MULTIPLE DEVICE QUESTION
627 001756 012767 000001 127234 us: MOV b1 R ;SET_UP FOR LATER USE IN ENC OF PASS ROJTINE
329 00I7BY 016767 177216 177212 MOV Ksépnoo ensznoo 81110
929 001772 0CO4IM . ER QUTMUL ' CONTINUE QUESTIONS
930 001774 016767 177206 177202 33: MOV KEEPADD,BASEADD ;RESTORE
331 002002 404403 INSTR ;QUTPUT MESSAGE 3 GET INPUT STRING
932 00J004 015505 MRANGE s MESSAGE
933 002006 104405 PARAM s CONVERT STRING
334 0020IC 160000 160000 sLOW LIMIT
935 002012 167776 167776 sHIGH LIMIT
33 002014 001210 LASTADD sronz AT THIS LOCRTION
937 00cJle 0Ol BYTE I MASK
932 002017 00l BYTE | 'HOW MANY TIMES + 2
939 002020 000Ib? 177656 ImP 18 ;00 IT AGAIN
40 0020 OUTMUL :
941 002024 104403 INSTR ;OUTPUT MESSAGE 3 GET INPUT STRING
42 2 015771 MLEVEL s MESSAGE
%3 30 109405 PARAM :CONVERT STRING
44 002032 0OCOOM Y sLOW LIMIT
945 0020M 7 sHIGH LINMIT
46 00203 016660 DUPRT :STORE AT THIS LOCATION
47 00204 O .BYTE o : MASK
Q8 002041 001 .BYTE sHOW MANY TIMES + 2
949 00042 004767 D14SH2 Jsr  pe,DULEV
950 ; COMPARE _THE FIRST CHARACTER IN THE TELETYPE INPUT
951 :BUFFER TC THE CHARACTERS “1° AND “2~.
952 ; IF THE CHARACTER IS ~I" CLEAR THE FLAG
&3 ; IF THE CHARACTER IS "2 SET THE FLAG
954  DOZD46 ARA:
955 (002046 104403 INSTR ;OUTPUT MESSAGE & GET INPUT STRING
956 002050 016016 _ MSYNC s MESSAGE
957 002052 122767 000061 014373 38: CMPB 8’1, INBUF ISTIT %1% 2
958 002060 001003 BNE 18
959 002062 105067 177110 CLRB  SYNCNO ;000
360 002066 000412 BR 4s
%61 002070 122767 0O00E2 C14352 1S: CMPB 82, INBUF ;1S 1T "2~ »
%2 002076 001004 BNE 2§
%3 002100 112767 177777 177070 MOVB  #-1,5YNCNO ;377
964 002106 000402 BR 4$
365 002110 104404 2s: INSTER ;RETRY
86 002112 000757 BR 33
%7 002114 000240 4s: NOP
968 002116 104403 INSTR ;OUTPUT MESSAGE 8 GET INPUT STRING
%3 002120 016064 MWIREE :MESSAGE
970 002122 104412 SETFLG sSET FLAG BASED LPON INPUT STPING
971 002124 001177 SEXMIT s THIS F
972 002126 104403 INSTR OUTPUT nessncs 8 GET INPUT STRING
973 002130 016132 MWIRES s MESSAGE
974 002132 104412 SETFLG ;SET_FLAG BASED UPON INPUT STRING
975 0221 001200 SEREC s THIS FLAG
976 002136 104403 INSTR s OUTPUT MESSAGE 8 GET iNPUT STRING
977 002140 016177 MWIREY s MESSAGE
978 032142 104412 SETFLG ssr FLAG BASED UPON INPUT STRING
979 002144 00120] OPTCLR THIS FLAG
%60 002146 104403 INSTR ourpur MESSAGE & GET INPUT STRING




crm e o s -y g ot e

0ZDUC-B MACY11 27 1006)

981 002150 016253

gasias dfiats

002156 012767

o S e e
R
N
B
3

OO0 O00CO000
Pt Pt s P Pt Pt e s Pt Pt
ODONT'NLWRI—-0O

n
&

3
§
&
g

wy—o—&g—-r—wt—s—-u—-s—-o—-o—u—»—-v—-o—wo—
—
R
(=]
[y
n
N
o
ﬂ

002350 012767
002356 012767
002364 052777
002372 012777

SRISHCRBRNEREER

JI-0CT-76 09:28 PAGE ed
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000340
001100
000Q4e

177000
011020
011014
000004

176757
000240
000240

010736
010732
000002

002350
015707
176544

000001
002524
000400
000000

175¢e12

010720
010714

176650

010654
010650

010636
010632
176570

176554

176550
176532
014736
014724

.BEGIN: !

cs:

18:
cs:

.BYTE
.BYTE

33:
4s:

TSTL:

MEXTJ

ETFLG

MRBY

; TEST START AND RESTART

INSTR
MISTPC
PRRAM
1ST)
TLAST
RTRN
1

l

BR
MoV
TYPE
JHP

102

340, PS
8STRLK 5P
842

SEQ 0021
s MESSAGE
;;ET F}QG BASED UFON INPUT STRIMG
: THIS FLAG
+LOCK QUT INTERRUPTS

;SET_UP STACK
: IS PROGRAM UNDER MONITOR CCNTROL

3%
MULTD .DON'T ALLOW LOCK ON TEST IF RUNNING

QQULTIPLQ DEVICES

BRW, TTST
BRX, TTST+2

33
#B8IT2,aSWR
13

LOKFLG
13

¥NOP, TTST
IO, TTST+2

BRW, TTST

BRX. TTST+2
ggub1,asun

4§
$7ST1,RTRN

MR
RTRN

< IF NO,TEST FOR LOCK ON TEST
;S§§;8ks NORMAL SCOPE LOOP

:JUMP AROUND IF YES
:CHECK FOR LOCK ON TEST

;ggggggsnessncs & GET INPUT STRING
:SET FLAG BASED UPON INPUT STRING

; THIS FLAG
; IS LOCK ON TEST OPTION SELECTED

:SET UP TO LOCK
:LOCK NOT SELECTED, SET UP FOR NORMAL SCOPE LOOP
:IF SWOl=1, GET STARTING PC

-QUTPUT MESSARGE 8 GET INPUT STRING

: MESSAGE

:CONVERT STRING

JLOW LIMIT

;HIGH LIMIY

:STORE AT THIS LOCATION

;s MRSK

‘HOW MANY TIMES + 2

:START AT TEST 1

‘TYPE R

:START TESTING

- THIS TEST VERIFYS WORD LENGTH SELECT OF RECEIVER
s 'GECTION ,IT USES THE ERROR FLAGS TO DETERMINE

st THAT 1T WAS S-._ECTED PROPERLY

: 'FRAME ERROR (FRMERR,RXERR)

; s MODE: 1SOC (ISYMOD)

s sLENGTH:FIVE

; SAVE THIS
:G0 TO THIS TEST WMEN THRU

$MRESET, T¥CSR  ;MASTER RESET

:sCHAR: 25

fbv 1, TSTNO
MOV 87572, NEXT
BIS

MOV

#]SYMOD,dPARCSR ;SET THE MOOE
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iggg 002400 052777 000400 014722 BiS sMRESET,3TXCSR ;FASTER RESET
1039 +SET MAINT DATA, CLK,BREAK, SMAINTENANCE MODE
18:? 002406 012777 064001 Ol4714 MOV sMTOATAICLK ! MINTIBREAK, 3TXCSR
1042 SET MODE .# OF BITS,PARITY SENSE,3LOAD SYNC REG
1043 885444 12777 880008 014702 MOV 81SYMOD! FIVE ! NOPAR? ,gpnacgn
1044 422 052777 000020 014664 BIS 85YNSCH JRXCER :SET'SYNC SERRCH
1045 :POKE CLK TO 5;? RECEIVEﬁ 5"70 svngnoxznv:on....
1046 002430 042777 020000 014672 B1¢ $CLK, dTXCS :POKE CLK DOWN
1047 503436 050777 020000 014664 8IS #CLK 9TXCSR : POKE CLK UP
1048 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
1049 002444 042777 U200C0 014655 8IC #CLK, JTXCSR sPOKE CLK DOMWN
1050 002452 052777 020000 014650 BIS sCLK ' ITXCSR 'POKE CLK UP
1051 002460 012767 000007 176452 MOV 87 SHIFT '8 OF SHIFTS
1052 002466 012767 000052 176450 MOV 852 TEMPI :DATA CHAR
1053 :NOTE: THE ABOVE CHARACTER IS MISSING STOP BIT
1054 002474 DOM767 01422C ISR PC, RPOKE :SHIFT IN THIS CHAR
1055 002500 016703 DI46IM MOV RXbBUF'R3 :FOR ERROR MESSAGE
1056 002504 012700 120025 MOV sRXERR!FRMERR! 25 RQ s EXPECTED
1057 002510 017701 OI4&0Y MOV JRXDBUF ,R1 ACTUAL
1058 0025i4 020001 CMP RO,R1 ' ;COMPARE’EXP VS ACT
1059 002516 001401 BEQ 64$
1960 002520 104002 HLT 2 ;FRAME ERROR 3 RX ERROR SHOULD BE SET
1061 :IF LOWER BYTE DOES NOT MATCH IT
10€2 :PROBABLY IS A LENGTH SELECT PROBLEM
10E3 002522 B4S: i
1064 002522 104400 SCOPE
1065 > < THIS TEST VERIFYS WORD LENGTH SELECT OF RECEIVER
1066 $ 1SECTION , 1T USES THE ERROR FLAGS TO DETERMINE
1067 :'THAT IT WAS SELECTED PROPERLY
1068 : 'FRAME ERROR (FRMERR, RXERR)
1068 : *MODE: ISOC (ISYMOD)
1670 s LLENGTH: SIX
ig;é s s CHAR
1073 002524 012767 000002 176374 TsT2:  Mdv 82, TSTNO :SAVE THIS
1074 002532 012767 002700 176356 MOV 8787, NEXT :G0 TO THIS TEST WHEN THRU
1075 002540 052777 000400 014562 BIS $MRTSET, TXCSR  ;MASTER AESET
1076 032546 012777 000000 5iuSsO MOV 815YMOD, 3PARCSR ;SET THE MODE
ig;g 002654 052777 000400 014546 8IS SMRESET,@TXCSR :MASTER RESET
1079 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
igg? 002562 012777 064001 014540 MOY sMTOATA! CLK!MINT!BREAK, 3TXCSR
10 ;SET MODE ,# OF BITS,PARITY SENSE BLOAD SYNC REG
1083 002570 012777 002000 0:i4526 Mot $15YM0D!SIX!NOPAR! O, SPRRCSR
1084 002576 062777 000C20 OI4EI0 BIS 8SYNSCH. 9RXCSR  :SEY SYNC SEARCH
1085 : POKE CLY T0 c;f Rscslvsk INTO SYNCROIZATION....
1086 002604 042777 020000 014516 B1C ¥CLK,dTXCS :POKZ CLK DOWN
1087 002612 052777 020000 014510 BIS #CLK ' TXCSR :POKE CLK UP
1088 :POKE CLK T0 GET LOGIC INTO SYNCRONIZATION
1088 002620 042777 020000 014502 BIC #CLK, TXCSR sPOKE CLK DOWN
1090 00262k 052777 020000 014474 BIS #CLK . JTXCSR :POKE CLK UP
1091 002e34 512767 000010 176276 MOV 26, , SHIFT ;% OF SHIFTS

1092 002642 012767 (0000S2 176274 MOV 852, TEMP] ; DATA CHAR
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~No

1148

Base2

00660

002744
002752

002760
002766

002774

0C3018
003016

003024
003030

003040
003044
003046
003050

0030S2
0030S2

81783

001401
104002

104420

012767
012767
052777
012777
052777

012777

012777
052777

042777
0s2777

Q42777
0S2777
012767
012767

004767
016703
012700
017701
020001
001401
104002

104400

g1-0{T-76 09:28 PAGE 26

000003 176220
003054 176202
000400 014406
000000 014374
00430 014372

084001 0Ol43eM

004000 014352
000020 014334

020000 014342
020000 014334

020000 014326
020000 014320
000011 176122
00025e 176120

013770
014264
120125
014254

KOe2

SEG 0023

«NITE: T?ERRBOVE Eungnﬁrsn IS nxsssng STgFTEIT R
nav Exbgug 53 3§o§ Enﬂoa négsdcs
MOV IRXERR!FRMERR!ES,RETUQL : EXPECTED

MOV @RXDBLF,RI ‘A
CHP §8§R1 : COMPARE EXP VS ACT

HLT 2 :FRAME ERROR 8 RX _ERROR SHOULD BE SET
:1F LOWER BYTE DOES NOT MATCH IT
s :PROBABLY 1S A LENGTH SELECT PROBLEM
SCOPE
s THIS TEST VERIFYS WORD LENGTH SELECT OF RECEIVER
::SECTION ,IT USES THE ERROR FLAGS TO DETERMINE
s+ THAT IT (AS SELECTED PROPERLY
s {FRAME ERROR (FRMERR, RXERR)
: 1MODE : 1S0C ( ISYMOD)
s LENGTH: SEVEN
;s CHAR: 125
15T3:  fdv 3, TSTNO :SAVE THIS
MOV 8TSTH, NEXT -GO TO THIS TEST WHEN THRU
BIS SMRESET,3TXCSR  ;MASTER RESET

MOV $1SYMOD,dPRRCSR ;SET THE MODE
BIS SMRESET,dTXCSR ;MASTER RESET

:SET MAINT DRTR,CLK,BREAK, SMAINTENANCE MODE
MOV sMTOATA! CLK! MINT!BREAK , TXCSR

:GET MODE ,# OF BITS,PARITY SENSE,3LORD SYNC REG
MOY $I1SYMOD! SEVEN' NOPAR! 0, 9PARCSR
BIS 8SYNSCH. SRXCSR  :SET SYNC SEARCH
-POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
B1C $CLK, aTXCSR :POKE CLK DOWN
BIS #5LK  TXCSR :POKE CLK UP
-POKE CLY TC €T LOGIC INTO SYNCRONIZATION
BIC #CLK, 3TXCSR :POKE CLK DOWN
BIS 8CLK . STACSR *POKE CLK UP
MOV 19, SHIFT :8 OF SHIFTS
MOV 8252, TEMP1 :DATA CHAR
-NOTE: THE RBOVE CHARACTER IS MISSING STOP BIT
JSR PC, RPOKE -SHIFT IN THIS CHAR
MUY RxbeUF|R3 :FOR ERROR MESSAGE
MOV sRXERRIFRMERR! 128 R0~ ;EXPECTED
MOV IRXDBUF , R} - ACTUARL
ggg gggnx :COMPARE EXP VS RCT
HLT 2 :FRAME ERROR & RX ERROR SHOULD BE SET
:IF LOWER BYTE DOES NOT MATCH IT
PROBARBLY 1S A LENGTH SELECT PRGBLEM

648:
SCOPE .
:sTHIS TEST VERIFYS WORD LENGTH SELECT OF RECEIVER
s $SECTION ,IT USES THE ERROR FLRGS TO DETERMINE
: *THAT IT URS SELECTED PROPERLY
t 'FRAME ERROR (FRMERR, RXERR)




-

LO2

DZDUC-B MACY1l 27(10706) J1-0CT-T6 09:28 PAGE 27
DZDUCC.P1l  10-JUL-74 03:09 SEG 0024

149 ; sMODE: ISOC ( ISYMOD)

59 {LENGTH:EIGHT

é; } 1CHAR: 125

3 003054 012767 0COO04 176044 TST4:  Mbv ¥4, TSTNO sSAVE THIS

§4 003062 012767 003230 176026 MOV #TSTS,NEXT .60 TG THIS TEST WnEN THRU

S5 003070 052777 000400 014232 BIS  #MRESET,2TXCSR ;MASTER RESET

§6 003076 0i2777 000000 014220 MOV #ISYMOD.aPARCSR :SET THE MODE

§7 003104 052777 0OO4OD Dlvele BIS  $MRESET,QTXCSR :MASTER RESET

g9 :SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE

60 003112 012777 084001 014210 MOV sMTORTA!CLK!MINT!BREAK,3TXCSR

; SET HODgo ¢ OF BITS,PARITY SENSE, SLORD SYNC REG

003226 104400 SCOPE

s ; THIS TEST VERIFYS EVEPRR PARITY SENSE
;;OF THE RECEIVER

; sMODE: ISOC (ISYMOD)

: sPARITY:EVEPAR

;;LENGTH:EIVE PLUS PARITY

Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt et Pt Pt Pt Pt Pt Pt Pt Pt Punt Poetl Pt Pet Do Pt Pt Pt Pt Pt Pt it Pt P8 Pn Pt Pt Pt Pt Pt Pt Pt

B2
63 003120 012777 006000 OI14176 ¢ $I1SYMOD' EIGHT ' NOPAR! 0, aPRRCSR
64 003126 0652777 000020 014160 BIS 8SYNGCH_JRXCSR ;SET SYNC SEARCH
35 -POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
66 003134 042777 020000 O14166 BIC #CLK, JTXCSR -POKE CLK DOWN
&7 003142 052777 020000 014160 BIS #CLK JTXCSR :POKE CLK UP
68 -POKE 21K T0 GET LOGIC INTO SYNCRONIZATION
£9 002150 042777 020000 014152 B1C 8CLK, JTXCSR :POKE CLK DOWN
70 003156 0527?77 020000 01414y BIS #CLK, TXCSR sPOKE CLK UP
71 003164 0leze? GOO012 175746 MOV 810.  SHIFT :$ OF SHIFTS
72 003172 012767 000252 175744 MOV £252’ TEMPI :DATAR CHAR
73 :NOTE: THE ABOVE CHARACTER IS MISSING STOP BIT
74 003200 004767 01314 JSR PC, RPOKE -SHIFT IN THIS CHAR
75 003204 016703 014110 MOV RXOBUF ,R3 :FOR ERROR MESSAGE
76 003210 012700 12G125 MGV sRXERRIFRMERR! 125, R0~ ; EXPECTED
77 003214 017701 014100 MCV JRXDBUF ,R1 - ACTUAL
8 003220 020001 CHP RO,R1 ' ;COMPRRE’'EXP VS ACT
9 (003222 001401 BEQ 64$
003224 104002 HLT 2 :FRAME ERROR 8 RX ERROR SHOULD BE SET
1 :1F LOWER BYTE DOES NOT MATCH IT
2 :PROBABLY IS A LENGTH SELECT PROBLEM
3 £02226 64§ :
S
86
7
g
9
30
Q,

Pt Pt Pt Pt Pt Pt Prect it Pt Pt Pt Pt Pst Pt Pt Pt Pt Pt Pt Pt Pratt Pt Pt Pt Pit Pt P8 Pt Pt it P Pt et Pt Pt Pnt ot Pt Pt Pt P8 Pt P Pt P8 Pt Pt Pt Pt Pt Pt Pt Pt P

‘ e »
182 003230 012767 00000S 175670 7TS7s:  Mdv #5, TSTNO -SAVE THIS
193 003236 012767 003414 175652 MOV 87576, NEXT GO0 TO THIS TEST WHEN THRU
199 003244 052777 000400 014056 BIS $MRESET,9TXCSR  ;MASTER RESET
196 003252 012777 000000 014044 MOV $1SYMOD, @PARCSR :SET THE MODE
igg 003260 052777 000400 014042 BIS $MRESET QTXCSR ;MASTER RESET
198 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
égg 003266 012777 064001 014034 MOV sMTDATA! CLK!MINT!BRERK, JTXCSR
201 :GET MODE ,# OF BITS,PARITY SENSE 3LOAD SYNC REG
202 003274 012777 COI1400 014022 Mol $1SYMOD!FIVEYEVEPAR! O, JPARCSR
1203 003302 052777 000020 014004 BIS 85YNSCH_ 9RXCSR  :SET SYNC SEARCH
1204 : POKE CLK T0 GEY RECEIVER INTO SYNCROIZATION....

—_ - - - ————. -
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1205 003310 Q42777
1£8§ 003316 052777
4

1208 003324 042777
1209 003232 052777
1210 003340 016703

1211 003344 012700
1212 003350 012767
1213 003356 012767
1214 003364 004767
1215 003370 1058777
1216 003374 100401
1217 003376 104000
1218 003400

1219 003400 017701
1220 003404 020001

1221 003406 (01401
1222 003410 104002

122? 003412 104400

135 003414 012767
1236 003422 012767
1237 003430 052777
1238 003436 012777
1233 003444 052777

le42 003452 012777

1e45 003460 012777
1e46 003466 052777

1e48 003474 042777
1249 003502 052777

1251 003510 042777
1252 003516 052777
1253 003524 016703
1254 003530 012700
1255 D035 012767
1256 003642 01767
1257 003550 004767
1258 003554 105777
1259 003560 1004O!
1260 003562 04000

MO2

J1-0CT-76 09:28 PRGE 28

00:00

029000
020C00

020000
020000
013754
110025
000010
000252
013430
01370

013714

00Ca06
003600
000400
000003
000400

064001
003400

000cz20

020000
020000

013534

014012
014004

013776
013770

175562
175560

175504
175466
013672
013660
013656

013650

B1C #CLK,ATXCSR +POKE CLK DOWN
BI? RCLK aTXCSR -POK% CLK UP
+POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC #CLK, 3TXCSR :POKE CLK DOWN
BIS 8CLK, aTXCSR sPOKE CLK UP
MOV RXDBUF‘R3 *SET UP FOR ERROR MESSAGE
MOV sRXERR! PARER! 25, RD : EXPECTED
MOV %8. SHIFT % OF SHIFTS
MOV 8252, TEMPL :DATA CHAR
JSR FC.RPOKE :SHIFT IN THIS CHAR
gﬁ}s ?gkcsn s RXOCNE 3
s HLT :RXDONE SHOULD BE RSSERTED
MOV SRXDBUF ,R1 « ACTUAL
ggg Sg,Rl -COMPARE EXP VS. ACT
og HLT 2 :PARITY ERROR 8RXERR SHOULD BE SET
:NOTE THAT THE PARITY BIT SHOULD
‘SHOW UP IN THE DATA
S COPE :1E. BIT FIVE FOR FIVE LEVEL CODE
- s THIS TEST VERIFYS EVEPAR PARITY SENSE
:+OF THE RECEIVER
2 TMODE - 1S0C_(ISYMOD)
s JPARITY: EVEPAR
s \LENGTH: SIX PLUS PARITY
;sCHAR: 25
TSTe:  fdv 6, TSTNO sSAVE THIS
MOV 87577 NEXT GO TO THIS TEST WHEN THRU

BIS 8MRESET, 9TXCSR  ;MASTER RESET
MOV $1SYMOD, JPARCSR :SET THE MODE
BIS SMRESET,9TXCSR :MASTER RESET

:SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
MOV sMTORTA!CLK! MINT {BREAK, aTXCSR

; SET MODE ,# OF BITS,PARITY SENSE,3LO0AD SYNC REG

Mo¥ ¢1SYMOD! SIX! EVEPRR! O, 2PARCSR
BIS $SYNSCH. JRXCSR -s;r SYNC SEARCH
-POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
BIC 8CLK, 3TXCSR sPOKE CLK DOWN
BIS sCLK 9TXCSR : POKE CLK UP
:POKE CLK 10 GET LOGIC INTO SYNCRONIZATION
BIC #CLX, 9TXCSR s POKE CLK DOWN
BIS $CLK, 9TXCSR ‘POKE CLK UP
MOV RXDBUF , R3 :SET UP FOR ERROR MESSAGE
MOV sRXERR! PARER! 25, RD - EXPECTED
MOV 89.,SHIFT ;8 OF SHIFTS
MOV 452 TENP] ‘DRTA CHAR
JSR PC, RPOKE :SHIFT IN THIS CHAR
Eﬁle ?gxcsn sRXDONE *

HLT ;RXDONE SHOULD BE ARSSERTED

SEG 0025
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lebl
1262
1263
1eb4
1265

Pt B ot Pt ot Pt Pt
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003564

Ul
003576

00357¢

003620

003630
003636
003644

003852

003660
00366

003762

0037¢ee

017701
020001
001401
104002

104403

012767
012767
052777
012777
052777

012777

012777
052777

042777
052777

Q42777
052777
016703
012700
012767
012767
004767
105777
100401
104000

01770i
020001
001401
104002

104400

NO2

01-0CT-76 09:28 PAGE 29
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013530

000007
003764
000400
000000
0Cco400

064001
£os403

000C20

02C000
020000

020000
020000

013404
110325

013350

013344

175320
175302
013506
013474
013472

013464

013452
013434

013442
013434

13:

cs:

TS717:

MOV 3RYDBUF,R] s ACTUAL
CIP RO,RL"";COMPARE'EXP VS. ACT
HT 2 ;PARITY ERROR SRXERR SHOULD BE SET

;NOTE THAT THE PARITY BIT SHOULD
; SHOW UP IN THE DATA
;IE. BIT SIX FOR SIX LEVEL CODE

SCOPE

;s THIS TEST VERIFYS EVEPAR PARITY SENSE
+:0F THE RECEIVER

s ;MODE: ISOC (ISYMOD)

+ sPARITY:EVEPAR

s LENGTH: SEVEN PLUS PARITY

: ;CHAR: 325
fdy 87, TSTNO :SAVE THIS
MOV #7578, NEXT :G0_TO THIS TEST WHEN THRU

BIS cn%gstr,arxcsn MASTER RESET
MOV #ISYMOD, GPARCSR :SET THE MODE
BIS $MRESET,dTXCSR ;MARSTER RESET

; SET MAINT DARTR,CLK,BREAK, SMAINTENANCE MODE

:SET MODE
MO

MOV sMTOATR!CLK!MINT !BREAK, 3TXCSR

% OF BITS,PARITY SENSE,8LOAD SYNC REG
¥ #15YHOD! SEVEN!EVEPAR! 0, SPARCSR
BIS #SYNSCH. 3RACSR  :SET SYNC SERRCH
-POKE CLK TO GEY RECEIVER INTO SYMCROIZATION....
BIC 8CLK, aTXCSR POKE CLK DOWN

BIS 8CLK 3TXCSR :POKE CLK UP
:PUKE CLK T0 GET LOGIC INTO SYNCRONIZATION

BIC 8CLK, JTXCSP POKE CLK DOMWN

BIS 8CLK, TXCSR :POKE CLK UP

MOV RXDBOF'Ra *SET UP FOR ERROR MESSAGE

MOV #RXERR! PARER! 325, RO - EXPECTED

MOV $10. ,SHIFT .8 OF SHIFTS

MOV 81652, TEMPL :DATA CHAR

1%:

23

JSR PC, RPOKE :SHIFT IN THIS CHAR
12}9 ?gkcsn :RXDONE *
LT ; RXDONE SHOULD BE RSSERTED

MOV JRXDour ,na ; ACTURL
ggg gg,pl ; COMPRRE EXP VS. ACT
HLT e ; PARITY ERROR 3RXERR SHOULD BE SET

sNOTE THRT THE PARITY BIT SHOULD
;SHOW UP IN THE DARTA
oPE ; IE. BIT SEVEN FOR SEVEN LEVEL CODE
S

C
:; THIS TEST VERIFYS EVEPAR PARITY SENSE
+:OF THE RECEIVER
+ +MODE: ISOC (ISYMQOD)

SEQ 0026
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1317 « - PARITY:EVEFAR
1218 s LENGTH:EIGHT PLUS PARITY
igég ::CHAR: 125
1321 003764 012767 0CI0:0 175134 71s78:  Flv 88, TSTNO ;SAVE THIS |
1322 003772 012787 OONI5] 178116 MOV 87473 NEXT GO’ TO THIS TEST WrSH THRU
1353 DONDO0 253777 DOON0) (013322 1< sMRESET, TVCSR  :MASTER RESET
1324 DON006 0.2777 0000CO 0133!0 MoV 8ISYMOD  PARCSR :SET THE MODE
ig OO40I18 083777 000400 013306 BIS 8MRESET,@TXCSR :MASTER RESET
1327 -SET MAINT DATA, CLK, BREAK, BMAINTENANCE MOOE
;g oWOZ2 012777 064001 £13370 MOV sMTORTA!CLK I MINTTBREAK, JTXCSR
1330 :SET MODE ,® OF BITS,PRRITY SENSE,3LOAD SYNC REG
133] OON030 012777 007400 013266 #od 81SYAOD EIGHTEVEPAR! D, PARCSR
1330 00036 058777 000020 0132590 BIS 8SYNSCH. IRXCSR  :SET SYNC SEARCH
1333 -POKE CLK T0 GEY RECEIVER INTO SYNCROIZATION....
234 OOV DM2777 (20000 013256 81¢ 8CLK, 3TXCSR :POKE CLK DOWN
133 0OD4052 052777 020000 013260 8IS sCLK STXCSR :POKE CLK UP
133% +POKE CLK 70 GET LOGIC INTO SYNCRONIZATION
1337 DONDB0 Q2777 020000 013242 BIC 8CLK, 3TXCSR :POKE CLK DOWN
1338 DOMDBE 052777 020000 013234 8IS 8CLK JTXCSR :POKE CLK UP
133 OONO?N 016703 013229 MOV RXDS{F . R3 SET UP FOR ERROR MESSRGE
1390 004100 012790 110125 MOV sRXERR!PARER!126,R0 _  :EXPECTED
1M1 DONION 012767 000013 175226 MOV $11. SHIFT .3 OF SHIFTS
13492 00d112 012767 003262 175024 MOV 83252, TEMP] :DATA CHAR
1243 DO4120 OON?67 012674 JSR PC, RPOKE :GHIFT IN THIS CHAR
1394 DOMI2N 106777 C13lkY 1518 QRXCSR ;RXDONE 3
145 90N130 100401 BM] 18
1246 0OON132 104000 HLT :RXDONE SHOULD BE RSSERTED
1347 OOMINM i 18:
N8 O0NIM 01770: 013180 MOV SRXDBUF ,R1 s ACTURL
1349 DOMIN0 020071 CHP RG,Rl ' :COMPRRE'EXP V5. ACT
1350 OOM142 001401 BEC 28
1X] DO4lsd 104002 A R 2 :PARITY ERROR BRXERR SHOULD BE SET
1362 DOMIYE zs:
133 OO4I4E 104400 SCOPE
1384 :: THIS 1ESY VERIFYS ODDPAR PARITY SENSE
135E +;OF THE RECEIVER
135 ; +MODE: ISOC (ISYMOD)
1367. st PRRITY: 0DDPAR
1368 : 1L ENGTH:FIVE PLUS PARITY
igg - :CHAR: 65
1361 DOMISO 012767 000011 174780 71s719:  fadv #9, 1STNO -SAVE THIS
1362 004156 012767 0043M 174732 MOV 875710, NEXT G0 YO THIS TEST WHEN THRU
133 88:154 052777 000400 013136 BIS oMRESEY, 3TXCSR  ;MASTER RESET
1364 172 012777 000000 013124 MOV 8]SYMOO, 9PARCSR :SET THE MODE
;ggg 004200 052777 000400 013122 BIS OMRESET,@TXCSR :MASTER RESET
1367 :SET MAINT DATR,CLK,BREAK, SMAINTENANCE MODE
iggg 004206 012777 064001 013114 MOV sHTDATA! CLK! MINTYBREAK, 3TXCSR
1370 -SET MODE ,8 OF BITS,PRRITY SENSE,BLORD SYNC REG
1371 OOM214 Q12777 001000 013102 MOY 81SYMOD!FIVE! ODDPAR! 0, 9PARCSR
1272 004222 052777 000GC20 013064 BIS 8SYNSCH, 9RXCSR  ;SET SYNC SEARCH
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KE CLK TO GET RECEIVER INTO SYNCROIZATICN..

PG
835777 n20000 013072 g1c 8CLK, dTXCSR -POKE CLK DOMWN
777 020000 013084 8IS sCLK . 9TXCSR :POKE CLK UP
:POKE CLK 70 GET Locic INTO SYNCRONIZATION
42727 020000 013056 BIC 8CLK , JTXCSR :POKE CLK DOMWN
0s277? 020000 013050 BIS sCLK. arxcsn :POKE CLK UP
N16703 013034 MOV RXDBﬁF'R3 -SET UP FOR ERROR MESSAGE
012700 110065 MOV sRXERRIPARER! 65, RO - EXPECTED
012767 000010 174642 MoV 88. ,SHIFT -8 OF SHIFTS
09767 000352 174640 MOV sasé TEMP] :DATA CHAR
0ON?67 012€.0 JSR C, RPOKE snxrr IN THIS CHAR
105777 013000 3 ank. :RXDONE *
100401 ) 1$ -
108030 s HLT . -RXDONE SHOULD BE ASSERTED
017701 012774 MOV JRXDBUF R + RCTUAL
620001 CMP RO,Rl ;COMPARE'EXP V5. RCT
061431 8EQ s’
10002 ’ HLT 2 :PARITY ERROR BRXERR SHOULD BE SET
sNOTE THAT THE PﬂRITY BIT SHOULD
:SHOW UP IN THE DATA
:1E. BIT FIVE FOR FIVE LEVEL CODE
104420 SCOPE
++ THIS TEST VERIFYS ODDPRR FRRITY SENSE
::0F THE RECEIVER
: 1MODE: ISOC (ISYMOD)
; ;PARITY: ODDPAR
¢ sLENGTM:SIX PLUS PRRITY
+sCHAR: 125
012767 000012 174564 7TST10: Fdv 810, TSTNO :SAVE THIS
012767 004520 174846 hOV s75t11, NEXT - GO TO THIS TEST WHEN THRU
052777 000M00 (12752 BIS sMRESEY, STXCSR  ;MASTER RESE
012?77 000000 012740 MOV 8]SYMOD QPARCSR ;SET THE nooe
052777 000400 012736 BIS SMRESET, JTXCSR  ; MASTER RESET
-SET MAINT DATR,CLK, BREAK, SMAINTENANCE MODE
012777 064001 012730 MoV sMTDATA!CLK!MINT!BREAK, 3TXCSR
:SET MODE o OF BITS,PRRITY SENSE uono smc REG
012777 003000 012716 Mot olsvﬁoo-sxx'ooopnk'
022777 000020 012700 8IS 8SYNSCH. 3RXCSR smc se CH
-POKE CLK T0 GE? sscexvsﬁ INTO SYNCROIZATION..
N2777 020000 012706 B1¢ sCLX acsa POKECLKDOHN
620000 012700 BIS 8CLK  TXCSR POKE CLK UP
:POKE CLK TO GET LOGIC INTO smchouxznuon
0N2777 (020000 D12t72 (o 8CLK, 9TXCSR :POKE CLK DOWN
gaoooo 012664 BIS sCLK JTXCSR }POKE CLK UP
016703 012650 MOV xoeﬁr,na :SET UP FOR £RROR MESSAGE
012700 110125 MOV SRXERR! PRRER'IES RO - EXPECTED
012767 000011 174456 MOV 9.  SHIFT sHiFTE
012767 000652 174454 MOV 8652 TEMPL onrn cunn
004767 012324 JSR PC, RPOKE :SHIFT IN THIS CHA™
105777 012614 TSTB SRXCSR ;RXDONE *
100401 BMI 18

SEG 0028
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0ZDUCC.PIL  10-JUL-79 03:09 €E% 0029
i:? % 104000 s HLT :RXDONE SHOULD BE ASSERTED
143] 017701 0126iC MOV JRXDBUF ,R1 s ACTUAL
1432 004510 (G20001 CHP RO,R1 ' ;COMPRRE'EXP VS. ACT
1433 %12 631401 BEG 2§
143N 1§ 108002 HLT 2 -PARITY ERROR 3RXERR SHOULD BE SET
1835 004516 2s:
1436 :NOTE THAT THE PRRITY BIT SHOULD
14 :SHOW UP IN THE DATA
14 A :1E. BIT SIX FOR SIX LEVEL COOE
1439 DO4S16 104400 SCOPE
1440 -+ THIS TEST VERIFYS ODDPAR PARITY SENSE
1441 ::0F THE RECEIVER
1442 : 1MODE: ISOC (ISYMOD)
1443 s sPARITY: OCOPAR
1444 : LENGTH:SEVEN PLUS PARITY
im +sCHAR: 125
1447 004520 012787 000013 1794400 TSTil: Mdv 811.TSTNO :SAVE THIS
1448 004526 012767 0OO47D4 174362 MOV sTSH12 NEXT G0 TO THIS TEST WHEN THRU
1449 QQNEN 052777 000400 012566 BIS sMPESEY, QTXCSR  ;MASTER RESET
1450 004542 01277~ 000000 012554 MOV $1SYMOD . PARCSR ;SET THE MODE
i% 004550 052777 0O0Q400 012552 BIS BMRESET,JTXCSR  ;MASTER RESET
1453 :SET MAINT DRTR, CLK, BREAK mimznmce MODE
i:g; OOMSS6 012777 084001 012544 MOV sNTOATA! CLK! MINTTBREAK, 3TXCSR
1456 :SET MODE ,s OF BITS,PRRITY SENSE,8LO0RD SYNC REG
1457 004564 012777 005000 012532 MoV 815YMOD! SEVENT ODDPAR! 0, aPARCSR
1488 004872 (52777 000020 012514 BIS #SYNSCH 9RXCSR  :SET SYNC SERRCH
1459 -POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
1460 004600 042777 020000 012522 81C #CLK, 3TXCSR -POKE CLK DOWN
146] 004606 052777 020000 012SIM4 BIS #CLK | TXCSR :POKE CLK UP
1462 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
1463 DO4BIN ONE777 020000 012506 BIC 8CLK, JTXCSR :POKE CLK DOWN
1464 004622 052777 020000 012500 BIS sCLK . TXCSR :POKE CLK UP
1465 004630 016703 O0I2464 MOV nxoa(rma :SET UP FOR ERROR MESSAGE
1466 DO463N 012700 110125 MOV sRXERR! PARER! 125, RO EXPECTED
1467 QOMBY0 012767 000012 174272 MOV 810, ,SHIFT :8 OF SHEFTS
1468 0044 012767 001252 174670 MOV 81252, TEMP! :DATA CHAR
1469 DO46SM 004767 glam JSR PC, RPOKE :SHIFT IN THIS CHAR
1470 004660 105777 012430 TST8  3RXCSR ;RXDONE %
1471 00466M 100M0) BM] 18
1472 104000 HLT :RXDONE SHOULD BE ASSERTED
1473 muce% 18:
1474 004670 017701 Qla24ad MOV SRXDBUF ,R1 - RCTUARL
1475 0OM67M 020001 CHP RO,R1 ';COMPRRE'EXP VS. RCT
1876 DO4676 001401 BEQ 3
1477 00M700 104002 HLT . :PARITY ERROR SRXERR SHOULD BE SET
1478 004702 2s:
1479 :NOTE THAT THE PARITY BIT SHOULD
1480 :SHOW UP IN THE DATA
1481 :1E. BIT SEVEN FOR SEVEN LEVEL CODE
1482 004702 104400 SCOPE
1483 -+ THIS TEST VERIFYS ODDPAR PARITY SENSE

1484 ;:OF THE RECEIVER
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1482 0047
1494 004734 0Se

DO4704 012

1431 004712 D12
052

gle

1497 DO4742 012777

1500 0Q47S0 012777
| 1500 DouTSe Cser77

1503 004784 Q42777

1804 o772 052777

1506 00SD0D Q42777
| 1507 005006 082777

1508 005014 016703

1503 005020 012700

1E10 00S04 012767

1511 005032 012767

1512 005M0 004767

1513 005044 105777

1514 DOS0S0 10040}

151S 00S052 104000

1517 020 o170

1218 G020 0a000]

1519 00506 OGIH0]

1520 0OSOEY 104002

1521 005066

1522 005066 104400

1823

1524

1525

1506

1527

1528

152 0OSO70 012767

1530 005076 012767

1531 00SIM 052777

1532 00S1l2 012777

1623 005120 088777

153

1535

183% 00S126 012777

1537

1538

1533 pOS1M 012777

1E40 005142 052777
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J1-0CT-T6 09:28 PARGE 33
0C:00

:sMODE: ISOC (1SYMOD)
; +PARITY: ODDPAR
;;LENGTHiSéGHT PLUS PRRITY

000014 17424 TSTi2:  Mbv 212, TSTNO :SAVE THIS
00S070 174176 MOV 875t13 NEXT G0 TO THIS TEST WHEN THRU
000900 012402 BIS sMRESEY, 9TXCSR  :MASTER RESET
000000 012370 MOV 81SYMOD PARCSR :SET THE MOOE
000400 012356 BIS SMRESET 9TXCSR :MASTER RESET
:SET MAINT DATR,CLK,BPEAK, SMAINTENANCE MODE
064001 012360 MOV sMTDATA!CLK!MINT 'BREAK , 9TXCSR
SET MODE , 8 OF BITS,PARITY SENSE,S3LORD SYNC REG
007000 012346 MY sISYMOD'EIGHT ! ODDPAR? 0, JPARCSR
000020 012330 BIS 8SYNSCH. SRXCSR :SET SYNC SERRCH
-POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
020000 012336 BIC 8CLK, aTXCSR -POKE CLK DOWN
020000 012330 BIS 8CLK 3TXCSR -POKE CLK UP
:PCKE CLK TO GET LOGIC INTO SYNCRONIZATION
020000 012322 BIC 8CLK, 9TXCSR -POKE CLK DOWN
020000 012314 B1S sCLK | 9TXCSR :POKE CLK UP
012300 MOV RXDBOF'R3 ‘SET UP FOR ERROP MESSAGE
11612 MOV sRXERR! PARER! 126 RO -EXPECTED
000013 174106 MOV 811. SHIFT .8 OF SHiFTS
002252 174104 MOV 82252, TEMP! :DATA CHAR
011754 M PC, RPOKE :SHIFT IN THIS CHAR
012244 ga;a ?gkcsa : RXDONE *
s HLT s RXDONE SHOULD BE RSSERTED
012240 MOV SRXDBUF ,R1 :ACT
ggg gg,n1 -COMPRRE'EXP VS, ACT
o8 HLT 2 :PARITY ERROR 3RXERR SHOULD BE SET
SCOPE
- THIS TEST PERFORMS BINARY DRTA CHECK ON THE
: :RECEIVER
: \LENGTH: EIGHT PLUS PARITY
H : ISYMOD
s sPARITY:EVEPAR
000015 174030 715T13: fdv 813, TSTNO :SAVE THIS
005270 174012 MOV oTst14, NEXT G0 TO THIS TEST WHEN THRU
000400 012216 BIS sMRESEY, STXCSR  ;MASTER RESEY
000000 O01o20M MOV 8ISYMOD, @PARCSR ;SET THE MCDE
000400 012202 BIS SMRESET,JTXCSR ;MASTER RESET

:SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
064061 012174 MOV sMTOATA! CLK'MINT ! BREAK, TXC3R

:SET MODE ,# OF BITS,PARITY %ENSE 8LORD SYNC REG
007400 012162 Mo #1SYMOD'EIGHT'EVEPARR! 0, 9PARCSR
000020 Ol2144 BIS 8SYNSCH, dRXCSR  ;SET SYNC SERRCH

SE9 0030
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1541 .POKE CLK TO GET RECEIVER INTO SYNCRGIZATION....
1S42 0OSISQ 042777 020000 012162 81¢ 8CLK, 3TXCSR :POKE CLK DOWN
1843 005156 052777 020000 012144 BIS sCLK’ 9TXCSR :POKE CLK UP
1544 :POKE CLK 10 GET LOGIC INTO SYNCRONIZATION
1845 DOSIEN QY2777 020000 012136 BIC #8CLK, JTXCSR :POKE CLK DOWN
1846 005172 0sc777 020000 OD12130 BIS sCLK QTXCSR :POKE CLK UP
1547 833583 86%703 012114 MOV RXOB{F ,R3 Hbgst UP ERROR MESSAGE
1548 004 CLR RY :DATA C
1549 005206 010400 18: MOV RY,R0  :EXPECTED
1550 005210 0:2767 0000I3 173722 MOV s1l. SHIET 8 OF SHIFTS
1861 005316 010467 173722 MOV Ry, TEMP] :*70 BE GHIFTED CHARRCTER™
1552 005222 004767 011744 ISR PCEVENB :CALC PARITY
1553 00S226 0002Y! cLC
1554 005230 00EIe? 1737. ROL TEMP!  :GENERATE START BIT
1555 005234 0S276? 002000 17370¢ BIS sBIT10,TEMP1  :GENERATE STCP BIT
1556 : TEMP1 NOW HAS CHARHCTER TO BE POKED INTO RECEIVER
1657 0QOS242  00¥7B? 011552 ISR PC, RPOKE :SHIFT IN THIS CHAR
1558 00Se46 017701 012046 MOV JRXDBUF ,R1 : RCTUAL
1559 00S2s2 020001 CMP RO,R1 ' ;COMPRRE'EXP VS RCT
1860 005254 001401 BEQ 28
1S6] 005256 104002 HLT 2 :DATA CHARS SHOULD MATCH
1562 : THERE SHOULD BE NO PARITY ERROR
1563 005260 23:
1564 00S260 005204 INC RY : UPGRADE NEXT CHAR
1565 005268 105704 ISTB Ry ' LAST CHAR ?
1566 005264 001350 BNE 18
1867 005266 104400 SCOPE
1568 .+ THIS TEST PERFORMS BINARY DATA CHECK ON THE
1869 s 'RECEIVER
1570 : 'LENGTH: EIGHT PLUS PARITY
1571 : :MODE : ISYMOD
ig;az +:PRRITY: 00DPAR
1574 00S270 012767 000016 173630 TSTI4: Mbv 814, TSTNO :SAVE THIS
1675 005276 012767 00S470 173612 MOV s75t1S NEXT G0 TO THIS TEST WHEN THRU
1576 005304 052777 000400 012016 BIS sMRESEY, GTXCSR  ;MASTER RESET
1877 00S2:2 012777 000000 012004 MOV séagnog,apnncsa :SET THE noo;
g% 005320 052777 000400 012002 BIS sMRESET QTXCSR ;MASTER RESE
1580 :SET MAINT DATR,CLK,BREAK, BMAINTENANCE MODE
§ssgé 00S326 012777 064001 011774 MOV sMTOATA! CLK!MINTIBRERK, 3TXCSR
1583 :SET MODE ,8 OF BITS,PARITY SENSE,3L0AD SYNC REG
184 00S334 012777 007000 011762 Mo¥ 81SYMOD'EIGHT! ODDPAR' 0, IPRRCSR
« 1G85 005342 052777 000020 011744 BIS 8SYNSCH_9RXCSR :SET SYNC SEARCH
1586 -POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
1587 00S350 042777 020000 011752 81¢ 8CLK, 9TXCSR POKE CLK DOMWN
1588 005356 052777 020000 011744 BIS $CLK. 3TXCSR -POK% ?&K uP
1689 POKE CLK T0 GET LOGIC INTO SYnNCRONIZATION
1S90 00S3ed4 042777 020000 011736 BIC 8CLK, 3TXCSR :POKE CLK DOWN
189] 005372 052777 020000 011730 BIS sCLK ' ITXCSR :POKE CLk UP
3692 (005400 016703 011714 MOV RXDB(F ,R3 !SET UP ERROR MESSAGE
1693 0OS404 0OSO0M CLR RY DATA CHAR
1564 00B406 010400 18: MOV R4, RO EXPECTED
‘€ag  OpS410 012767 000013 17352z MOV s1l. SHIFT 8 OF SHIFTS
1S8& 005416 010467 173522 © g MOV RY, TEMP1 :*70 BE SHIFTED CHRRACTER"
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D20UCC.P11  10-JUL-7Y4 00:03 SEQ 0032
1597 00S422 004767 Cl14ed ISR PC,0D08 ;CALC PRRITY
1598 00S426 000Nl CLC
1599 005430 006167 173510 ROL TEHPI : GENERATE STARY BI7
1600 005434 0S2767 002000 17350: BIS sBITI0, TEMP1  :GENERATE STOP BIT
1601 s TEMP! NOW HAS cnnnncrén TO BE vaso }nro RECEIVER
1602 0OSY42 004787 011352 JSR PC,R IN THIS CHAR
1603 0OSY46 017701 011646 MOV ankoeur R] QCTURL
1604 00S4S2 001 CMP RO,R1 ' ;COMPARE'EXP VS ACT
1605 005454 001401 §EQ 28’
1606 005486 104002 HLT F :DATA CHARS SHOULD MATCH
1807 i : THERE SHOULD BE NO PARITY ERROR
1608 005460 c3:
1609 005460 005204 INC R4 ;UPGRADE_NEXT CHAR
1610 005462 105704 ISTB  RY :LAST CHAR ?
1611 0ODS+464 001350 BNE 18
1612 005486 104400 SCOPE
1613 ,,ruxs TEST PERFORMS BINARY DATA CHECK ON THE
1614 ‘RECEIVER
1615 st LENGTH:EIGHT PLUS PARITY
1616 ,.noos SYNEXT
igig 3 iPARTTY: EVEPAR
1619 0OS470 012767 000017 173430 TSTIS: MOV 815, TSTNO :SAVE THIS
1620 DOS476 012767 D0OSE40 173412 MOV 87516, NEXT -G0 TO THIS TEST WHEN THRU
1621 DOSSOM4 052777 000400 011616 BIS sMRESEY, 9TXCSR  ;MASTER RESET
1622 00SG12 012777 020000 011604 MOV 8SYNEXT, @PARCSR ;SET THE MODE
igsa 00S520 052777 00ON00 011602 BIS SMRESET,QTXCSR ;MASTER RESET
1625 -SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
%Eg; 00SS26 012777 084001 011574 MOV sMTOATAR!CLK'MINTIBREAK,3TXCSR
1626 ;SET MODE ,# OF BITS,PARITY SENSE,SLOAD sm qEG
1629 00SS3M 012777 027400 011562 Mol $SYNEXT'EIGHTTEVEPAR! O, aPARCSR
1630 005542 052777 000020 011544 BIS 8SYNSCH. SRXCSR  ;SET SERRCH SYNC
1631 :POKE CLK TO GET LOGIC INTO svnckonxznrxon
1632 DOSSS0 OM2777 020000 011552 BIC #CLK, TXCSR :POKE CLK DOWN
1633 005556 052777 020000 Cli544 BIS sCLK ' TXCSR Pwsakw
1634 005564 016703 011530 MOV RXDBUF ,R3 :SET UP ERROR MESSAGE
1635 0NS570 00SO0M CLR RY DATA CHAR
1 104 18: MOV nu RO :EXPECTED
1 12767 000011 173336 MOV SHIF? 8 OF SHIFTS
1638 00S602 010467 73336 MOV Rq fsnpx 110 ee suxrreo CHARACTER"
1633 005606 004767 011360 ISR EVENS CALC PARITY
1640 - TEMP1 NOW HRS cagkncrzn TO BE Pbkso INTO RECEIVER
164 00S612 004767 011202 JSR OKE suxrr IN THIS CHARR
1642 005616 017701 011478 MOV ankoeur Rl :ACTURL
1643 D0S622 020001 CHP RO,R1 ';COMPARE'EXP VS ACT
1644 D0S6N 001401 BEQ 13
164 00S626 104002 HLT 2 :DPTA CHARS SHOULD MATCH
1646 s THERE SHOULD BE NO PARITY ERROR
1E47 005630 28:
1648 005630 005204 INC RY ; UPGRADE NEXT CHAR
1649 005632 10S704 1STB  RY :LAST CHAR ?
1650 005634 001356 BNE 1$
1651 005636 104400 SCOPE

1e52 ;s THIS TEST PERFORMS BINRRY DATA CHECK ON THE
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00000
006010
000400

660300

0640C!

000021
006174
000400
000000
000400

064001

000026

173110
173072
011276
011264
Dlicke

011254

0ll24e

s sRECEIVER
s+ LENGTH: EIGHT PLUS PARITY
; s MODE : SYNEXT
+ 1PRRITY: ODDPAR
TST16: MV 816, TSTNO :SAVE THIS
MOV 875t17 NEXT GO TO THIS TEST WHEN THRU
BIS  sMRESE},aTXCSR ;MASTER RESET
MoV $SYNEXT, SPARCSR :SET THE MODE
BIS SMRESET,JTXCSR :MASTER RESET
+SET MAINT DATR,CLK,BRERK, SMAINTENANCE MODE
MOV sMTORTA! CLKYMINTTBRERK, 3TXCSR
SET MCDE ,# OF BITS,PRRITY SENSE,3LORD SYNC REG
MOV 8SYNEXT'EIGHT ! ODDPAR! 0, 9PARCSR
BIS 8SYNSCH_ JRXCSR :SET SEARCH SYNC
:FOKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC #CLK, JTXCSR +POKE CLK DOWN
BIS sCLK  dTXCSR :POKE CLK UP
MOV RXDBUF , R3 :SET UP ERROR MESSAGE
CLR RY :DATA CHAR
18: MOV R4,R0  :EXPECTED
MOV 83, SHIFt 8 OF SHIFTS
MOV RY, tEMPL :*T0 BE SHIFTED CHRRACTER"
JSR PC 0DD8 ;CALC PARITY
:TEMP1 NOW HAS CHRRACTER'TO BE POKED INTO RECEIVER
JSR PC, RPOKE -SHIFT IN THIS CHAR
MOV JRXDBUF, R :RCTUAL
ggg gg,nl :COMPARE "EXP VS RCT
HLT 2 :DATA CHARS SHOULD MATCH
5 :THERE SHOULD BE NO PARITY ERROR
INC RY - UPGRADE NEXT CHAR
TSTB  RY :LAST CHAR ?
BNE 18

SCOPE

;s THIS TEST CHECKS THE STRIP SYNC FUNCTION
;;OF THE RECEIVER LOGIC

; s MODE : ISYMOD

s LENGTH:FIVE

;s NOTE: RXDONE SHOULD NEVER ASSERT

; ;CHAR: 26 (SYNC)

T5T17:  #Mbv £17, TSTNO :SAVE THIS
MOV sTSt18, NEXT :G0_TO THIS TEST WHEN THRU
BIS $MRESET, 9TXCSR  ;MASTER RESET
MOV 8]SYMOD, 9PARCSR ;SET THE MODE
BIS SMRESET,JTXCSR ;MASTER RESET

:SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
MOV sMTORTA! CLK!MINT!BREAK , 3TXCSR

:SET MODE ,# OF BIYS,PARITY SENSE,8LORD SYNC REG
Mo¥ #1SYAOD! F IVEINOPRR! 26, aPARCSR

SES 0033
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0ZDUCC.P11  10-JUL-7Y4 00:09 SEQ 0034
1709 008062 052777 000020 Oll224 BiS #SYNSCH, 2RXCSR  :SET SYNC SEARCH
1719 . :POKE CLK 1O GEY RECEIVER INTO SYNCROIZATION....
1711 006070 Q42777 020000 011232 B1C #8CLK, JTXCSR -POKE CLK DCWN
1712 006076 052777 020000 Oil224 BIS ¢CLK QTXCSR -POK% CLK UP
1713 sPCKE CLK TO GET LOGYC INTO SYNCRONIZATION
1714 0O0BIOM 042777 020000 011216 BIC 8CLK, JTXCSR : POKE CLK DOWN
1718 832155 77?2 888088 11210 a*s nc#x 3TXCSR ;nge CLK UP
1716 1 777 q 11166 Bi§ #STPSYN, JRXCSR  :SET STRIP SYNC
1717 006126 012767 000003 173006 MOV 3, count :3 OF SYNC CHARS
1718 006134 0:2767 000184 173002 1§: MOV ¢184 TEMPIL :CHAR TO BE SHIFTED
1719 00el42 012767 000007 172770 MOV 87, SHIFT '8 OF SHIFTS
1720 006150 G(4767 010644 JSR PC’ RPOKE :SHIFT IN THIS CHAR
1721 006154 105777 0111234 TSTB  JRXCSR ;RXDONE *

1722 006160 100001 BPL 28

1723 00elee 104000 HLT “RXDONE SHOULD NOT BE RSSERTED
1724 006164 2%:

1725 D0Bl6M DOS367 172752 DEC COUNT ;8 OF SYNC CHARS

1726 006170 00136l BNE 18

1727 006172 104400 SCOPE

1728 - <THIS TEST CHECKS THE STRIP SYNC FUNCTION
1729 ; ;OF THE RECEIVER LOGIC

1730 ; s MODE : I1SYMOD

1731 s s LENGTH: SIX

1732 : NOTE: RXDONE SHOULD NEVER ASSERT

i;ga ; ;CHAR: 26 (SYNC)

1735 006174 012767 000022 172724 T1sST18: fdv 18, TSTNO -SAVE THIS

1736 006202 012767 006360 172706 MOV 875113, NEXT -G0 TO THIS TEST WHEN THRU
1737 006210 052777 000400 011112 BIS sMRESEY, 3TXCSR  ;MASTER RESET

1738 00e21& 012777 000000 011100 MOV 8ISYMOD QPARCSR :GET THE MODE

i;gg 006224 052777 000400 011076 BIS $MRESET JTXCSR  ;MASTER RESET

1741 -SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE

iggg 006232 012777 064001 011070 MOV sMTOATA!CLK!MINT 'BRERK, 9 TXCSR

1744 -SET MODE ,# OF BITS,PRRITY SENSE,S8LOAD SYNC REG
1745 006240 012777 002026 C110S6 MoV 81SYMOD! SIX! NOPAR! 26, 3PARCSR

1746 00646 052777 000020 011040 BIS 8SYNSCH_ JRXCSR  :SET'SYNC SERRCH
1747 -POKE CLK TO0 GEY RECEIVER INTO SYNCROIZATION....
1748 006254 042777 020000 011046 B1¢C 8CLK, 3TXCSR sPOKE CLK DOWN

1749 006262 052777 020000 011040 BIS sCLK  JTXCSR :POKE CLK UP

1750 :POKE CLK T0 GET LOGIC INTO SYNCRONIZATION

1751 006270 042777 020000 011032 BIC 8CLK, JTXCSR -POKE CLK DOWN
1782 006276 052777 020000 011024 B1S 8CLK. 9TXCSR :POKE CLK UP

1753 052777 000400 011002 BIS 8STPSYN, JRXCSR ;SET STRIP SYNC
1754 006312 012767 000003 172622 MOV 23, cOunt *8 OF SYNC CHARS
1755 006320 012767 000254 172616 1S§: MOV 8284, TENPI :CHAR TO BE SHIFTED
1756 006326 012767 000010 172604 MOV 8.  SHIFT '8 OF SHIFTS

1757 0063X 004767 010460 JSR PC. APOKE :SHIFT IN THIS CHAR
1758 006340 105777 010750 1578 JRKCSR ;RXDONE *

1759 006344 100001 BPL 1

1760 006346 104000 HLT “RXDONE SHOULD NOT BE RSSERTED

1761 006350 2s:

i7e2 N0b3S0 005367 172566 DEC COUNT ;4% OF SYNC CHARS

siE¢ 06354 001361 BNE 1§

17e4 006356 L04400 SCOPE
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+sTHIS TEST CHECKS THE STRIP SYNC FUNCTION
;3OF THE RECEIVER LOGIC

s s MODE : I1SYMOD

s sLENGTH: SEVEN

+ ;NOTE: RXDONE SHOULD NEVER ARSSERT

; ;CHAR: 26 (SYNC)

000023 172540 T5T19: v 819, TSTNO ;SAVE THIS
006SYY 172522 MOV s75t20, NEXT :G0 TO THIS TEST WHEN THRU
000400 0106726 BIS #MRESEY,3TXCSR  ;MASTER RESET
000000 010714 MOV #1SYMOD, QPARCSR :SET THE MODE
000400 010712 BIS $MRESET,3TXCSR ;MASTER RESET
:SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
064001 010704 MOV sMTDATAICLK!MINTTBREAK , aTXCSR

;SET MODE ,# OF BITS,PARITY SENSE,3LOAD SYNC REG

004026 010672 Mo £1SYMOD! SEVENTNOPAR' 26 , JPARCSR
000020 010654 BIS $SYNSCH, aRXCSR :SET SYNC SERRCH
-O0KE CLK TO GEY RECEIVER INTO SYNCROIZATION....
020000 010662 BIC 8CLK, 9TXCSR :POKE CLK DOWN
020006 010654 BIS #CLK ATXCSR :POKE CLK UP
-POKE CLK TO GET LOGIC INTO SYNCRONIZATION
020000 010646 BIC #CLK, 9TXCSR s POKE CLK DOWN
020000 010640 8IS #CLK TXCSR :POKE CLK UP
000400 010616 BIS $STPSYN, JRXCSR  ;SET STRIP SYNC
000003 172436 MOV 3, count 8% OF SYNC CHARS
0004SY 172432 1%: MOV $484, TEMP] :CHAR TO BE SHIFTED
000011 {72420 MOV %9, SHIFT .8 OF SHIFTS
018574 JSR PC. RPOKE :SHIFT IN THIS CHAR
010Sey E?EB ggkosn -RXDONE %
. HLT RXDONE SHOULD NOT BE ASSERTED
172402 DEC COUNT ;% OF SYNC CHARS
8NE 18
SCOPE
.- THIS TEST CHECKS THE STRIP SYNC FUNCTION
:10F THE RECEIVER LOGIC
; s MODE : ISYMOD
L ILENGTH: EIGHT
: :NOTE: RXDONE SHOULD NEVER ASSERT
; tCHAR: 26 (SYNC)
000024 172354 T5T20: Mbv 20, TSTNO :SAVE THIS
006730 172336 MOV s15t21, NEXT GO TO THIS TEST WHEN THRU
000400 010542 BIS $MRESEY, QTXCSR  ;MASTER RESEY
000000 010530 MOV $ISYMOD PARCSR ;SET THE MODE
000400 010526 BIS SMRESET,8TXCSR ;MASTER RESET
:SET MAINT DATR,CLK,BREAK, SMAINTENANCE MODE
064001 010520 MOV eMTOATA! CLK!MINTYBREAK, 8TXCSR

:GET MODE ,# OF BITS,PARITY SENSE,8LORD SYNC REG
00e026 010506 Mo¥ $I1SYMOD'EIGHT NOPAR! 26, aPARCSR
000020 010470 BIS #SYNSCH, JRXCSR  ;SET SYNC SERRCH

SEQ 0035
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Q42777
052777
052777
012767
0le7e7
012767
004767
105777
100001
104C00

005367
001361
104400

012767

012777
052777
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052777
052777
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012767
012767
004767
105777
100001
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00S367
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104400
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31-0CT-76 09:28 PRAGE 39

10-JUL-74 00:00

0N
02558
020000
020000
000400
000003
001054
000012

010110
010400

172216

064001

020026
000020

010230

172046

172170
172152
010356
010344
01034¢

172064

- POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
gig 8CLK, 9TXCSR ;PSKE SLK DOWN
#CLK JTXCER POKE CLK UP
s POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC #CLK, 2TXCSR -POKE CLK DOWN
BIS sCLK QTXCER :
8]§ 8STPSYN, JRXCSR  :SET STRIP SYNC
MOV 83, COUNT :8 OF SYNC CHARS
18: MOV #1354, TEMP] :CHAR TO BE SHIFTED
MOV 810, ,SHIFT 8 OF SHIFTS
ISR PC, RPOKE :SHIFT IN THIS CHAR
ggla ggkcsn s RXDONE 4
HLT *RXDONE SHOULD NOT BE ASSER™ZD

DEC COUNT  ;# OF SYNC CHARS
BNE 1%

SCOPE

: s THIS TEST CHECKS THE STRIP SYNC FUNCTION
;;OF THE RECEIVER LOGIC

; +MODE : SYNEXT

s sLENGTH:FIVE

; sNOTE: RXDONE SHOULD “SVER RSSERT

;;CHAR: 26 (SYNC)

TST21: HdV 821, TSTNO :SAVE THIS
MOV 875122, NEXT G0 TO THIS TEST WHEN THRU
BIS sMRESEY,3TXCSR  ;MASTER RESET
MOV $SYNEXT . JPARCSR ;SET THE MODE
8IS $MRESET.QTXCSR ;MASTER RESET

sSET MAINT DATA,CLK, BREAK, SMRINTENANCE MODE
MOV sMTOATA!CLK?MINTBRERK, 8TXCSR

SET MODE ,# OF BITS,PARITY SENSE,3LORD SYNC REG

Mo¥ $SYNEXT!FIVETNOPAR! 26, aPARCSR

BIS 8SYNSCH, JRXCSR  :SET SERARCH SYNC
-POKE CLK TO GET LOGIC INTO SYNCRONIZATION

BIC #CLK, 3TXCSR -POKE CLK DOWN

BIS $CLK dTXCSR *POKE CLK UP

BIS 8STPSYN, JRXCSR  ;SET STRIP SYNC

MOV #3, count +8 OF SYNC CHARS
18: MOV 82b, TEMP1 :CHAR TO BE SHIFTED

23:

MOV ug,én FT :8 OF SHIFTS
JSR PC ) RPOKE :SHIFT IN THIS CHAR
ggza JRKCSR  ;RXDONE *

2$
HLT ;RXDONE SHOULD NOT BE ASSERTED

DEC COUNT ;8 OF SYNC CHARS
BNE 1S

SCOPE

;3 THIS TEST CHECKS THE STRIP SYNC FUNCTION
+3;0F THE RECEIVER LOGIC

: s MODE : SYNEXT

s s LENGTH: SIX

cs:

SEC 0036
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007240

007244
007246

007250
007256
007264
007272
007300

007306

018767
012767
052777
312777
052777

012777

012777
052777

Q427727
052777
052777
012767
012767
012767
094767
105777
100001
104000

00S367

001361
1044C0

012767
012767
0se777
012777
052777
012777
012777
052777

Q42777

012767

LO3

J1-0CT-T6 08:28 PRGE 40
10-JUL-74 00:09

000026
0C7250
C00400
020000
000400

064301

022026
000020

020000
020000
J0c4a0
000003
000026
00000t
007570
010060

171676

000027
007420
0004

020000
000400

064001

024026
000020

020000
020000
000400
000003
000026
000007

171650
71632
10036

010024

010022

010014

0i00ne
007764

007772
007764
007742
171562
1715€E6
171544

:sNOTE: RXDONE SHOULD NEVER RSSERT
; :CHAR: 26 (SYNC)

T5T22: HMbV 822, TSTNO :SAVE THIS
MOV sTS5t23 NEXT GO TO THIS TEST WMEN THRU
BIS anREssf,ngcsa ;MR?TER RESET
MOV 8SYNEXT! @PRRCSR :SET THE MODE
BIS $MRESET,TXCSR ;MASTER RESET

:SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
MOV sMTOATA!CLK! MINT!BREAK, dTXCSR

-SET MODE ,# OF BITS,PARITY SENSE,3LOAD SYNC REG
MOV $SYNEXT!SIX!NOPRR! 26, 3PARCSR
BIS $SYNSCH, 9RXCSR  :SET'SEARCH SYNC
- POKE CLEIEO GET LOGIC INTO SYNCRONIZATION

#8CLK, 3TXCSR :POKE CLK DOWN
BIS #CLK JTXCSR 'POKE CLK UP
BIS #STPSYN, JRXCSR  :SET STRIP SYNC
MOV #3, COUNt '8 OF SYNC CHARS
18: MOV 826, TEMP1 *CHAR T0 BE SHIFTED
MOV 865, SHIFT +8 OF SHIFTS
ISR PC.RPOKE :SHIFT IN THIS CHAR
53[8 ggkcsn sRXDONE %
o8 HLT RXDONE SHOULD NOT BE RSSERTED
DEC COUNT ;% OF SYNC CHARS
BNE 18
SCOPE

s THIS TEST CHECKS THE STRIP SYNC FUNCTION
:OF THE RECEIVER LOGIC

; s MODE : SYNEXT

+ sLENGTH: SEVEN

; ;NOTE: RXDONE SHOULD NEVER RSSERT

; sCHAR: 26 (SYNC)

15123: fMdv 23, ISTNO sSAVE THIS
MOV s15t24, NEXT :G0 TO THIS TEST WHEN THRU
BIS $MRESEY, 9TXCSR  ;MASTER RESET
MOV $SYNEXT, @PARCSR ;SET THE MODE
BIS #MRESET @TXCSR ;MASTER RESET

:SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
MOV sMTOATA! CLK!MINT !BREAK, dTXCSR

:SET MODE ,# OF BITS,PARITY SENSE,SLORD SYNC REG

MoV 8SYNEXT ' SEVENYNOPAR! 26, aPARCSR

BIS #SYNSCH. 3RXCSR :SET SEARCH SYNC
:POKE CLK TO GET LOGIC INTO SYNCAONIZATION

BIC #CLK, 9TXCSR POKE CLK DOWN

BIS sCLK . 9TXCSR :POKE CLK UP

B1S #STPSYN, JRXCSR  SSET STRIP SYNC

MOV 43, COUNt s ¥ OF SYNC CHARS
18: MOV 828 TEMPL :CHAR TO BE SHIFTED

MOV 87, SHIFT :8 OF SHIFTS

SEQ 0037




OoDUC-B MACYI! 27(1006) D1-05T-76 09:28 FAGE Y4
DZOUCC.P11  10-JUL-74 00:00 SEQ 0038

1333 007374 004787 0CT420 ISR PC,RPOKE :SHIFT IN THIS CHAR
1934 007400 105777 007710 TSTB  ZRXCSR ;RXDONE »
1835 007404 100001 BPL 2%
1835 007406 104000 HLT *RXDONE SHOULD NOT BE ASSERTED
1337 007410 2s:
1938 007410 005367 171526 DEC COUNT  :# OF SYNC CHARS
1939 007414 00136l BNE 18
1940 007416 104400 SCOPE
194} - THIS TEST CHECKS THE STRIP SYNC FUNCTION
1342 :10F THE RECEIVER LOGIC
1943 : s MODE : SYNEXT
1344 s 1 LENGTH: EIGHT
1845 - :NOTE: RXOONE SHOULD NEVER ASSERT
ig:g ; sCHAR: 26 (SYNC)
1948 007420 012767 000030 171500 TST24: fdv 824, TSTNO :SAVE THIS
1949 007426 012767 007570 171462 MOV s75t25 NEXT G0 TO THIS TEST WHEN THRU
1950 007434 052777 000400 (0O7666 BIS $MRESET, 9TXCSR  ;MASTER RESET
1951 007442 012777 020000 007654 MOV 8SYNEXT,JPARCSR ;SET THE MODE
iggg 007450 052777 000M0C 007652 BIS $MRESET,@TXCSR ;MASTER RESET
1954 -SET MAINT DATA, CLK,BREAK, SMAINTENANCE MODE
iggg 007456 012777 064001 007644 MOV sMTDATA! CLKMINTTBRERK, 3TXCSR
1957 GET MODE ,# OF BITS,PARITY SENSE,8LOAD SYNC REG
1958 DO7464 012777 026026 007632 MOV $SYNEXT!EIGHT 'NOFAR! 26, 3PARCSR

| 1959 QQ7472 052777 000020 007614 BIS #SYNSCH. JRXCSR  :SET SEARCH SYNC
1960 -POKE CLK TO GET LOGIC INTO SYNCRONIZATION
1961 007500 042777 020000 007622 BIC #CLK, 3TXCSR ;POKE CLK DOWN
1962 007506 052777 020000 007614 BIS sCLK  aTXCSR :POKE CLK UP

| 1963 DO75I4 052777 (000400 007572 BIS 8STPSYN, JRXCSR  :SET STRIP SYNC

| 1394 007522 Q12767 000003 171912 MOV 23, COUNt 8 OF SYNC CHARS

! 1965 007530 012767 888025 171495 18: MOV 8L, TEMPL :CHAR TO BE SHIFTED
1866 0075386 012767 0i0 171374 MOV 8. |SHIFT % OF SHIFTS

i 1967 007544 004767 007250 JSR PC. RPOKE -SHIFT IN THIS CHAR

| 1988 007550 105777 007540 TSTB  @RXCSR ;RXDONE *

! 1969 007554 100001 8PL 2%

| 1970 007556 10400C HLT RXDONE SHOULD NOT BE ASSERTED

! 1971 007560 2s:
1972 007560 005367 171356 DEC COUNT ;8 OF SYNC CHARS
1973 007564 001361 BNE 18
1874 007566 104400 SCOPE
1975 :+ THIS TEST CHECKS THE STRIP SYNC FUNCTION
1976 ::0F THE RECEIVER LOGIC
1977 ; s MODE : SYNINT
1978 s 1LENGTH: FIVE
1979 s *NOTE: RXDONE SHOULD NEVER ASSERT
igg? s sCHAR: 26 (SYNC)
1882 (007570 012767 000031 171330 T1ST2S5: MV 825, TSTNO :SAVE THIS
1883 007576 012767 007754 171312 MOV 875126, NEXT GO TO THIS TEST WHEN THRU
1884 007604 052777 000400 007516 BIS $MRESEY, 9TXCSR  ;MASTER RESET
1885 Q007el2 012777 030000 007504 MOV $SYNINT QPARCSR :SET THE MODE
{ggg 007620 052777 000400 007502 BIS $MRESET, QTXCSR  MASTER RESET

1388 ; SET MAINT DATA,CLK,BRCAK, SMRINTENANCE MODE
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1989 007626 012777
1390
1931
1982 007634 012777
1393 007e4e 052777

1995 007650 Q42777
19 007656 052777

1998 007664 042777
1999 007672 052777
£000 007700 052777
2001 007706 012767
2002 007714 012767
2003 007722 012767
2004 007730 004767
2005 007734 105777
2006 007740 100001
2007 007742 104000

2009 007744 005367
2d10 007750 00136l
c0ll 007752 104400

2019 007754 012767
2020 007762 018767
2021 007770 052777
2092 0077276 012777
£023 010004 052777

2026 0100i2 0ie777
2029 010020 012777
2030 010026 052777

032 010034 Q42777
c033 010042 052777

2035 010050 042777

2038 010100 012767
2040 010106 012767
204 010114 004767
. 2042 O0IC120 105777
2043 010124 100001
2044 0130126 104000

NO3

91-0CT-T6 08:28 PARGE 42

00:00
064001

030026
0C0020

020000
020000

020000
020000
000400
000003
00C026
000005
007064
007354

171172

00co32
010140
000400
030000
000400

064001

032026
000020

020000
020000

020000
000

020

000400
000003
000926
000006
006700
007170

007474

007462
007444

007452
007444

007436
007430
037406
171226
171222
171210

171144
171126
007332
007320
007316

007310

007276
007260

007266
007260

007252
007244
007222
171042
171036
171024

MoV #MTDATA!CLK!MINT!BREAK, dTACSR

:SET MODE , OF BITS,PRRITY SENSE,S8LOAD SYNC REG
MOV $SYNINT!F IVEINOPAR! 86 . JPRRCER
BIS #SYNSCH, JRXCSR . SET SYNC SEARRCH
-POKE CLK TO GEY RECEIVERINTO SYNCROIZATICN....
BIC #CLK, 9TXCSR s POKE CLK DOWN

BIS #CLK JTXCSR :POKE CLK UP
sPOKE CLK TO GET LOGIC INTO SYNCRONIZATION

BIC #CLK, 3TXCSR - POKE CLK DOWN

8IS #CLK 3TXCSR :POKE CLK UP

8IS 8STPSYN, JRXCSR  iSET STRIP SYNC

MOV 23, COUNt :# OF SYNC CHARS
18: MOV 825 TEMPL :CHAR TO BE SHIFTED

MOV 85, SHIFT % OF SHIFTS

ISR PC ' RPOKE SSHIFT IN THIS CHAR
ggze SRXCSR ;RXDONE *

23
HLT ; RXDONE SHOULD NOT BE RSSERTED

23:
DEC COUNT ;% OF SYNC CHARS
BNE 13
SCOPE

;s THIS TEST CHECKS THE STRIP SYNC FUNCTION
;;OF THE RECEIVER LOGIC

; sMODE : SYNINT

;5 s LENGTH: SIX

; yNOTE: RXDONE SHOULD NEVER RSSERT

;;CHAR: 26 (SYNC)

TST26: fbdy 826, TSTNO s SAVE THIS
MOV #1527 NEXT , GO TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;/1ASTER RESET
MOV #SYNINT)QPRRCSR :SET THE MODE
BIS $MRESET, JTXCSR :MASTER RESET

:SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
MOV sMTOATA! CLK! MINT !BREAK, 3TXCSR

:SET MODE , % OF BITS,PARITY SENSE,3LOAD SYNC REG
MoY #SYNINTISIX! NOPAR! 26, SPARCSR

BIS #SYNSCH. JRXCSR  :SET SYNC SEARCH
:POKE CLK TO GEY RECEIVER INTO SYNCROIZRTION....
81C 8CLK, 3TXCSR s POKE CLK DOWN
BIS 8CLK . 3TXCSR :POKE CLK UP
:POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC #CLK, 9TXCSR :POKE CLK DOMWN
BIS #CLK . aTXCSR :POKE CLK UP
BIS #STPSYN, JRXCSR  3SET STRIP SYNC
MOV ¢3, count :# OF SYNC CHARS
18: MOV seébrsnp1 :CHAR TO BE SHIFTED
MOV 86, CHIFT :8 OF SHIFTS
JSR PC RPOKE :SHIFT IN THIS CHAR
EEEB IRXCSR ; F.XDONE }

2$
HLT ; RXDONE SHOULD NOT BE RSSERTED

SEQ 0039




SRR
=
3

ceoJo=-B MRCYLL 27,1036

BO4

Ji=0CT-T6  03:28 FPRGE 43

CBUCC.PiL 10-JUL-74 00:CY

2345

012130
204 0I0I130 0OS36T
~ 013134 09:36]
248 DI10i3s 104420
2049
2050
21
2282
2083
2034
2255
£356 010140 012767
010146 L1767
Gi0154 058777
10162 Cle777
Ci0170 082777

2269 013220 42777
os277?
2071

3
:

0i0et4 012767

RS
;

&
O00000000

A
g
2

N
i ¢

R
B
5

oy
83
3
3

171008 CEC COUNT  :8 OF SYNC CHARS
BNE 18
SCOPE
- s THIS TEST CHECKS THE STRIP SYNC FUNCTION
::0F THE RECEIVER LOGIC
s s MODE : SYNINT
: s LENGTH: SEVEN
: :NOTE: RXDONE SHOULD NEVER ASSERT
1 :CHAR: 26 (SYNC)
000033 170780 T1STZ7: HMdv 827, TSTNO :SAVE THIS
010324 170742 MOV 87528, NEXT GO TO THIS TEST WHEM THRU
000405 007146 BIS sMRESET, 3TXCSR  ;MASTER RESET
030000 00713v MOV 8SYNINT, QPARCSR :SET THE MODE
000400 007132 BIS 8MRESET.QTXCSR :MASTER RESET
:SET MRINT DATR,CLK,BREAK, SMAINTENANCE MOOE
064001 007124 MOV sMTDRTAYCLK ! MINT'BREAK,, aTXCSR
:SET MCDE , 8 OF BIYS,PARITY SENSE. 8LORD SYNC REG
034026 0071 MoV 8SYNINT ' SEVENTNOPARY 26 , SPARCSR
000020 007074 215 8SYNSCH_ RXCSR  :SET SYNC SERRCH
"POKE CLK T0 GEY RECEIVER INTO SYNCROIZATION....
020090 007102 81¢ 8CLK, 3TXCSR POKE CLK DOWN
020000 007074 BiS 8CLK TXCSR :POKE CLK UP
+POKE CLK TO GET LOGYC INTO SYNCRO:...2RTION
020000 BIC CLK, JTXCSR POKE CLK DOWN
020000 007060 BIS sCLK ' 3TXCSR :POKE CLK UP
000400 007036 BIS 8STPSYN, JRXCSR  :SET STRIP SYNC
000003 170656 MOV 3, Count :8 OF SYNC CHARS
000026 170652 1S: MOV s2b TEMP :CHAR TO BE SHIFTED
000007 170640 MOV 87, SHIFT ‘8 OF SHIFTS
0065 14 JSR PC | RPOKE *SHIFT IN THIS CHAR
007004 ggza ggkcsn :RXDONE ¥
- HLT -RXDONE SHOULD NOT BE ASSERTED
170622 DEC COUNT ;8 OF SYNC CHARS
BNE 18
SCOPE
s THIS TEST CHECKS THE STRIF SYNC FUNCTION
::0F THE RECEIVER LOGIC
s sMODE : SYNINT
< LENGTH:EIGHT
: NOTE: RXDOME SHOULD NEVER RSSERT
;:CHAR: 26 (SYNC)
000034 170574 TsT28: HMbv 828, TSTNO :SAVE THIS
010510 179556 MOV 875123, NEXT :G0 TO THIS TEST WHEN THRU
000400 (006762 BIS  sMRESE},JTXCSR ;MASTER RESET
030000 006750 MOV 8SYNINT. GPARCSR ;SET THE MODE
000400 006746 BIS SMRESET.9TXCSR ;MASTER RESET

:SET MAINT DRTR, CLK,BREAK, SMAINTENANCE MODE
0E4001 006740 MOV sMTOATA! CLK!MINTTBREAK, 9TXCSR
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2101 )

! -SET MODE ,8 OF BITS, PARITY SENSE,8LOAD SYNC PEG

103 010370 012777 036026 006726 ) 8SYNINT'EIGHT'NGFARY 26, SPRRCSR

104 010376 052777 002020 006710 BIS 8SYNSCH_ JRXCSR  :SET SYNC SEARCH

l . ;FOKE CLK T0 GEY RECEIVER INTO SYNCROIZATION....

106 DIDMOM 042777 020300 006716 BIC  #CLK,dTXCSR  ;POKE CLK DOWN

107 010412 252777 (020000 210 BIS 8CLK aTXCSR -POKE CLK UP

1 +PCKE CLK T0 GET LOGIC INTO SYNCRONIZATION

'09 010420 0u4S7T77 020000 006702 BIC 8CLK, 9TXCSR -POKE CLK DOWN

J10 0ibvee 0S277¢ 020000 00667 BIS 8Ci 3TXCSR :POKE CLK UP

il1 0I0N34 052777 000NO0 006ES2 8IS #STPSYN JRXCSR  :SET STRIP SYNC
010442 012767 000003 170472 MOV 83, COUNt '8 OF SYNC CHARS
010450 012767 000026 170466 IS: MOV s2b, TEMP] :CHAR TO BE SHIFTED
010456 012767 00D0I0 176454 MOV 88. 'SHIFT '8 OF SHIFTS
D104M4 004767 006330 TSR PC . RPOKE :SHIFT IN THIS CHAR
010470 105777 006620 157 SRXCSR ; RXCONE *
010474 100001 BPL 28
g{% 104000 o8 HLT RXDONE SHOULD NOT BE ASSERTED
010500 00S367 170436 DEC COUNT ;8 OF SYNC CHARS
010504 00136! BNE 18
010506 104400

SCOPE
+sTHIS TEST PROVES THAT RXERR FREEZES THE “RECEIVER RESET”
«sWHILE IN STRIP SYNC MODE
+; THIS TEST FIRST PROVES THAT RUTOMATIC RESETS OCCUR WHEN
;:STRIP SYNC IS SET 8 SYNC CHARACTERS ARE SENT
P BUT IF AN ERRCR SHOULD OCCUR....THIS AUTOMARTIC RESETY
:+: 1S DISCOMBOBULATED
::JE. FORCE PRARITY ERROR WHILE STRIP SYNC IS SET
;sNOTE: NORMALLY THE LCGIC RESETS THE RXDONE 3ERROR FLRGS
:;PROVIDING THAT ONLY GOOD SYNC CHARACTERS ARE SENT....
«:BUT, IF AN RXERR OCCURS RXDONE PLUS RXERR ARE ASSERTED
::MODE: IS0C (ISYMOC)
s LENGTH: EIGHT
; s PARITY: EVEPAR
; ; CHARACTER EXFECTED:26
+ :CHRARACTER SENT: SYNC CHARACTER
;3 NOTE: THIS TEST USES OMLY THE RECEIVER LOGIC

fDDRUNITDRBR TV VR ALV VRV NVIV VRV TV VRV VTV TV DD O RV VN UM RUTU U IOV IV VY

] A A e L T L I ettt et et e

010510 D12767 000035 170410 15729: mov 829, ISTN -SAVE THIS
0:9%16 012767 Ollil2 170372 MOV aT5t30, NEXT -GO TO THIS TEST WHEN THRL
010524 062777 DOOMD0 DO6576 BIS sMRESEY, 3TXCSR  ;MASTER RESET
010532 012777 000000 0OESH4 MOV 815YM00 JPARCSR ;SET THE MODE
010640 052777 000400 006562 BIS SMRESET.JTXCSR :MASTER RESET

-SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
010546 012777 064001 006554 MOV sHTOATA! CLK ! MINT Y BREAK, STXCSR

:SET MODE ,8 OF BITS,PARITY SENSE,3L0AD SYNC REG
010S54 012777 007426 006542 mo¥ cxsvhooagxmnsvsbmsas, CSR
010522 016703 006532 MOV RXDBUF SET UP'FOR ERROR MS5
0:0S66 012767 000003 170346 MOV 83, COUNT *8 OF TIMES SYNC CHAR WILL BE SENT
010574 082777 000020 006512 BIS 8SYNSCH, JRXCSR  :SET SYNC SERRCH

-POKE CLK T0 GEY RECEIVER INTO SYNCROIZATION....

010602 042777 020000 006520 81C 8CLK, 3TXCSR sPOKE CLK DOWN
010610 0S2777 020000 006512 BIS 8CLK 3TXCSR :POKE CLK UP
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OcDUC-B MRCYLL 27010060 J1-0JT-T6 N9:26 PAGE 4S

Cc<DUCC.PLL 10-JuL-74 00:00 SEG 0042

2157 +PORE CLK 10 GET LOGIC INTO SYNCRONIZATION
ste 10616 042?77 020000 00650 BIC 8CLK, 9TXCSR -POKE CLK DOWN
159 010624 050777 0064976 BIS oCLK 3TXCSR ' POKE CLK UP
2160 010632 852777 %8300 006454 BIS sSTPEYN gnxcsa :SET STRIP gvnc
2161 010e40 012787 13 170272 28: MOV sll. SHIFT 8 OF SHIFT
2162 010646 012767 003054 170270 MOV 83054 TEMP] SYNC CHAR + STARTSSTCP+ PARITY
2163 010654 004767 006140 18: JSR PC, RPOKE :SHIFT IN THIS CHARARCTER
S16% 010660 105777 006420 v&vs  QRLZSR ;RXDCNE £ 0 2
2165 010664 132% BPL BY3
2:66 010666 1 HLT -RXDONE SHOULD NOT BE SET
2167 010670 BYS:
2:68 010670 DOS36? 170246 DEC COUNT ;8 OF SYNC CHARS
2169 010674 00:361 8NE c$ :60 AGAIN ?
217C 010676 012700 000026 MOV 826,R0  :EXPECTED
2171 010702 017701 006412 MOV SRXDBUF ,R] - ACTUAL
2172 sNOTE THAT THIS 1S THE FIRST TIME
2173 :RXDBUF IS RERD....... THERE SHOULD BE
2174 :NO OVER RUN ERRORS
2175 010706 020001 CHP RO,Rl  :COMPRRE EXPECTED VS ACTURL
2176 010710 001401 BEQ 654
2177 010712 104002 HLT 2 :DATA CHARS SHOULD COMPRRE
2178 : THERE SHOULD BE NO RXERR'S
2179 010714 658 :
2180 O0IC?I4 0127£7 000004 170220 MOV 84, COUNT -8 OF TIMES
2181 310722 012700 110026 MOV sRXERR! PARER! 26, RO - EXPECTED
2182 010726 012767 002054 170210 MOV 82054, TEMP] :BAD SYNE CHAR (WRONG PARITY)
2183 01073 012767 000013 170176 38: MOV e11. . 8HIFT :8 OF SHIFTS
2184 010742 004767 006052 JSR PC, RPOKE :SHIFT IN THIS CHAR
2185 01074 105;97 006342 1STB SRXCSR ;RXDONE = 17
2186 0i07se 100401 eN] 668
2187 010754 104000 TR *RXDONE SHOULD BE SET
2188 010756 BeSs:
£189 010756 017701 00633% MOV SRXDBUF ,R1 :ACTURL DARTR
2190 010762 020001 CHP RO,R1 ' ;COMPARE'EXP VS ACT
2191 010784 001401 BEQ 678
2192 010766 104002 HLT 2 -DID THE RESPECTIVE ERROR STOP THE
2193 “RUTOMATIC RESSETING OF RXDONE 8 ERROR FLAGS
21N e CHECK THIS.....
2195 010770 678:
219 010770 005367 170146 DEC COUNT ;& OF SYNC CHARS
2197 010774 001445 BEQ 5§ 'FINISHED ? GET OUT OF TEST
2198 010776 022767 000003 170136 CHP 23, COUNT -8 OF SYNC CHARS
2199 01008 mwe; BEQ 6$ :CHECK FRAME ERROR ?
2200 011006 022767 000002 170126 CHP 82, COUNT -8 OF SYNC CHARS
2201 011014 001426 BEQ 78 -CHECK FRAME ERROR 8 BAD PARITY ?
2202 ‘NOPE THEN IT (COUNT) MUST BE = | THEREFORE....
2203 011016 012767 000013 170114 fov $11, SHIFT -8 OF SHIFYS
22N 011024 012767 0000S4 170112 MOV 854 tEMP) ;mmf' % PARITY ERROR
% 011032 004767 005762 J%R PC, RPOKE néaHér N THIS CHAR
-NOW DON’T RERD THE RXDBUF TO CREATE OVER RUN
2207 01103 012767 000054 170100 MOV 854, TEMP1 -FRAME & PARITY ERROR
2278 gu% 012700 17 MOV sRXERR! OVRRUN! FRMERR! PRRER! 26, RO EXPECTED
2209 011 000167 1776601 IHP 3$ .00 IT RGAIN
2210 011054 012767 DO10S4 170062 6S: MOV 81054, TEMP] :BRD STOP BIT FOR FRAME ERROR
221l 011062 012700 120026 MOV sRXERR! FRMERR! 26 RO s EXPECTED
2212 011066 000167 177642 IMP 3$ .00 1T RSAIN




EQY

COUC-B MRCYLL 27(1006) 21-0CT-T6 09:28 PAGE 48

DZDUCC.PLL

oy
Wwrnr-

S

OO000
St Pt Poat Pumt Pt
P Pt Pt P Pt
Pt Pt Pt ot Pt
PR

(=
P
[
[
8

g 3T

n
o
n

OO0oO0O00000000000 OO0 O0O0O00
Pt oot P Prut Punt Pt Prut Puct Pt Pumn Pt Prmt Pt s [N [ Y X )
0=t Pt Pcth Pund Pk Punit Prut Preit Puash Pem Pt Pst Pt Pomt [ Pt Puk Ptk Pt

SERRRE PR

g

10-JUL-74 00:00 SEQ 0043
72 012767 00QCSY 170044 78:  Mov w54, TEMPI ;BRD _STOP BIT & PARITY
Do Rig7dQ 130P¢e MOV SR¥ERR!FRMERR! PnhER'as RO s EXPECTED
167 1% P38 ;00 1T AGAIN

0 104400 8 SCOPE
-+ THIS TEST PROVES THAT RXERR FREEZES THE “RECEIVER RESET™
P 'WHILE IN STRIP SYNC MODE
,,THIS TEST FIRST PROVES THAT nuvonnrxc RESETS OCCUR WHEN
,,STRIP svnc ISNSET 8 SYNC canancuﬁns SENT
..... RROR SHOULD OCC .THIS ARUTOMATIC RESET
s+ 1S DISCOHBOBULRTED
.,IE FORCE PARITY ERROR WHILE STRIP SYNC 1S SETY
OTE: NORMALLY THE LOGIC RESETS THE RXDONE &ERROR FLAGS
.,PROVIDING THAT ONLY GCOD SYNC CHRRACTERS ARE SENT
+:BUT, IF AN RXERR OCCURS RXDONE PLUS RXERR ARE ASSERTED
::MODE: 1S0C (ISYMCD)
: LENGTH: SEVEN
: :PARITY: EVEPAR
+ s CHARACTER EXPECTED: 226
:NOTE THAT THE PRRITY BIT SHOULD SHOW
:UP IN THE DATR 1E. BIT SEVEN FOR
:SEVEN LEVEL CODE
: ; CHARACTER SENT: SYNC CHRRACTER
;3NOTE: THIS TEST USES ONLY THE RECEIVER LOGIC

012767 00003 170006 t4T30: MOV 230, TSTNO :SAVE THIS
012767 011514 167770 MOV sTSt31, NEXT -GO TO THIS TEST WHEN THRU
052777 0DOON00 006174 BIS aMRESEY, JTXCSR  ;MASTER AZSET
012777 000000 006162 MOV #8]SYMOD, 9PARCSR ;SET THE MODE
052777 000400 006160 BIS SMRESET,JTXCSR ;MASTER RESET

SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
012777 064001 006152 Mov sMTOATAR!CLK!MINT'BREAK, JTXCSR

-SET MCDE ,8 OF BITS,PRRITY SENSE,3L0AD SYNC REG
012777 00S626 006140 MoV usvﬁoo'sevtwevsﬁm'aes JPARCSR
016703 006130 nov RXDBUF ,R3 -SET UP FOR ERROR MSG
012767 000003 167744 MOV 83, COUNT 8 OF TIMES SYNC CHAR WILL BE SENT
052777 000020 006110 BIS 8SYNSCH, 3RXCSR  :SET SYNC SERRCH

- POKE cu< ro ggf rsascsxvsk P&TO SYNCROIZRTION. .

042777 020000 006116 B1C
052777 020000 006110 BIS lCLK dTXCSR :POKE CLK UP

:POKE CLK T0 GET LOGIC xnro SYNCRONIZATION
042777 020000 006102 BIC 8CLK, 3TXCSR POKE CLK DOWN

oo% 006074 BIS sCLK JTXCSR s POKE CLK UP

083777 3504 006052 BIS 8STPSYN, JRXCSR ser srnxp SYNC
012767 0000l2 167670 2$: MOV 810. ,SHiFT 8 OF SHIFTS
012767 001454 167666 MOV nxusﬁ TEMP] svnc CHAR + START3STOP+ PARITY
004767 005536 18: JSR £ suzrr IN THIS CHARACTER
105777 006026 1518 mkcsn :RXDONE =0 ?
160001 BPL 6YS
104000 us HLT RXDONE SHOULD NOT BE SET
005367 167644 DEC COUNT ;8 OF SYNC CHARS
001361 BNE 2$ :GO AGAIN ?
012700 000226 MOV €226,R0 :EXPECTED
017701 008010 MOV anxoéur AL s ACTUAL




FOY

0OUC-B MRCYLL 27(1006) J1-027-76 09:28 PARGE 47

DZOUCC.PI1 10-JUL=74 00:09 SEG 004y
2269 NOTE THAT THIS IS THE FIRST TIME
270 gur 12 READ. ...... THERE SHOULC BE
Eh! VER RUN ERRORS
2272 011310 020001 CMP RO,RI conpnns EXPECTED VS RCTUAL
273 811312 0N140! BEQ 6S$
c74 011314 104002 HLT 2 -DATA CHARS ShOLILD COMPARE
2275 : THERE SHOULD BE NO RXERR'S
2e7b 011316 BSS:
2277 011316 012767 O0000M 167616 MOV TIMES
2278 011324 012700 110026 MOV onksnn PQRER'ES ho -EXPECTED
2279 011330 012767 DOI0SH 167606 MOV #1054, TEMPI : BAD svné CHAR (WRONG PARITY)
£280 01133 012767 000012 167574 3%: MOV uxo SHIFT 18 OF SHIFTS
2281 OI1344 004767 0OSHEO JSR RPOKE suxrr IN THIS CHAR
2282 011350 105777 005740 1518 ankcsa :RXDONE =
2283 011354 100401 BMI 668
o284 011356 104000 HLY -RXDONE SHOULD BE SET
22685 011360 663 :
2286 011360 017701 00573 MOV JRXDBUF ,R1 :ACTUAL DATA
2287 011364 020001 CMP RO,R1 ' ;COMPARE'EXP VS ACT
2288 011366 001401 BEQ 67¢
2289 011370 104002 HLT 2 D THE RESPECTIVE ERROR STOP THE
2290 nuronnTic RESSETING OF RXDONE 8 ERROR FLAGS
2291 ) SO CHECK THIS.....
2292 011372 678:
2293 ‘NCTE THAT THE PRRIIY BIT SHOULD
22 :SHOW UP IN THE DATR
229 :TE. BIT SEVEN FOR SEVEN LEVEL CODE
22% 011372 005367 167544 DEC COUNT ~:8 OF SYNC CHARS
2297 011376 001445 BEQ c$ *FINISHED ? GET OUT OF TEST
2298 011400 322767 000003 167534 Cup 83, COUNT' § OF SYNC CHARS
2299 Ol1406 001423 BEQ &S s CHECK rknns ERROR ?
2300 011410 022767 000002 1&7524 CHP 82, COUNT’ SYNC CHARS
2301 O0il4l6 001428 BEG 7 - CHECK rhnns ERROR 8 BAD mm ?
2302 - NOPE msn 17 (cburm MUST BE = | THEREFORE....
2303 Dll420 012767 000012 167512 fov SHIFT :4 OF SHIFTS
2304 Qllvee 012767 000054 167510 MOV asu temPl :FRAME 8 PARITY ERROR
2305 01143 004767 005360 JSR PC, RPOKE :SHIFT IN THIS CHAR
2306 «NOW DON'T RERD mé RXDBUF TO cntms OVER RUN
2307 011440 012767 0DO0OSY 167476 MOV ¥54, TEMP1 & PARITY ERROR
2308 811445 012700 170026 MOV onxtnn'ovnnun'FRhERR-PnRER-as RO : EXPECTED
2309 011452 000.67 177660 IMP 3$ .00 17 ncnln
2310 011456 012767 OOO4SM 167460 68: MOV 8454 rsnﬁx STOP BIT FOR FRAME ERROR
2311 011464 012700 120226 MOV $RXERR! rnnsnn-aaé :EXPECTED
2312 011470 000167 177642 JMP 38 Do IT nchxn
2313 01174 (012767 000054 167442 7§: MOV 854 rznpl -BRD STOP BIT 3 PARITY
2314 011s02 012700 130026 MOV sRXERR! FRMERR! PARER! 26, RO - EXPECTED
231S 011506 000167 177624 IP 3$ .D0 IT RGAIN
2316 011512 104400 s SCOPE
2317 - THIS TEST PROVES THAT RXERR FREEZES THE “RECEIVER RESET™
2318 ,,HHILE IN STRIP SYNC MODE
2319 :THIS TEST FIRST PROVES THAT AUTOMATIC RESETS OCCUR WHEN
2320 ,,sraxp SYNC IS SET 8 SYNC CHRRACTERS RRE SENT
ey T BUT IF AN ERROR SHOULD OCCUR....THIS AUTOMATIC RESET
5322 ,,IS DISCOMBOBULRTED
323 :1E. FORCE PARITY ERROR WHILE STRIP SYNC IS SET

2324 : ;NOTE: NORMALLY THE LOGIC RESETS THE RXDONE 3ERROR FLAGS
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2325
232
2327
2328
2329
2330
2331
2332
£
2335
233%
2337 D514
2238 0}l822
| 2339 011530
£390 011536
2341 O0115W
| 2342
L 2343
| 23¥4 011552
2345
| 234b
| 2347 011560
2348 011566
, 2249 Q11572
2350 011600
. 2351
2352 011606
2353 011614
2354
2355 011622
2356 011630
2357 0ilb3b
2358 D116%
2359 011652
2360 011660
2361 011664
232 011670
2363 011672
2364 011674
2365 011674
236k 011700
2367 011702
2368 011706
2369
2370
2371
2372 011712
2373 011714
2374 011716
2375

-—

- — -

012767
012767
052777
012777
082777

012777

012777
016703
012767
05e77?

042777
052777

Q42777
052777

052777
012767
012767
004767
105777
100001
104000

00S367
001361
012700
017701

020001
001401
104002

012767
012700
012767
012767

e R R VL b

167242

000126
005406

00000Y
110026
000454
000011

167404

005536
167342
005506

005514
005506

005500
005472
00S4S0
167266
167264

167214

167204
167172
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+ sPROVIDING THAT ONLY GOOD SYNC CHARACTERS HRE SENT....

:1BUT, IF AN RXERR OCCURS ~RXDONE PLUS RXERR ARE RSSERTED

: MODE: 1S0C (ISYMOD)

;:LENGTH: SIX

s :PARITY: EVEPAR

- : CHRRACTER EXPECTED: 126
:NOTE THAT THE PARITY BIT SHOULD SHO
:UP IN THE DATA IE. BIT SIX FOR

; 91X LEVEL COD
: s CHARACTER SENT: SYNC Cﬁg£QC*ER - :
; sNOTE: THIS TEST USES ONLY THE RECEIVER LOGIC

8131 mov 831, TSTNO :SAVE THIS
MOV 875132 NEXT :GO _TO THIS TEST WHEN THRU
BIS sMRESEY, 3TXCSR  ;MASTER RESET
MOV 81SYMOD, 3PARCSR :SET THE MCOE
BIS SMRESET) JTXCSR ;MASTER RESET

:SET MAINT DATA, CLK,BREAK, BMAINTENANCE MODE
MOV sMTORTA!CLK!MINT 'BREAK, aTXCSR

:SET MODE , % OF BITS,PARITY SENSE,3LORD SYNC REG
MOV $1SYMOD' SIX! EVEPAR! 126, aPPRCSR

MOV RXDBUF , R3 +SET UP FOR ERROR MSG

MOV 3, COUNT 8 OF TIMES SYNC CHAR WILL BE SENT

8IS 8SYNSCH, SRXCSR  :SET SYNC SERRCH

-POKE CLK 12 c;? RECEIVER INTO SYNCROIZATION....

81¢ 8CLK, QTXCSR +POKE CLK DOWN
818 $CLK STXCSR -POKE CLK UP
:POKE CLK TO GET LOGYC INTO SYNCAONIZATION
BIC #CLK, 9TXCSR -POKE CLK DOWN
BIS 8CLK 9TXCSR :POKE CLK UP
BIS 8STPSYN, QRXCSR  ;SET STRIP SYNC
2s: MOV 83, ,SHIFT 8 OF SHIFTS
MOV 8654 TEMPI :SYNC CHRR + START3STOP+ PARITY
18: JSR PC, RPOKE SHIFT IN THIS CHARACTER
TSTB  RXCSR ;RXDONE =0 ?
BPL B4S
us HLT *RXDONE SHOULD NOT BE SET
DEC COUNT ;8 OF SYNC CHARS
BNE 28 :GO AGRIN ?
MOV 8126, R0 :EXPECTED
MOV JRXDBUF , R - ACTUAL
*NOTE THAT THIS IS THE FIRST TIME
:RXDBUF IS RERD....... THERE SHOULD BE
:NO OVER RUN ERRORS
ggg EE;R‘ : COMPRRE EXPECTED VS ACTUAL
HLT 2 :DATA CHARS SHOULD COMPARE
e : THERE SHOULD BE NO RXERR’S
MOV 84, COUNT -8 OF TIMES
MOV SRXERR! PARER! 26, RO - EXPECTED
MOV 8454, TEMP! :BAD SYNC CHAR (WRONG PARITY)

3s: MOV #3. , SKIFT ;8 OF SHIFTS

SEQ 0045
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0ZDUCC.PIL T10-JUL-74 00:00 SEG 0046
2381 011746 004767 005046 ISR PC,RPOKE :SHIFT IN THIS CHAR
2382 011782 105777 (05336 TSTB 9RXCSR :;RXDONE = 1?
c383 011756 100u01 BMI 66$
2384 011760 104000 HLT : RXDONE SHOULD BE SET
2385 011762 66§ :
2386 011762 017701 005332 MOV JRXDBUF , Rl :ACTUAL DATA
2387 011766 020001 CMP RO,R1 ' ;COMPARE'EXP VS ACT
2388 011770 001401 BEQ ¥
2389 011772 1040C2 HoT 2 -DID THE RESPECTIVE ERROR STOP THE
2390 “AUTOMATYC RESSETING OF RXDONE & ERROR FLAGS
£391 . HECK THIS.....
£392 01177 £78:
2393 :NOTE THRT THE FARITY BIT SHOULD
23N :GHOW UP IN THE DARTA
2395 :IE. BIT SIX FOR SIX LEVEL CODE
23% 011774 005367 167142 DEC LOUNT ;8 OF SYNC CHARS
2397 012000 001445 BEQ c$ ‘FINISHED ? GET OUT OF TEST
2398 012002 022767 000003 167132 CMP 83, COUNT .8 OF SYNC CHARS
2398 012010 001423 BEQ S s CHECK FRAME ERROR ?
2900 012012 022767 000302 167122 CHP 82, COUNT -8 OF SYNC CHARS
2401 012020 001426 BEQ 78 - CHECK FRAME ERROR 8 BRD PARITY ?
2402 *NOPE THEN 1T (COUNT) MUST BE = | THEREFORE....
2403 012022 012767 0000L1 167110 fov 29, ,SHIFT .8 OF SHIFTS
2404 012030 012767 000054 167106 MOV 859’ TEMP] :FRAME 8 PRRITY ERROR
2405 01203 004767 004756 JSR PC, RPCKE :SHIFT IN THIS CHAR
2406 +NOW DON'T RERD THE RXDBUF TO CRERTE OVER RUN
2407 012042 012767 000054 167074 MOV 854, TEMPI ‘FRAME & PRRITY ERROR
2408 012050 012700 170026 MOV sRXERR! OVRRUN! FRMERR ! PRRER! 26, RO - EXPECTED
2408 012054 000167 177660 IMP 3$ .00 IT AGAIN
2410 Dic0B0 012767 0002SH 167056 6S: MOY 8254, TEMB] -BAD STOP BIT FOR FRAME ERROR
2411 012066 012700 120126 MOV $RXEAR!FRMERR! 126, R0 ~  ;EXPECTED
24912 012072 000167 177642 h{y 3s .00 17 RGAIN
2413 012076 012767 0000SY 167040 7S: MOV sS4, TEMP! -BAD STOP BIT & PARITY
2414 012108 012700 130026 MOV sRXERR! FRMERR! PRRER! 26, RO - EXPECTED
2415 012110 000167 177624 JeP 3 :00 IT RGAIN
2416 012114 104400 c$: SCOPE
2417 -+ THIS TEST PROVES THAT RXERR FREEZES THE "RECEIVER PESET"
2418 ssWHILE IN STRIP SYNC MODE
2419 2 THIS TEST FIRST PRO ES THAT AUTOMATIC RESETS OCCUR WHEN
2420 2 1STRIP SYNC IS SET 8 SYNC CHARACTERS ARE SENT
242l S s BUT IF AN ERROR SHOULD OCCUR....THIS AUTOMATIC RESET
42 s 115 DISCOMBOBULATED
2423 :+1E. FORCE PARITY ERROR WHILE STRIP SYNC IS SET
244 : 'NOTE: NORMALLY THE LOGIC RESETS THE RXDONE 38ERROR FLAGS
2425 : \PROVIDING THAT ONLY GOOD SYNC CHRRACTERS ARE SENT....
24ob :1BUT, IF AN RXERR OCCURS RXDONE PLUS RXERR ARE RSSERTED
2497 : 'MODE: 1S0C (1SYMOD)
c4cB +sLENGTH: FIVE
c429 s sPHRITY: EVEPAR
2430 : 1 CHARACTER EXPECTED:66
243] NOTE THAT THE PRRITY BIT SHOULD SHOMW
2432 :UP IN THE DATA IE. BIT FIVE FOR
2433 ‘FIVE LEVEL CODE
24934 .+ CHARACTER SENT: SYNC CHRRRCTER
2435 : :NOTE: THIS TEST USES ONLY THE RECEIVER LOGIC

2436 P
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00:00

000040
012520
000400
000000
0CO400

064001

001466
00S124
000003
000020

020000
020000

020000
020000
000400
000010
000354
004532
005022

166640

00C066
005004

004730

167002
166764
00S17C
035156
00S154

00S146

005134

166740
005104

00S112
005104

166664
166662

lebble

166602
166570

1ST3e:

MOV

I04

832, TSTNO ; SAVE THIS

MOV 8. 0P NEXT -G0 TO THIS TEST krEiv THRU
BIS sMRESET, dTXCSR  ;MASTER RESET
MOV #]SYMOD, PARCSR ;SET THE MODE
BIS SMRESET | TXCSR ;MASTER RESET
:SET MRINT DATA,CLK,BREAK, SMAINTENANCE MODE
MOv ' aMTDATAICLK'MINT!BREAK,3TXCSR
:SET MODE ,# OF BITS,PARITY SENSE,8LOAD SYNC REG
MoY 81SYMOD! FIVE!EVEPAR! b6 apnacsn
MOV RXDBUF , R3 +SET UP FOR ERROR MSG
MOV 83, COUNT '8 OF TIMES svnc CHAR WILL BE SENT
BIS ss?nscu JRXCSR :SET SYNC SEARCH
-POKE CLK TO GEY RECEIVER INTO SYNCROIZATION..
BIC 8CLK, 9TXCSR -POKE CLK DOMWN
BIS 8CLK JTXCSR :POKE CLK UP
:POKE CLK TO GET LOGIC INTO srnchouxznrxon
BIC #CLK, 9TXCSR ; POKE c DOWN
BIS sCLK ' JTXCSR :POKE CLK UP
BIS $STPSYN, GRXCSR  iSET STRIP svnc
2s: MOV $8. SHIFT -8 OF SHIFTS
MOV c354 TEMP1 :SYNC CHRR + START3STOP+ PARITY
18: JSR RPOKE suxrr IN THIS CHARACTER
5;{8 2chsn :RXDONE = 0 ?
us HLT -RXDONE SHOULD NOT BE SET
DEC COUNT ;8 or svnc CHARS
BNE 2$ :GO AGRIN
MOV 66, RO sxpzcrsn
MOV JRXDBUF, RI CTUAL
-NOTE THAT THIS IS THE FIRST TIME
RXDBUF 1S READ....... THERE SHOULD BE
:NO OVER RUN ERRORS
828 Egtﬂl : COMPARE EXPECTED VS ACTUAL
HLT 2 :DATA CHARS SHOULD COMPARE
ccs * THERE SHOULD BE NO RXERR’S
MOV $4, COUN .8 OF TIMES
MOV cnkspn-pnasn'as RO . EXPECTED
MOV 8254, TEMP1 :BAD SYNE CHAR (WRONG PARITY)
3s: MOV ee SHIFT '8 OF SHIFTS
JSR C.RPC KE SHIFT IN THIS CHAR
1STB ankcsn :RXDONE =
BM] b6S
o5 HLT :RXDONE SHOULD BE SET
MOV JRXDBUF, R :RCTUAL DATR
ggz Engﬂx -COMPARE 'EXP VS ACT
HLT 2 THE RESPECTIVE ERROR STOP THE
QUTOHQT!C ESSETING OF RXDONE & ERROR FLAGS
- e CHECK THIS.....

SEQ 0047
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DZDUCC.P11  10-JUL-7Y 00:03 SEQ 0048
2493 :NOTE THAT THE PARITY BIT SHOULD
2494 SHON UP IN THE DATA
2435 BIT FIVE ron FIVE LEVEL CODE
aqqg 812375 005367 166540 DEC COUNT u OF SYNC CHARS
2497 012902 0OL44S BEG FINISH ED * GET OUT OF TEST
2498 Dl12404 022767 000003 166530 CMP aa,counr 8 OF SYNC CHARS
2439 Q0l2412 001423 SEQ S : CHECK rhnne ERROR ?
2530 015414 022767 000002 166520 cnp 82, COUNT’ OF SYNC CHARS '
2501 012422 0G0I42e BEQ 7% - CHECK thne ERROR & BAD PQRIT( ’
2502 -NOPE THEN IT fcbunr) MUST BE = | THEREFORE..
2503 0l2424 012767 0000I0 166506 fov 88. ,SHIFT -8 OF SHIFTS
Z504 012432 012767 000054 166504 MOV 054 TEMPL :FRAME 8 PARITY ERROR
2505 012440 004767 004354 J?R C,RPO 5 3 é v{" THIS CHAR
2506 :NOW DON'Y REARD TH€ RXOBUF TO CREAT
2507 Dl2444 012767 0000SH 166472 MOV 54, TEMPI "FRAME & PQRITY ERROR
2508 012452 012700 170026 MOV sRXERR! OVRRUN'FRﬁERR'PnﬂER'Eb RO s EXPECTED
2509 012456 000167 177660 IMP 3$ 0 IT RGAIN
2510 Dl246e 012767 ODODISH 166454 6F: MOV %154 rsnbl :BAD STOP BIT FOR FRAME ERROR
2611 012470 012700 120066 MOV SRXERR!FRMERR! 66 | RO « EXPECTED
2612 012474 000167 177642 IMP 38 .00 IT ARGAIN
2613 012500 012767 0DO0OSH 166436 7$: MOV a4, TEMP! .BAD STOP BIT & PARITY
2514 012506 012700 130026 MOV sRXERR! FRMERR! PRRER! 26, RO - EXPECTED
2615 012612 000167 1778624 JMP 3s :D0 IT RGAIN
2Si6 D1251E 104400 5§: SCCPE
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2517
2518
e519

2522
2523
2524
2525
2526

16230

oo
e

0440

Jad0s
164410
1044C2
105767
00i511
005767
001007
104502
016700
000000

000167
062767
062767
000241
006167
103410

036767
001762
004767
000167
012767

016767
016767
004767
000441
016767
004767
016767
062767
016767
062767
016767
062767
016767
016767
000207

DODOOé
017314
005067

005067
00S267

)
4 00:0

012756
015403
166442

166450

015415
166436

166472
00r010
00u010

166410

166402

000034
000174
000001

166342
166342
0C0002

002

166144
166230
166130

166410
166410

166376

166360

166336
166336

004126

004436
166302
004424
168.'66
004442
166252
004400
166236

LEOP:

RUNIT:
ZERC:

REPLAY:

OUTCRY:

cCC:

KO4
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;END_OF PASS
: TYPE_NAME OF TEST

gHE@IEFgg EX?? 70 ACT-11
sRESTART TEST

TYPE
MEPASS

CONVRT , OUTCRY

TYP Evécs

15T

BEQ ccc

15T ACTREG

BNE RUNIT

TYPE MCOW

MOV ACTREG,RO
HALT

jﬁELEcr sgxgcnes & HIT CONTINUE

RDD #10,BASEADD
RDD #10,BASETV

CLC

ROL ROTADD

BCS Y

BIT ROTADD, ACTREG
BEQ RUNIT

ISR PC,REPLAY
IMP RESTRT

MOV #1,ROTADD

MOV KEEPADD, BRSEADD
MOV KEEPIV,BASEIV
JSR Pctnsptnv

cC
?OV BRSERDDbDUBRSE

ADDR
MOV enésrv OURIV
ADD 82 BASETV
MOV BASEIV, DURIS
ADD 82, BASETV
MOV enésxv DUTIV
ADD BASEIV

MOV enéslv DUTIS
MOV DURIV,BASEIV
RTS PC

1

_BYTE 6,2

RXCSR

CLR LSTERR

CLR ERRFLG

INC PASCNT

SEQ 0048

:TYPE NAME OF TEST

:ARE YOU RUNNING MULTIPLE DEVICES ?
:NO, JUMP AROUND
nRé ANY DEVICES ACTIVE ?

NO

:DISPLAY ACTREG

léﬁ%ECT SOMETHING TO RUN @ RCTREG:

; STRRT OVER AGRIN...... YOU DESELECTED EVERYTHING
:NEXT BLOCK (ADDRESSES)

:NEXT BLOCK (VECTORS)

:UP DATE ROTATING POINTER
1S IT THE LRST ovacz

:TO BE_TESTED IN THIS PASS ?

s TEST THIS DEVICE FOR ACTIVE STATUS
s IF NOT ACTIVE, TRY NEXT ADC3ESS

: CALCULATE NEW PRARAMETERS

:YES IT WAS ACTIVE,TEST THIS DEVICE
:0K!,NOW SET UP ROTATING

:POINTER FOR NEXT MULTIPLE PASS
RESTORE BRSE ADDRESS

:RESTORE BASE INTERRUPT VECTORS
:CALC NEW PRRAMETERS

: JUMP AROUND REPLAY

sSET UP FOR NEW ADDRESSES

:CREATE NEW ADDRESSES

:CREATE DURIV

; CREATE DURIS

; CRERTE DUTIV

; CREATE DUTIS
ESTORE

.
’

;CLEAR LAST ERROR PC
:CLERR ERROR FLAG
s UPDATE PASS COUNT
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016777
013701
001405
00000S
004711
000240

000167

000424
013746

104413
032777
001407
000432
105777
100027
017700
0Cg41e
032777

001407
000432

104413

J1-0CT-76 09:28 PRAGE S3
10-JUL-74 00:09

166124
00004e

000340

002350
167300

000004

166004
165774

040000

165742
165736
004000

165736
165732

166022
165716
00000S
165676
165666

166074

164742
166050

G000CH

166000

165746

165720

165726

165706
165672

MoV
MOV
BEQ
RESET
LOGICAL:
NOP
NOP
NOP
RESTRT: MoV
CKSWR
MoV
JMP

LOY

SEQ 0050

PASCNT, ALIGHTS :DISPLAY PASS COUNT
3s42,R1 s CHECK _FOR ACT-11 OR DOP
RESTRT s TF NOT, CONTINUE TESTING
JSR PC, (R1)
340, PS : PREVENT INTERRUPTS (PRIO: 7)

:CHECK FOR tG
$TSTL,RTRN
TST1

; SCOPE LOOP AND INTERRTION HANDLER

.SCOPE:
s ERER STgET OF CSQE FOR THE X OR TESTER Xx:xx%

; IF_ RUNNING ON THE X OR TESTER CHANGE
; THIS INSTRUCTION TO A “NOP™ (NOP=240)

MOV 284, -(SP) :SAVE CONTENTS OF ERROR VECTOR
MOV £1S, an4 :SET FOR TIME OUT
TST 41770860 :TIME OUT ON X OR ?
MOV (SP)+,an4 :RESTORE ERROR VECTOR
BR 23 :G0 TO NEXT TEST
18: cHP (SP)+, (SP)+ :CLEAR THE STACK AFTER A TIMEOUT
MOV (SP)+, %4 RESTORE ERROR VECTOR
BR 33 :LOOP ON PRESENT TEST
23: MOV NEXT,RTRN :GET UP NEXT TEST IN RTRN
33: sgg RTRN, (SP) :GET UP STACK FOR RTI
4S: . ¥¥%% END OF CODE FOR THE X OR TESTER ¥x¥¥%¥
tkSUR -CHECK FOR G
BIT $SW14, ISUR :LOCP ON CURRENT TEST ?
TIST:  BEG 18
BR 33
TSTB  QTKCSR :TEST TTY FLAG
BPL 3
MOV JTKDBR, RO :CLR DONE BIT
B8R 2% ‘IF A TTY KEY IS STRUCK GO TO NEXT TST
18: BIT 8SW11,ASKR :INHIBIT ITERATIONS ?
BNE 2%
ING LPCNT
gggs 5§CNT,ICOUNT -CHECK FOR ITERATION CNT FINISH
2%: CLRB  ERRFLG
CLR LPCNT
MOV 85, ICOUNT ;SET UP ITERATION COUNT
MOV NEXT,RTRN :SET UP NEXT TEST IN RTRN
33: E$¥ RTRN. (SP) +SET UP STACK FOR RTI
BRU: 1407 :RESTORE “BEQ 18" INSTRUCTION
BRX: 432 +RESTORE “BR 33" INSTRUCTION

; CHECK FOR FREEZE ON CURRENT DATA

.SCOP1: CKSWR

;CHECK FOR 1G




e
O-DUC-B MACY1! 27(1006) 01-0CT-76 09:28 PAGE SM
0ZDUCC.P11  10-JUL-74 00:09 SEQ 0051
2629 013236 032777 001000 165634 BiT #SW09, ASUR
2630 013244 001402 BEQ 13
2631 013246 016716 16S64E MOV LOCK, (SP)
523% 013352 000002 18: RTI
gggg : TELETYPE OUTPUT ROUTINE
2636 013254 040546 .TYPE: MOV RS, - (SP)
2637 013256 017605 000002 MOV az1isP),RS
2638 013262 062766 000002 000002 ADD 82, 2(SP)
2639 013270 105715 18: TSTB  (R%) ;LOOK FOR "C"
2640 013272 001406 BEQ 33
2E4l 013274 105777 165610 2§: TSTB  JTPCSR : TEST DONE BIT
2642 013300 100275 BPL 28
2643 013302 112577 165604 MOVB  (RS)+,aTPDBR - TYPE_CHAR
2644 013306 0006770 BR 1$ :D0 IT AGAIN UNTIL 0" IS SEEN
2645 013310 012605 3%: MOV (SP)+,RS
5239 013312 0006002 RTI
sg:g +ASCII STRING INPUT ROUTINE
| 2650 013314 010346 JINSTR: MOV R3,-(SP)
2651 013316 010446 MOV R4’ -(5P)
2652 013320 017ee7 000004 000010 MOV a4isP), .MsG
| 2653 013326 06276k 000002 0O0OOY ADD_ #2,4(SP)
2654 013334 104402 .INST1: TYPE
, 2655 01333 000000 JMSG: 0
2656 013340 012704 016450 MOV # INBUF , R4
2657 013344 012703 000007 MOV 87, R3
2658 013350 105777 165530 18: TSTB  QTKCSR
2659 013354 100375 BPL 18
| 2660 013356 117714 165524 MOVEB  3TKDBR, (R4)
2661 013362 142714 000200 BICB 200, (RY)
2662 013366 121427 000025 CMPB  (RY),#25 IS IT <t
2663 013372 001003 BNE 2008
., 2664 013374 104402 015572 TYPE, MCRLF
2665 013400 000755 BR CINST!
2666 013402 122427 000D1S 2008: CMPB  (R4)+,#15
2667 013406 001423 BEQ INSTR
| 2688 013410 117777 1ES472 165474 MOVB  @TKDBR,aTPDBR
2669 013416 105777 1E5466 23: TSTB  JTPCSR
2670 013422 100375 oL 2%
2671 013424 005303 DEC R3
%672 013426 001350 BNE 1§
2673 013430 000402 BR _INSTG
2674 013432 010346 .INSTE: MOV R3,-(SP)
2675 01343 010446 MOV RY, ~(SP)
2576 01343k 104402 .INSTG: TYPE
2677 013440 015566 MGM
2678 013442 005737 014730 15T JMRDSW
2679 013446 001402 BEQ 400§
2680 013450 104402 015572 TYPE, MCRLF
2681 013484 000727 400$: BR _INST1
282 013456 012604 INSTR2: MOV (5P)+,RY4
2683 013460 012603 MOV (5P)+R3
2£84 D0l13462 000002 RTI
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DZOUCC.PL1! 10-JUL-74

cb88 013464 0I0SHE
2689 013466 010446
2690 013470 016605
269 81 47y lg 67

l 12567

2693 013504 012567 -
ce34 Q0I3510 112567
2635 013514 112567

2695 013520 010566
2697 013524 0OSCIS
298 013596 012704
2693 013532 122714

700 013536 001420
2701 013540 121427
2702 013544 002415
2703 013546 121427
2704 013852 003012
2705 013554 142714

2706 013560 152405
€737 013562 122714

2715 013606 005737
e716 013612 001023
2717 013614 104404
2718 013616 C0O742
2719
2720
2721
2722 013620 020567

0
g27e3 013624 101365
27e4 013626 £20S67
2725 013832 103762

27¢b 013634 136705
2727 013840 001357
2728

2729

2730

2731 013642 016704
2732 013646 010524
2733 013650 062705
e734 013654 105367
2735 013660 001372
e736 013662 012604
2737 013664 012605
2738 013666 000002
2739 013670 000000
2740 013672 000000

NO4

JI-0CT-T6 (09:28 PARGE SS
00:02
; CONVERT ARSCII STRING TO QOCTAL

.PRRAM: MOV RS,~(SP)
MOV RY,~(SP)

000004 MOV 4(5P) RS
88 170 MOV (RS)+L L*H
166 MOV (RS)+ HILIM
000164 MOV (RS)+, DEVADR
000162 MOVB  (RS)+,LOBITS
000157 MOVB  (RG)+ ADRCNT
000004 MOV RS, 4(5P)
PARAMI: CLR RS
016450 MOV $INBUF, RY
020015 CMPB  #1ES. (RY)
BEQ PARERR
000080 18: CMPB  (RY4), #60
BLT PARERR
000087 CMPB  (RY), 867
BGT PARERR
000060 BICB  #&0, (RY)
BIS8  (R4)+,RS
000015 CMPB  #15. (RY)
BEQ LintTs
ASL RS
ASL RS
ASL RS
BR 13
000015 PARERR: CMPB %15, (RY)
BNE 120%
014730 ST 28RDSW
BNE PARTI
120%:  INSTER
BR PARAM]
sTEST TO SEE IF NUMBER IS WITHIN LIMITS
000046 LIMITS: CMP RS, HILIM
BHI PARERR
000036 CMP RS, LOLIM
BLO PARERR
000036 BITB  LOBITS,RS
BNE PARERR
-STORE NUMBER AT SPECIFIED ADDRESS
000026 MOV DEVADR, R4
1$: MOV RS, (R4} +
000002 ADD #2. RS
000017 DECB  ADRCNT
BNE 18

PRRTI: MOV (SP)+,RY

RTI
LOLIM: O
HILIM: O

; IS FIRST CHRRACTER A (CR»
; IS CKSWR ROUTINE BEING USED

SEQ 00se




BOS

ConJo=B MRCVIL 27110060 2i=207-Th 09:28 PRGE Sb
SDUCS.PIL 10-JUL-YN 00:09 SE5 2083
™41 D13y Q00000 DEVADR: 0
22 DI 000950 LCBITS: O
s::g 013677 RORCNT=L0BITS+!
gz:g :SAVE PC OF TEST THAT FAILED AiD RO-RS

{

Sz:'é' 013700 JibeET 000004 1652866 .SAVDS: MOV 4(SP),SAVPC

ggg +SAVE RO-RS
&

£r8]1 013706 010567 185256 SV0S: MOV RS, SAVRS

£52 Q13712 Q10467 165250 MOV R4, SAVRY

2~83 013716 010367 165042 MOV R3,SAVR3

TS4 013722 010267 16SoM MOV R2, SAVR2
2785 013726 010167 165226 MOV RI.SAVR]
7S¢ 013732 010967 165229 MOV RO, SAVRD
2759 :RESTORE RGO-RS
278l 013740 016700 165212 .RESCS: MOV SAVRO, RD
2762 D0137w4 016701 165210 MOV SRVR1 . R1
2763 013750 016702 165206 MOV
2764 013754 016703 16820M MOV SAVR3. A3
2765 013760 016704 165202 MOV RY
276b 013764 016705 165200 MOV SAVRS RS
2767 013770 000002 RTI
zz;;g :CONVERT OCTAL NUMBER TO ASCII AND CUTPUT TO TELEPRINTER
2771 013772 104402 .CONVR: TYPE
2772 013774 015572 MCRLF
2773 013776 010046 .CNVRT: MOV RO, -(SP)
3774 014000 010146 MOV RL.-(SP)
2775 014002 01034 MOV R3.-(SP)
2776 BINDON 010446 MOV R4, -(SP)
2777 014006 01054 MOV RS.-(SF)
2778 014010 017601 000012 MOV 312(SP) Rl
2779 014014 016767 002470 165126 MOV TEMP TEMP3
278C 014022 062766 000002 00C0I12 ADD 82, 12(SP)
£781 DI¥Q030 012167 0O0ISH MOV (R1)+, WRDCNT

Cl+C™ 112167 000152 18 MOVB  (R1)+,CHRCNT

2783 D14OM0 112167 0OCIN? MOVE  (R1)+ SPACNT
2784 01404 013167 020144 MOV 3(R1)4, BINWRD

2785 0i40S0 016704 000140 28: MOV BINWRD. RY

2786 COIN064 116705 000132 MOVBE  CHRCNT.RS

2787 014060 012700 016510 MQV sTENP, RO

B8 0IN06N 010403 3$ MOV R4 . R3

89 0I14066 042703 177770 8IC 8127770,R3

2790 014072 0e27C3 000060 ADD 8060, R3

2791 014076 110320 MOVB  R3, (RO)+

2792 014100 0O0E04 ASR R4 SHIFT FOR NEXT
2793 0I4102 ONe704 100000 BIC 8100000, R4 +CLUGE TO STOP BIT 15 PROPAGATING
2794 014106 006204 ASR RY :DITTO
279 014110 006204 ASR RY :0ITTO
27% 014112 00S308 DEC RS
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J1-0CT-76 09:28 PAGE 57
10-JUL-74% 00:00

C16550
00002
0000SS

000043
003043

003024
164756

000000
000116

000131
177777

00e314

002220

002204

BNE ] 3
MOV SMDATA ng
48 MOVB  -(RO), LR34+
DECB  CHACN?
8NE 4
1ST8  SPACNT
8EQ 6$
cg MOVB 8040, (R3)+
DECB  SPACAT
) NE 53
B3: CLRB (R3)
TYPE
MDATA
DEC WRDCNT
BNE 18
MOV TEMP3, TEMP
MOV (SP)+,RS
MOV (SP)+ RY
MOV (SP)+,R3
MOV (5P)+.R1
MOV (5P)+ RO
RTI
MRODCNT: O
CHRCNT: 0
SPACNT=CHRCNT+]
BINWRD: O
- COMPARE ru; FIRST CHARACTER IN THE TELETYFE INPUT
:BUFFER TO THE CHARACTERS “N* AND “Y™.
:1F THE CHARACTER IS ~N* CLEAR THE FLAG
:IF THE CHARRCTER IS =Y~ SET THE FLAG
.SETFLG: MOV 3(SP),RS
(P8 &'N,IfBF 1S IT "N °
BNE 18
CLR8  (RS) ;000
BR 28 )
18: cHP8 8'Y, INBUF IS IT *y= 7
BNE 3s
MOVB  8-1,(RS) . 377
2s: 29? g2, lsp)
38: INSTER s RETRY
BR .SETFLG
- TRAP D3SPATCH SERVICE
: ARGUMENT o TRAP IS EXTRACTED
*AND USED RS OFFSET TO OBTAIN POINTER
: 70 SELECTED SUBROUTINE
.TRPSR: MOV (SP), -(SP) :GET PC OF RETURN
sus 82, (4P) =P OF TRRP
MOV 3(5P), (SP) ‘GET TRP
TRPOK: ASL (SP) *MULTIPLY TRAP ARG BY 2
BIC 177001, (SP) :CLEAR UNWANTED BITS
ADD 8. TRPTARB, (SP) :POINTER TO SUBROUTINE ADDRESS
MOV Q(SP),(Sh) : SUBROUTINE ADDRESS

SEG 00SY




DOS

ColWC-B MRCYL! 2741006) J1-0CT-Té 09:28 PRGE S8
DZDUCC.PLI 10-JUL-74 00:00

ggga 014314 Q00136 P J(SP)e +50 T0 SUBROUTINE
gggg :ERROR HANDLER
2857 014216 1044)3 JHLT:  CKSWR :CHECK FOR G
2858 014320 032777 020000 164552 BIT 8SW13, ISWR : INHIBIT ERROR TYPE CUT ?
2859 0143% 001061 BNE HALTS
2960 014330 02i6b? 164600 cHP (SP),LSTERR
2861 014334 OCI40N BZQ 1§
01433 0!1667 164572 MOV (SP),LSTERR
2863 Dl4M2 105967 164656 CLRB  ERRFLG
2864 014346 104406 18: SAVOS
2665 114350 01:605 MOV (SP),R5
2866 014352 162705 000002 SUB 22, RS
2867 014356 011504 MOV (RS), R4
2868 014360 00630M ASL RY
2869 0i436e 061504 ADD (RS),RY
2870 014364 006304 aSL RY
2871 014366 042704 177001 BIC 8177001, R4
2672 014372 062704 017264 ADD 8.ERRTAB, RY
2873 014376 012467 000040 MOV (RY4)+, ERRMSG
2874 DIN402 012467 000046 MOV (R4)+ DATAHD
2875 014406 011467 DOOOSY MOV (R4),BATABP
287 DlINN12 10577 164606 TSTB  ERRFLG
2877 Ol4416 001403 BEQ TYPMSG
2878 014420 00S767 000042 TST DATABP
2879 Olv424 001014 BNE TYPDAT
2e80 014426 1ON%10 TYPMSG: CONVRT
2881 DI4430 014560 ERTABO
2882 014432 112767 177777 1BMSEM MOVB  s-1,ERRFLG
2883 OI4440 104402 TYPE
2284 Dlvs42 00000 ERRMSG: 0
2685 Div444 005767 000004 ST DATAHD
2896 014450 001402 BEG TYPDAT
2887 Q14452 104402 TYPE
2088 014454 (000000 DATAHD: O
£e99 QOl445p 00S767 (0000OM TYPDAT: TST DATABP
2890 Qlu4be 001402 BEQ RESREG
2891 Dl4464 104410 CONVRT
2892 O0l4466 000000 DATABP: 0
2893 014470 108407 RESREG: RESOS
28M 014472 005777 164402 HALTS: TST 3SR
2895 014476 100005 BPL EXITER
28% 014500 010046 PUSHRO
2897 014502 016600 000002 MOV 2(SP),R0
2898 014506 000000 HALT
2899 014510 012600 POPRO
2900 014512 108413 EXITER: CKSWR CHECK FOR 1G
2901 O45i§ (005267 64412 INC ERRCNT
2902 oi4B20 032777 OLN00 164382 BIT #SW08, ASWR :LOOP ON ERROR ?
2303 (014526 001007 BNE 1$
2904 DI4530 032777 002000 164342 BIT 8SW10, 3SR :ESCAPE TO NEXT ON ERROR ?
2905 014536 00]407 BEQ 28
2906 ODI4540 016767 164352 164346 MOV NEXT.RTRN :SET UP FOR NEXT TEST
2907 014546 012706 001100 18: MOV 8STALK, SP ‘REINITIALIZE SP
2908 014552 000177 164336 IMP 3RTRN
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J1-0CT-76 (C9:28 PAGE 59
10-Ju-74 00:00

002

163216
164360

Ol4bed 163204

164342

163182
163116

1e4312
164216
164172

002

000042
000176 1BM132

2s:
ERTABY:

.PFRIL:

18:

RESTAR:

18:

PFTAB:

.CKSKR:

?rl
Savgs B,2
:ENTER HERE ON POWER FRILURE
MOV RO, -(SP) :SAVE RO-RS ON PROCESSOR STACK
MOV R1.-(5P)
MOV R2.-(SP)
MOV R3, -(SP)
MOV R4 -(5P)
MOV RS, -(5P)
MOV 24, -(5P)
MOV 5P’ SAVSP s SAVE STRCK POINTER
MOV sRESTART, 24 :SET UP FOR POWER UP TRAP
Buau s HALT ON POWER DOWN NORMAL

; FROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED

MOV SAVSP, SP :RESTORE STACK POINTER
MOV (SP)+ RS ‘RESTORE RO-RS
MOV (SP)+,RY
MOV (SP)+.R3
MOV (SP)+.R2
MOV (SP)+,R1
MOV (5P)+'RO
MOV 8. PFALL, 24 :SET UP FOR POWER FAILURE
MOV 8340, PS
MOV sSTALK, SP
CLR TEMP
INC TEMP
BNE 18
CONVRT
PFTAB
TYPE
MPFAIL
CLR ERRFLG
CLR LSTERR
{np JRTRN
RTRN
gnecgcsuxgcu REGISTER ROUTINE. CHECKS FOR tG TO ALLOW CHANGING
:LOCATIONS USED:
ROSW: .WORD O
15T x4
BNE ouT
CMP $SWREG, SWR - SOF TWARE SWITCH REGISTER PRESENT
BNE ouT :NO, GET OUT

SEC 0CSk




COUC-B MRCYLL 27(1006)
DZDUCC.Pil 10-JUL-74

23S 014780 105777
2966 014754 100033
297 014756 017767
Sggﬂ 14764 042767

9 Q14772 122767
2970 015000 001021

71 015002 1044
2372 QIS0 Dooi3
-3 015012 104402
2974 015016 104411
2375 Q5022 104403
2976 015006 104405
2977 015030
2978 015032 177777
2379 015034 000176
2380 01503 _ 00O
2381 QIG040 104402
2432 015044 005037
2383 015050 000002
2384 015052 0G00I
2385 DISOSY 006
2386 015056 000176
2387 015060 00S01S
2938 QISQES 015
2989 015072 020075
2930 015078 04D
2991 015102 020075
2392 015106
2933 015106 0DS0IS
2994 018114 020061
29% 015122 026503
29% 015130 [M2520
2937 01513 D000I2
2398 (015140 00S0IS
2393 01514 0S1117
o e fe
00 Bi8i%s Bizeda
2003 015176 020072
3004 OlS2M 0S3il)
3005 018212 7117
3006 015220 051040
3007 015226 D454
3008 015934 0SII0M
3003 Qiscke 000
3010 01524 015
3011 015250 DS444D
2012 015256 047125
3013 0IS264 Q46440
XY QlEe7e Guela
3015 01 044526
316 015306 020077
3017 015314 020122
018 QiB3ee goenis
3019 015330 042040
3020 01533 03510S

FO5

1-0CT-76  09:28 PARGE &C

00:00
164130
164124

6??600
€0007

TSTB @TKCSR
BPL ouT
MOV JTKDBR, .MSG
BIC 8177600, . MSG
CMPB &7, .MSG

: ES, WAIT FOR
‘READY, GET CHARACTER
:AND STRIP OFF

' THE GARBAGE

(IS IT A (i

015062
014730
015085
015052
015075

001 .BYTE
730 ouT:

SWREGC:

002 .BYTE

Q43S3t 000 SCNTG:
051412 0S1i27 SMSWR:

00d
047040 0S350S5 SMNEKW:

000
-EVEN

042012 030525 MTITLE:

042526 052103 MVECTO:
O40440

8&1 124 MREGRD:

040412 042522 MMULT:

040514 052123 MLASTO:
042522 (042503

.CNTLU:

BNE out
TYPE, $CNTG
COM J¥RDSW
TYPE, SMSWR
CNVRY, SWREGC
INSTR, SMNEW
Sqann
177777
SWREG

0,1l
TYPE,MCRLF
CLR JSROSW
RTI
b2
SUREG
LASCIZ (15X (12> /4G/
JRSCIZ <15>¢12>/SWR= /

.RSCIZ / NEUW= /

.RSCIZ «1Sx<12>¢12>/DUll DZBUC-B TAPE C /<151

.RSCIZ «15)¢12>/VECTOR ADDRESS-/

LASCIZ «15><12>/]1ST DEVICE: RECEIVER CONTROL REGISTER RDDRESS-/

.RSCIZ <15)<12>/RRE YOU RUNNING MULTIPLE DEVICES ? (Y OR N)-/

-ASCIZ «15)¢<12>/LAST DEVICE:RECEIVER CONTROL REGISTER RDDRESS~/

SEG 0057




r—

[ 2 Dbt -~

vebJbL ™

L20UCC

e

oo
RRR
=S

ERESERA A AAAN

228 2RE azg R
%5@&5@55%55 emggﬁg
78 §§

eREsT g 8

ks
22

Dﬁ?ﬂ?ﬂ

R
—
-0

051105
0Slled

i
042504

03018

053517
047127
020077

352 28222
SReBecRe

:

% PRZR
S
3y Rugn

@
—
o
—
(4 V]

22
2

KR

041440
046117

el

044526

DEVICE: .
MCCU:

MRRANGE :

MQM:
CRLF: .
MPFRIL: .

MEPRSS:

MR:
MTSTPC:
MLOCK:

MLEVEL:

MSYNC:

p??CY11183§68994 OagagCT-?E 09{28 PRGE &l

RSCIZ

.ASCIZ

.RSCIZ

.RSCIZ

.RSCIZ
.RSC1Z

.ASCIZ

.RSCIZ

.ASCIZ

GOS

/=DEVICE ~
<15)¢12>/HOW NOW BROWN COW? ...SELECT SOMETHING TO RUN ACTREG/

<15>¢12>/0UT OF RANGE:RETYPE LAST DEVICE RXCSR ADDRESS-/

/Y
<1SX<1a>
7 POWER FRILURE, PROGRAM RESTART AT TEST IN PROGRESS/

(15)¢12>/END OF PRSS TAPE C/

(1S <¢12>/R/
1S 12>/TEST PC-/

(15>¢12>/L0CK ON SELECTED TEST? (Y OR N)-/

«(15)¢12>/0U PRIORITY LEVEL-/

(15><12>78 OF SYNC CHARS SELECTED ( 1 OR 2)-~

SEC 008
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CCDUC-B MACYLL 27(1006)
0Z0UCC.PLL 10-JUL-74

3077 016024 0QS1440

3078 016C32 094103
3079 016040 Q42523
3030 Oiscde Q4el0s
3081 016054 40
3082 016062 0000SS
3083 016064 005015
3084 016072 041505
3085 016100 020124
308 016106 051105
3087 016114 047111
2088 016122 047440
3089 0lei3g 0000SH
3090 016i32 00SC1
3091 Di6140 041505
3092 Ol6I46 O4SOM4D
3093 016ISY 020122
3099 016162 037516
3095 DI1B170 051117
30% 016176 000
3097 016177 0I5
3038 016204 0SD117
3099 016212 020122
3100 016220 OM2SIM
3101 015226 (042520
3102 016234 044440
3103 016242 020131
3104 Di62S0 026Y45]
3105 016253 015
3106 016260

3197 016266 047125
3108 016274 Q44440
3109 Cio302 Q87111
3110 016310 04250M
3111 016316 051105
3112 01€34 005015
3113 016332 027040
214 016340 042040
311S 016346 020125
3116 016354

3117 016362 052130
3118 016370 020114
3119 016376 020115
3120 01604 051523
3121 016406 005015
3122 O16414 04
3123 016422 047116
3124 016430 0201
3126 016436 DS44S0
3126 Olew# 024516
3197

3128

3129

3130 _

3131 016450 ‘000040
3132 016510 000040

31-0CT-76 09:28 PAGE 62

00:00

047131
051101
O4cSiM
024040
020.22

0S5:iS11
0S4040

052512
021440
020077
020122
051511
051040
046525
032443
024040
047040
044412
020124
047108
Q4S040
020122
037516

~

1

[ Y

1

2 &
2,

?
=
SES3 Sty

2 RPRIRRIZERR
A RASIPRVOSE
AT

§U’1-€
#re R

22
:

047440

a
o
O
un
U

020103
020123
052103
030440
024462

051440
Q44515
0s011S
020066
054450
024516

0S1440
041505
042520
044440
020131
026451

020123
046103
41101
046525
032043
024040
047040

Q425ee
051040
043516

MWIREG:

MWIRES:

MWIREY:

MEXTJ:

.EVEN

INBUF :
TEMP:

-RSCIZ

.R5CI2

.RSCIZ

.RSCII

.ASCII

.RSCIZ

HOS

<1S>«12>/1S SEC XMIT JUMPER #6 IN? (Y OR N)-/

(15>¢12>/1S SEC REC JUMPER 85 IN? (Y OR N)-/

<15><12>7]S OPT CLR ENABLE JUMPER s4 IN? (Y OR N)-s

C1S><12>/ARE YOU RUNNING IN MAINT MODE EXTERNAL?/

AS12X<H/AND ..... DO YOU HAVE THE EXTERNAL MODEM BYPRSS/

¢15>¢12>¢1>/JUMPER CONNECTOR ON ?(Y OR N)-/

; BUFFERS FOR INPUT-OUTPUT

.BLKB
.BLKB

40
40

SEQ 00S9




0Z0UCC.P11 10-JUL-74 00:03
3133 016580 00004C

§13H
l
l
iz
31 016610 306367 00O0Q4M
4% pel B o
1l pee B gy
3143 016630 006367 000024
3i44 016634 016767 000020 0C0020
3I45 016b42 162767 000001 000012
3146 016650 042767 000037 000004
3147 Q16656 000207
3148 016660 000240
3149 0Olebb2 000200
3150
0l6E64 016767 000126 000422
0leb72 005267 000120
0i6676 016767 000114 000412
016704 005267 000106
016710 016767 000102 000402
016716 016767 000074 000400
016724 005267 000066
016730 016767 000062 000364
016736 016767 0000SY 000362
| 016744 005267 000046
: 016750 016767 000042 000352
| 016756 00S267 00CO3Y

016762 01676; 000030 (C00342

gi ;;E 8?2;27 nggfs 00C332

017GU2 005¢67 000010

017006 Q16767 000004 000322
017014 000207

0 008000

7020 042777 040000 000302

70%& 162072
17054 0S6777 162066 000246
017062 042777 020000 000240
017070 052777 020000 000232

(NININININININININIATNTNININTINIATNTE NN AN [FNIOVI N [NV TN TN [ NIRRT NN N

IS I NS R R N ISATA A At R Aol B

— ———a—— -

017106 016767 162032 162032

I05

OcOUC-B MACYLL 27(1006) 3}-03T-76 09:28 PARGE &3

MDARTR: .BLKB 40
PREREREERRECRAFRRRRERRRRRRRAERRERFRERERRERXERFREERERLRRERES RS

s UT
;i!iiiili!i!*iiil§!i!li!!l§!iil!il!ilill!!i**l!!i!iiiiiiiii!!

- THIS UTILITY CALCULATES PRIORITY LEVEL
DULEV: £§L bung ;SHIPT LEF#
ASL DUPRT
ASL UPRT ;
s UPRT !
ASL DUPRT
MOV DUPRT, LE4S! :MOVE THIS TO LESS!
SUB 8], LESS] :CREATE LESSI
BIC 387,Lsssx :CLEAR TNZVC

DUPRT: LEVELS
LESSI: LEVELY ;LEVEL TO ALLOW INTERRUPTS

-NEW DU ADDRESSES
DURDDR: MOV DUBASE , RXCSR s XXX0
INC DUBASE
MOV DUBASE ,HRXCSR 3 XXX1
INC DUBRASE
MOV DUBASE,RXDBUF  ; XXX2
MOV DUBASE,PARCSR  ; XXX2
INC DUBASE
MOV DUBASE , HRXDBUF 3 XXX3
MOV DUBASE , HPARCSR  ; XXX3

INC DUBASE

MOV DUBASE, TXCSR 3 XXXM
INC DUBASE

MOV DUBASE,HTXCSR  ; XXX5
INC DUBRSE

MOV DUBASE, TXDBUF  ; XXXB
INC DUBASE

MOV DUBASE ,HTXDBUF  ; XXX7?
RTS PC

DUBASE: O

s THIS UTILITY POKES THE MAINT DATA BASED UPON THE
: INFORMATION CONTARINED IN TEMP1 AND IT IS
:SHIFTED IN BY THE CONTENTS OF SHIFT

RPOKE : EIC gn;gnrn,arxcsn

EMP2
ROR TEMPL  ;FORCE CARRY
ROR TEMP2 ;PICK UP CARRY IN BIT 15
ASR TEMP2  :SHIFT INTO BIT 14
B $BIT1S TEMP2  ;CLR BIT 15
BIS TEMP2,TXCSR  :POKE MARINT DARTA
BIC #CLK, 9TXCSR :POKE CLK
BIS $CLK JTXCSR :
DEC SHIFY
N RPOKE

PC
+ THIS ROUTINE CALCULATES ODD PARITY FOR AN 8 BIT CHAR
opp8: MOV TEMPL, TEMP2 SAVE TEMPI

SEQ 00e0




r~

C<0UC-B MRCYLL 27(1006)

DZ0UCC.P1L 10-JUL-74
l 171 0
48 Bisida 8len
3191 017124
3132 017126 00606?
3193 017132 0CS567
3194 017136 005367
3135 017142 001371
3196 017144 006067
3197 017150 103404
3.38 01?128 052767
3i99 0171 000403
%gg? 017162 042767
3cC2 017170 000207
3233
3204

3205 017172 01£767
06 7 005067

3207 017204 012727

3208 017210 000000

09 017212 006067

17216 005567
00S36

HERRRERIRIY
LOONC N LWhue—O
o
S 553
&
7
o
~

"
Ly
.
g

3222
3523 017262 000002

3225 017264 017350
3226 017266 000000
3227 017270 0C0000
3228 017272 017364
3229 017274 017535
3230 017276 017556
3231 017300 017426
323¢ 017302 017535
3233 017304 017556
3234 017306 017470

3235 017310 017535
323 017312 017556
3237

3938 017314 160040
3¢39 017316 160041
3240 017320 160042

3244 017330 160044

JO5

31-0CT-76 09:28 PRGE b4

00:00
658838 CLR TEMP3
MOV #B.,(PC)+
4$: 0
162014 18: ROR TEMP2
162012 ADC TEMP3
177782 DEC 4§
BNE 1§
162000 ggg 5§”P3
000400 16174 g?s ggxra TEMP1 :SET 0DD PARITY
000400 161754 23: BIC $BITS. TEMPI -CLR EVEN PARITY
- TEMP1 NOW Hﬂs 0DD PARITY CHARRACTER
33: RTS PC
- THIS ROUTINE CQLCULQTFS EVEN PARITY FOR nn 8 BIT CHARRCTER
161746 161746 EVENS: MOV TEMP1, TEMP2 -SAVE TEMP1
161744 CLR TEHP3
000010 . gov 8., (PC)+
161730 18: ROR TEMP2
161726 ADC TEMP3
177762 DEC 4§
BNE 18
161714 ROR TEMP3
BCC 2%
0OO400 161700 355 ggzra ,TEMPL :SET EVEN PRRITY
000400 161670 28: BIC $BITS. TEMPI -CLR 0DD PARITY
-TEMP1 NOW HRS EVEN PARIYY CHARACTER
3s: RTS PC
000032 TRPREG: ADD 82,(SP) ;ALLOW IT TO “CRUNCH™ INTO HLT SACK

:IN MAIN PART OF THE PROGRAM

RTI
-ERROR HLT TABLE
.ERRTAB: Er0 ;HLT O BIT ERROR (GENERAL)

0
£M] :HLT 1| REGISTER ERROR
DH1
DT}
EM2 ;HLT 2 RECEIVER ERROR
o
EN3 ;HLT 3 TRANSMITTER ERROR

DT}
.DEFAULT DU ADDRESSES
RXCSR: 160040
HRXCSR: 160041
nxoausF 160042
PnncsaR 160042

TXCSR: 160044

160043
160C43

SEQ 0061




C20UC-8 MRIYLL 27(1006)
C<0UCC.Pll

3245 017332
J24b Q17334
3247 017336

017240
017342
017344
017346

017350
017356
017364

160045
160046
160047

000770
000772
000774
000776

036440
051117

017556 000003
006
001164
006
001156
006
001160
000001

017572

31-0CT-76 09:28 PAGE 65

10-JuL-74 00:03

HTXCSR: 160045
TXDBUF: 160046

KOS

SEQ 00e2

160047
;DEFRULT DU VECTCRS

sREC INTR VECTOR
*REC INTR STATUS
:XMIT INTR VECTOR
:XMIT INTR STATUS

:ERROR MESSAGES

/ = ERROR PC/

/ = REGISTER ERROR PC/<1S><12><1>/REGISTER /

/ = RECEIVER ERROR PC/<15>¢12>¢1>/REGISTER /

/ = TRANSMITTER ERROR PC/<15><12>¢<1>/REGISTER 7

;DATA_HEADERS FOR ERROR MESSAGES

HTXDBUF :
DURIV: 270
DURIS: 772
DUTIV: 774
DUTIS: 778
O42440 051122 EMO: "ASCIZ
050040 000103
0S1040 043505 EMI: .ASCI2
Q42524 020122
047522 020]22
00501S 051001
051511 042524
000040
051040 041505 EM2: .ASCIZ
042526 020122
047532 020122
005015 0S1061
0S1511 042524
052040 040522 EM3: .ASCIZ
044515 052124
042440 051122
050040 006503
042522 044597
051105 020040
050130 041505 DHI: ASCIZ
020104 Q40440
040525 000114
.EVEN
DT1
004 .BYTE
SAVR3
004 .BYTE
SAVRO
002 .BYTE
GAVR]
.END

/EXPECTED RCTURL/

éDRTR TABLES FOR ERROR MESSRGES

6,4
éhsclsrsn
éégpscrso DATA
-ACTUAL DRTA




——

. ae e ——

LOS

DLDUC-B MRCYL! 27(1006) J1-0CT-76 09:28 PAGE &7

DZDUCC.PI1  10-JUL-74 00:00 CROSS REFERENCE TABLE -- USER SYMBOLS SEG 0063

RRA__ 002046 9544

ACTREG 001216 7728 902% 916k 917%  924% 2530 2533 2543

ADRCNT= 013677 2695F 2739 27438

BASEAD 001204 7678  S84¥ 920 922  928%  930% 2537% 2549% 2553

BASEIV 001212 77208  B94¢ 2538% 2650 2565  255E% 2557 o558 9559 2560 2561 252k

BSB 001664 901 _905#

BINWRD 014214 2784x 2785 28228

BITW = 002000 682%

BIT0 = 00000I 6308 658 689

BITl = 000002 B298 657

BITIO = 002000 B0t €48 682 1555 1600

BIT11 = 004000 6I98  EW7

BIT12 = 010000 I B4 663

BIT13 = 020000 Bi7¢ B4  EBB2 6Bl

BITI4 = 040000 Bl BY4 BBl 680

BITIS = 100000 ISk 643 660 679 3180

BIT2™ = 00OGOY 6B b5 997

BIT3 = 000010 o7  B55 688

BITY = 000020 bk 654 687

BITS = 000040 625 653  BBb

BITe = 000100 o4t 652 b3S

BIT7? = 000200 623 B51  GEY

BITB = 0ODHO0 g2t 650 BB 683 3198 3200 3215 3217

BITQ = 001000 62l 643  BES

BREAK = 030001 6898 1040 1080 1120 1160 1193 1242 1285 1328 1368 1411 1454 1497
1536 1581  1b26 1665 1705 1742 1779 1816 1853 1887 1921 1955 1989
2026 2063 2100 2147 22949 2344 244

BRM 013230 934 1008 26238

BRX 013932 995 1009 26248

CARDET= 016003 EU4B

CCC Dle76d 2529 2552 25694

CHRCNT  D142]2 2782% 2786  £B00% 28208 282l

CKSWR = 104413 Bl4¢ 2582 obJ4  obe8  e8s7 2900

CLK = 020000 6818 I040 104  [047 {043 [0SO 1080 1086 1087 1089 1090 1120 1126
1127 1129 1130 1160 11e6 1167 1189 1170 1199 1205 120p 1208 1209
1242 1248 1249 1251 1252 1285 1291 1292 129% 1235 1328 13 1335
1337 1338 1368 1374 1375 1377 1378 1411 1417 14908 1420 1421 1959
1460 1461  I463 146N 1497 1503 1504 1506 1507 1536 1542 1543 ISHS
146 1581 1587 1588 1590 1591  (e26 1632 1633  16BS 167l 1672 1705
1711 1712 1714 1718 1792 178 1749 1751 1752 1773 1785 1786 1788
1789 18l 1822 1823 1825 182 1853 1859 1860 1887 1893 1834 192l
1927 1928 1955 1961 1962 1989 1995 199 1998 1999 202 2032 2033
203 2036 2063 2069 2070 2072 2073 2100 2006 2107 2103  8iif 2147
2155  2ISh 2158 @153  @Pp44  PP5e  PP53 255 2256 2394 @352 8353 2355
2356 o444 o482 2453 Q4SS 2456  3iB2 3183

CNTLU = 104414 Bles 86l

CNVRT = 104411 8108 2974

CONVRT= 104410 B0S# 2526 2880 2891 2943

COUNT 001142 7438 [717%  I725% [754% 17b2%  1791¥ 1799%  1828%  1836¥  1862%  1870%  1896%  1904*

1930%  1938%  ]964* 1972% 2001 2009% 2038% 2046% 2075% 2083x 2112% 2120% 2152%
clpBs 2180% 2196 2198 2200 2o49%  22bS*  2277% 2296 2298 2300 2349%  2365¥
2377% 23%% 2398 2400 oH4SE  246Sk  2477%  249b% 2498 2500

C1S = 020000 EHSH
DRTABP 014466 2875+ 2878 2863 28924
DATRHD 014454 c2874% 2885 28884

DEVAROR (013674 ce93% 2731 27418




MOS

C<0UC-B MRCYL! 27(1036) 3J1-00T-T6 03:28 PAGE 68

DZDUCC.P11 10-JUL-74 00:00 CROSS REFERENCE TARBLE -- USER SYMBOLS SEQ 0O0e4

CEVICE Q15403 2527 30274

DH| 017535 3229 3232 3235 32764

DISPRE 003174 7108 854

DLIGHT= 177570 600s 84S

ONR_ = 100C00 6794

DNRINT= 000040 6864

0SC = 100000 B43s

DSINTE= 000CH40 6538

DSR = 001000 6498

DSWR = 177570 5998 844

DTR = 000002 657%

OTl 017556 3230 3233 3236 3261#

DURDDR 016664 883 2554 31524 B

DUBASE 017016 879 862 g553% 3152 3153%  JiS4 3165% 3156 3157 3158% 3159 3160 3161#
3162 3163x 3164 3165% 3166 3.67% 3168 31704 ~

DULEV 016610 43 31398 _

DUPRT 016660 946 3139%  3140% 314l*¥  3I42%  3JI43% 3144 3148s

DURIS 017342 2557%  3250#

DURIV 017340 830 893 84 2555% 2562 3e49s

DUTIS 017346 2561%  3252#

DUTIV  D173%4 2559%  3251s

EIGHT = 006000 b74¢ 1183 1331 1500 1539 1584 1629 1668 1819 1958 2103 2150

EMO 0172330 3225 32544

EM] 017364 3228 32564

EM2 017426 3231 32624

EM3 017470 3234 32684

ERRCNT 001132 7364 B3S* 2901#

ERRFLG 001224 7828 B34* 2571% 2bl7%# 2863% 2876 cBg8e* 2947*

ERRMSG 014442 2873% 28B4s

ERTRBO 014560 2881 29104

EVENB 017172 1852 1639 3205¢%

EVEPAR= 001400 677% 1202 145 1288 1331 1539 1629 2150 ceN7 2347 2447

EVPAR = DOO400 bbb#

EXITER 014512 2895 2900s

FIVE = 000000 6718 1043 1202 1371 17C8 1856 1992 44?7 _

FRMERR= 020000 bb2s  10S6 1096 1136 1176 2208 22ll 2214 2308 2311 2314 2408 c4ll
c4ly 2508 2511 2514

HALTS 014472 2859 28344

HDXEN = 000010 6884

HILIM 013672 26%2% 2722 27404

HOLD 001136 7418

HPARCS 017326 3160% 32438

HRXCSR 017316 J154#% 32398

HRXDBU 017322 3159%  3241s

HTXCSR 017332 3164 32454

HTXDBU 017336 3168%  3247%

ICOUNT 001122 7328 2blS cb19#

INBUF 016450 957 961 2656 2698 2830 2834 31318

INIFLG 001222 7808 840 B43%

INSTER= 104404 g00s 965 2717 2833

INSTR = 104403 lg?gl Eg;g 88s 895 306 931 941 855 968 972 976 980 999

INST@2 (013456 2667 cbB2s

1STM00= 000000 670¢ 1036 1043 1076 1083 1116 1123 1156 1163 1195 1202 1238 1845
1281 1288 1324 1331 1364 1371 1407 1414 1450 1457 1493 1500 1532
1539 1577 1584 1701 1708 1738 1745 1775 1782 1812 1819 2143 2150




C<CUC-B MACYLL 27(1006) J1-037-76 09:28 PAGE 69
DZBUCC.PLI 10-JUL-74 00:03 CROSS REFERENCE TRBLE -- USER SYMBOLS SEC OCES

2240 2a47 2340 347 e440 447
JMR8Y 001203 7’638 983

KEEPAD 001206 7688 B82* 884 928 930 2549
KEEPIV 001214 7718 833+ 2550 )
LASTAD 001210 7898 911 932 93
LESS]  01b&62 3149 3145  3046* 3149w
LEVELO= 000000 6408 %
LEVELI= 000CYD 6398
LEvEL2= 000100 6338
LEVEL3= D0014C 6378
LEVEL4= 000200 6368 3149
LEVELS= 000240 6354 3148
LEVELG= 003300 B34
LEVEL7= 000340 6334
LIGHTS 001102 7218 BYS*  BS4x  2573#
LIMITS 013620 2708 27228
LOBITS 013676 2694* 2726 27428 2743
LOCK ~ 0801120 7318 2631
LOGICA 013016 25774 .
LOKFLG 001225 7838 10027 1003
LOLIN 013670 2691% 2724 2733 -
LPCNT 001124 733 B3l* gBl4* 2615 2618
LSTERR 001134 7378 B83b® 2570% o860 o8k 234B#
MCOM_ 015415 2532 30298
MCRLF 015572 2hed 2680 2772 2981 30498
MDATA 016550 2798 2803 3133
MEPASS 015662 2525 30598
MEXT = 010000 £330
. MEXTJ ~ 016253 981 31058 .
MINT = 004000 e32s 1040 1080 1120 © 1160 1199 1242 1285 1328 1368 1411 1454 1497
1€36 1581 1626 1665 1763 1742 1773 1816 1853 1887 1921 1985 1989
2026 2063 2100 2147 2294  2M4 24w
MLASTD 015322 907 30188
MLEVEL 015771 942 30728
MLOCK 015726 1000  3086%
MSULT 015243 836 30108
MPFAIL 015575 2946 30508
015566 2677  3048a
MR 015707 1022 3063w
MRANGE 015505 932 3039
GAD 015162 875  3001s
MRESET= 000400 e83s 1035 1937 1075 1077 1§ 1117 1155 1157 1194 1196 1237 1239
1280 1282 1323 1325 1363 13k5 1406 1408 1449 1451 1492 1439 1531
15633 1576 1578  1g21  1B23 IR0  1e2 1700 1702 1737 1739 174 1776
1811 1813 1548 1850 1882 1889 1916 1918 1950 1952 1984 198 2021
l 2023 2058 2060 2035 2097 2142 2134 2239 2241 2333 23! 2439 244l
MSYNC 016016 956 30764
MTDATA= 040000 680s 1040 1083 1120 1160 1199 1242 1285 1328 1368 1411  INS4 1497
I 163 1581  1e2b  1e6S 1705 1242 1779 1816 1853 1887 1921 1955 1989
| 2026 2063 2100 2147 2249 2344 294 3175
MTITLE 015106 g42 2993
MTSTPC 015713 1013 3064
MULTD 0DI202 7624 898 8939 991 2528
MVECTO 015140 886 29984
MJIREY 016177 977 30974
MWIRES 016132 973 3090%

l




BO6

CDWUC=B MRCYLIL 2701026 J1-02T-T6 09:23 PRIE O

C<UCC Pl 10-TL-74 00:00 CROSS REFERENCE TRBLE -~ USER SYMBOLS

“wIREh [0l6J6M %G 30838

NEXT 001116 7308 1034#  (074#  Jlld4#  ]1164# 1]193% 123c%
1830«  1576# 1620  16S9% 1693  1736# 17734
cl20s 20S°# 20%e  2]4]s  2238¢ 213B¢  243iB#

NOPRR = 000000 £758  ]10M3 1383 1123 1183 1708 1745
1892 2029 2066 2103

JCOPARR= 091000 6768 1371 1414 1457 1500 1584 1¢£€8

0008 0.7106 1597 1678 3188s

oNeE 0C1362 841 gYus

PTCLR 001201 76ls 979

LT 015044 2962 2964 2966 2970 29628

JUTCRY (0127%6 2526 2568

QUTMIL 002l 04 S29 9408

QVRRUN= 040000 6bla 2208 308 c408 2508

PRRAM = 104M40S 8028 876 887 908 Q33 M3 1014

PARAMI D135 26978 2718

PRRCSR D0173cw 1036  10N3%  1076%  J083%  llib®  1123%  11S6#
12888 1324¢  1331# 1364w 1371#  1407# 1414#
1577% 15B4»  ]b2e® 1629%  JEBl®  1668¢ - |701#
18198 1849+ 18SE# 1283% 183C#  1917#  |SQ24ys
gg&g: 206kt cC3%® 2103% 2143# 2150% 2240+

PRREN = 001020 6658

PARER = 01000C 6638 121t 1264 1297 1340 1380 1423
2308 2314 2378 2408 2414 2478 2603

PRPERR 013630 €700 2702 270N 27138  e7el e7es e’e?

PARTI 013662 2716 27368

PRSONT 001130 73Ss 833¢ 2572% 2573

PFTRB 014722 2944 29508

PCPRO = 012600 6038 2899

POP1SP= D0S726 £07s

FIF2SP= 022606 blls )

PS = 17777¢ 601s 828+ S87# S8l 2928

PUSHRO= 01004¢ 6088 289%

PUSH!IS= D0S746 6068

PUSHES= (24646 6108 R

ROSH 014730 2678 2’158 29588 2972¢  2SR2+#

RECACT= 004000 478

REPLAY (lcobke 2S4S 2551 25538

RESREG 014470 2890 28938

RESTAR (Clu4bM 2SN 29308

RESTRT 013Ce6 2546 2578 258ls

RESOS = 104407 8068

RING = 040000 b4

RINTEN= 000100 £528

ROTAOC 001220 7758 903+ 9.5# 917 9]9# 924 27%

RPOKE 017020 1054 1094 1134 1174 1214 1257 1300
1602 164} 1680 1720 1757 1794 1831
2078 2118 2163 2184 2208 2260 2281
2505 31758 318S

FTRN 001114 agggl 838+ 1017 1021 1023 cSR3¢  2600%

RTS = 000004 bSEs

RUNA = ssasssd | i 33 45 108 B46

RINE = #easss | | a3 45 108 S46

RINC = ssesres 1 33 Y45 108 546

2976

1163
1450
1708#
195]»
2247 #

1466
2514

2S40#

1865
2305

2631

1322+
1847%
k20
1819

1195
1457#%
1738+
1958+
2340+

1509

2543
1583

2360
cb20#

1202%
1493+
1745¢
1985#
2347#

2181

2547 %
1426
1933
c381

2621

145S+
1915¢#

1830

1238#
1500+
1775+
1992#*
c440#

208

1469
1967
2405

2906#%

144e+
194G+

194

1512
2004
2460

2308

SEC 00eb
1491 #
1983+¢
1958

1281#
183¢+#
1812+

029#
3157%

2278

1557
2041
248l

2943




DoOUC-B MRCYLL 271 1006)
00JCC.P1L

RUND = #endn |
RINE = ssesss U
RUNF = sadede
RUNIT 012566
RXCSR Q17214
RCBUF 017320
FXDONE= 000200
RXERR = 10000C
SAavPC 00117
SAVRO DO11S6
SAVR]1 D01160
gg:sg 001162
001164
. SAVRY 001166
SAVRS 001170
SRVSP 001172
SAVDS = 108406
SCOPE = 10w4DL
! SCOPL = 104401
SENC = 000020
SEREC 001200
SETFLG= 1DM412
 SE = 004000
SEXMIT 001177
SHIFT 001140
CIx =
SPRCNT= 014213
SRO =
STRCK = 001100
cT = 000010
STFLG 001223
STPSYN= 000400
SvosS 013706
SR 001100
SEGC 000176
SWREGC 0150Se
S40C 000001

J1=°T-"5 09:28 PRGE 7]
CROSE REFERENCE TRBLE -- USER SYMEQLS

10-JuL-74 02:03

33

33

33
28378
1084+
j415#
1746%
1895+
c04e
eebl

1057
1339
1603
2386

1056
2208
esl]
e747%

45
45

970

1091+
1637
2ll4s
31B4#

280S#
988

1753

2357

849
2963
859

108
108
108

1144
2elb

974
1457

1131%
1676%
clbl*

1414
c82ls

2907
1790
a4s7
853+
2963

-—

Sub
S46
S46

1184
1727
2316

978
1782

1171 %
1719#%
clB3%

1745

2939

1827

859
2979

CO6

1218 1246%
1S0j# 1513

1780% 179§

1934 1959#
cl04s 2111l
23%! 2382

1137 1175

1422 18431

1681 215!

31Sb* 32408
1211 1254
2308 2311

1227 1270

1784 1801
416 2516

932 1001

1924 2066

12lex  1255#
17S6%  1793%
2203* 2258+
1890 2029

1861 1895

86e 997
2586

1258
1540%
1820#%
1963+
2llb
2450#

1177

i465
2l71

1297
2314

a4

1298#%
1830#
c280x

2347

1929

1010

1353
1872

1341
1864#
2303#%

1963

2605

P
(79 )
£
o

1381#%
1898#
2358#

2000

2bl2

1332%
16695
1857#%
2000#*
cigy
2482

1253

1517
2268

1424 *
1932%
2380+

2037

2629

1344
1709+
1661#

2185
2se7

1262

1547
2286

1466
cHl4

1482
1974

1467%
1966#
SH03%

2074

2858

SEQ 0067

2348

1509
478

1522
201l

1510%
2458%

alll

2834




1-0°T-76 09:28 PRGE 72
CROSS REFERENCE TABLE -- USER SYMBOLS

2oDUC-B MACYLL 2T 1006
CZDUCC.PLI 10-JuL-74 00:090
SUW0e = 00000
SWO3 = 00C010
SKON = (002020
SW0S = 0000NO
SKO& = 000100
S8 = 000400
SW09 = 001000
SKi0 = 002000
Skil = 004000
SWie = 01000C
SWi3 = 020000
SKi4 = 040000
SKI1S = 100000
SYNCNO DOC117%
SYNEXT= 020000
SYNINT= 030000
000020
SYcvST= 014000
TEMP C1e510
TEMP1  DOIIWM
i
| TEMP2 001146
TEMP3 001150
TEMPY  0O011Se
- TEMPS  0O011S4
| TKCSR 001104
 TKDBR 001106
TLAST = 012116
TPCSR 001110
TPOBR 0O0!}}e
' TRPOK 014276
TRPREG 017256
TSTNG 001126
TE11 002350
JSTID (OON3M
TETI1 OONS20
JST12  (OON704
7ST13 00S070
TSTi4 00S270
TST1S  00SN470
1S716  00SeH40
76717 006010
76718 006174
TSTLS DD6360
TST2 0025
TET20 006SH4
15721 006730

1€722 007100
TET23 007250

1033+
16744
205b#
10338

166!
elee
lled

21583

2940+
1132%
1596#

2002

2307#
eS10#
3179
3189¢#

2965

1073%
1619%
2093#%
c583

1e68
2029
116M

2250

294l
1172»
1599

2310#%
2513
3180#
3193+

2367

DO6

1192+
1735#
2337+

1883
2096
1289
1820

1299+
1677#%
clbo#

3198%
3192%
3210#

1235#
1772%
c437*

1278#%
1809+

132]1%
1846#%

1361#%
880

195!

SEQ OCes8

1958

1501
1993

1S11#%
1863#%
cclis
e453*

14478
1948#»




EOB

CcDUC-B MRCYLL 27.1006) J1-0CT-Y6 09:28 PRGE 73

DIDUCC.PIL 10-JUL-74 00:00 CRISS REFERENCE TRBLE -- USER SYMBOLS SEG 0063

1STe4 DC7420 191§ 19488

1STeS 007570 1949 19828

1STe6  DO7754 1983 c019¢

15127 010180 2020 c0S6s

1STe8 0102e4 20S?7 20938

1STeS 010510 2408

1S13 002700 1074 1113%

YST30 O0lille 24} cc378

TST31 011514 cc38 23378

7ST3e Dl2lle 2338 c4378 2518

TST33 = #sasrs 2438

TSTH 003054 1114 11538

T1STS 003230 1154 11928

TS76 003414 1193 12358

1ST7 003600 1236 12788

1S78 00376M 1279 13218

7579 004150 1322 13618

TTST 013132 Q¢4 * 99Sx |00S# J006#  1008¢ 1009% 26068

TXCSR 017330 1035+  1037%  1040%  10v6%  1047%  10M9%  10SO# 1075k 1077% 1080+ 10B6%# 1087% 1089+
1090  1115# 1117% 1l20% lleb® lle7#% 1129  [130% 115S% 11S7% 1160% 11bb% 1167#
1169%  1170%  1194%  11G96% 1199% 120S® 1206% ]208% 1209% [237% 1239%  ]1242#  12o48#
1249% 12S1% 12S2% 1280# l282% 1285  129l%  1292%  1294%  129S#  ]323% 132S% 1328#
1334# 133;* 1337#  1338% 1363% 136S# 1368% 374«  137S#  1377% 1378%  1406% lﬂggl
19118  1417%  [418%  J420% [N2]% WM 1451%  J4S4%  1460#  1461#  JME3®  14BY® 1492
14948 [497#  1S03%  1SOM#  1SO6#  1S07%  ]S31# 1533  1S36%  [SY2%  1543x  ]S4SE  |S4b#
1576% 1578# 1581  1S87% |S88%  1S90% ]159l# 162l® 1623% lbcwe  1632% 1633%  1660+#
1662  166S*#  1671% lb72% 1700% 1702% 170S%  1711% 171ex  1714%  171S% 1737% 1739
17492%  J748%  J749%  17SI%  1752% 1774& 1776% 1779% 178S% 1786% 1788 i789% [8l1x
1813# 18l6% 1Be2# 18235 1gag¢ 1gssi 1848  |BC0% 18S3%  }1859* 1860% 1882%  188u4#
18878 ]1893% 18  19]l6% 19]B®  I921®  1927% ]1G28%  19S0%  [952%  19GS#  [961¥  ]1962#%
1984x  1986# ]1989% 1995+ 1996# 19S98% ]999% 2021% 2023%# 2026% 2032% 2033% 203S#
c036% 20S8# 20638 2069 2070 20728 2073 2095%# 2097% 2100% 2106+ 2107
cl0Sx 2110% 2l42% 2l44% 2J47# 2]155% 21S6® 2168% 2159% 2239% 2241%  2244¥  2252#
2oS3%  22S55% 2oShb# 2339  2341E  234ME 23C2F  2353%  2355%  23SHh¥  2439%  2uYMIE  24NMs

S4o2k  2453% 4SSk 2456  3lbex  3175#  3iBl¥  3182% 3183%  324Ms

TXDBUF 017334 31p6 32468

TXDONE= 000200 6848

TXINTE= 000100 6858

TYPDRT QL4456 2879 288  288%

TYPE = 104402 798 842 1022 2524 2527 2532 2654 2664 2676 2680 2771 2808 2883
2887 2945  297] 2973 298l

TYPNSG Q14426 2877 268808

USER = (00000 6918

voID = 0000D) 6SEs

WRDCNT 014210 2781% 2810 28198

ZERO 012574 25388

SCNTG 015060 2371 2987

S€ = 000042 6628 1034  1035¢ 1074 10758 1114  I111Se 1154  11SS® 1193 11948 1236 12378
1279 12808 1322 13238 13e2  1363s 1405  I40es 1498  [443s 1891 14928 1530
1S31s 1575  157es 1620  lbols 1659  1e6Os 1699 17008 1736 17378 1773 1774
1810 1B1ls 147  1848s 1881 1882 1915 1916w 19499 1950 1983 1984 2020
20218 2057 20588 2094 20958 2141  2i42s 2238 2239 2338 2335 2438 2439

SMEW 015075 2975 29308

SMSWR 015085 2973 29888

SN = 00DOND Sc2s 1033  1035¢ 1073 10758 1113 111Ss 1153 11558 1192 11948 1235  1237%
1278 1280 1321 1323s 1361  13e3s 1409 1406 1447 14498 I490  1432s 1529




0c0UC-B MACYL! 27.1006)

——— e . —— ——

21-0°T-76  09:28 PRGE 74

DZDJUCC.P1L 10-JUL-74 00:00
18318 1574 15768 1619 16218
1809 18118 1846 18488 1880
sgfé: 2056 20c8s 2093 2095
sy = 000CIS 7848 792 7948 7568 798¢
8lts gl8s
. = 017574 696 6998 7098 7168 2992s
.BEGIN 002156 864 9874
CKSWR 014732 81S 2918
LCNTLU 01500¢ 817 29728
.CNVRT 013778 8ll 27738
.CCNVR 013772 809 27718
EOP 012520 2438 25248
ERKTR (017264 2872 32258
LT 014316 702 28578
JINSTE 013432 801 Yl ]
JINSTG DI3Y3B 2673 26768
JINSTR 013314 799 26508
JINST!L D1333M 26548 2665 2681
.MSG 01333 obSe% 26558 2967  2368%# 2968
PARAN 013464 803 26888
PFRIL D14566 700 830 29168 2937
.RESOS 013740 807 27618
.SAVOS 013700 80S 27478
.SCOPE 013050 793 2588
.SCOP1 01323 795 2b28s
| .SEES% 014216 Bl3 28298 2840
ST 001260 712 go8s 838 2536
TRPSR 014264 704 28468
.TRPTA (01226 7898 2851
.7 013254 797 26364

FO6

CROSS REFERENCE TRBLE -- USER SYMBOLS

1658 16608
18828 1914

eliy0 2l4cs
800s g02s
31318 3132s

SEQ 0070
1698 17008 1735 17378 1772 17748
19168 1948 13508 1982 19848 20.9
e237 22398 2337 23398 2437 2433
804s 80es 80es 810s 8lcs 8lys
31338

————— — -




WY

PRIEND
PRGFRT
| PUSSYF

RSETLP

$SYNCR

D;gu“-B MACYLL
DZOUCC.PLL

GO6

1550088 oBa8S T 0% Re ok ke Brence TrBLE -- mAcRO NMES

1083

1336
c3’4
eS1?

683

1498

1970
2384

1075
1700
2439

J)
o
a

1568

1728

1084
1783

3

ilﬂ
47
200
238

[ od o)
~Jr—
~un

972
930S

1613

1765

1124
1820

{47

cCY4
2463

b
~Jo--
~n
£

976
93!

1652

1168
1787

e4l?

1077
1406
170e
1984
244l

1802

1164
1993

1€3

2081
47y

980
940

1839

1203
2030

{€ET

2118
2484

1837
1848

999
1012

1873

1246
2087

(i

2166 el??
2489

128C 1323
1682 1316
1293 1336
1892 1926
1155 1157
1451 1492
1774 1776
2023 20s8
1807 1941
1289 1332
elod 2183

1376
1960

U e e
oo L£L—
o OO
O— L L

1975

1372
eas0

1988

2192

1419
1997

NJr—= p—s g
Ooue—
JSo— O
i —on

{8

1415
2350

9cf

X

1449
edel

1462
2034

1237
1833
184
209

2049

1458
e450

1505
207!

1239
1576
1850
2142

2086
150!

1S40

SEG 0071

tieh

2289

1576
eive

1589
el57

1282
1621
1884
2239

1585




- e o ———

C<OUC-B MACYLL 27¢(

020UCC.P11

$TRAPS o528
$TRPAR S5as
STRPDE SSas

1636) QJ1-0CT-76 09:28 PARGE 77

10-JUL-74 00:00

$TRPSR S52s 284l
$TSTNO 5ces 1033 1073

1698
2437

6528 1025 1065

1619 1
2237 2337
STYPE goes 2633
SUNIBU £oos
SVRRIA gS2s
SWORDF
SWCRDO £o2s

SKORDP g2 |

. RBS. 017574

ERRORS DETECTEC:

i85 1228

000

0
DEFRULT GLOBALS GENERATED: O

DZDUCC, DZDUCC/CRF /SOL=HELLO0.P11,PARR.P11,KEET.P11,D2DUCC. P11
RUN-TIME: 22 32 3 SECONDS
RUN-TIME RARTIO: 210/58=3.6

CORE USED: 18K

(35 PAGES)

798

1153
1772

1145
1314

800 802
1192 1235
1809 1846
1354 1397

HOB

CROSS REFERENCE TRBLE -- MACRO NAMES

804

1278
1880

1440

806

1321
1314

1483

808

1361
1948

810

1404
1982

812

1447
2c19

814

1430
2056

gis

1529
2093

SEQ 0072

1574
2140
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